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ABSTRACT

THE FUNCTION OF THE DZV1Y DIAGNOS/ICS IS TO VERIFY THE OPTION OPERATES
ACCORDING TO SPECIFICATIONS. THE DIAGNOSTICS ALSO VERIFY THAT THE DZV11
OPERATES IN ITS ENVIRONMENT SUCH AS THE SYSTEM IN WHICH IT IS INSTALLED.

PARAMETERS MAY BE SUPPLIED TO THE PROGRAM BY EITRER 'AUTO_ SIZING' OR
INPUT FROM THE USER ON THE CONSOLE BY HAVING SW00-1 AT START TIME. AUTO
SIZING WILL BE DONE ONLY THE FIRST TIME THE PROGRAM 1S STARTED AND
SW07=0 AND SW00=0 AND Sw03=0. THE AUTOSIZER IS DESIGNED TO DETECT
2V11 DEVICE ADDRESSES AMD VECTORS ONLY. ALL REMAINING PARAMETERS WILL
DEFAULT TO CERTAIN VALUES (SEE SEC.8.5). CONSOLE INPUT MAY BE CONTROLLED
AT ANY START TIME THROUGH THE USE OF SW00,SwW03, SW04, AND SW06 (SEE SEC.
4&.1.1 FOR A DETAILED DESCRIPTION OF THESE SWITCHES).

CURRENTLY TrncRE ARE THREE STANDALONE DIAGNOSTICS (CVDZA,CvDZB,AND (VDZ()

ONE SYSTEM MODULE FOR DEC X/11 (CXDZBA), AND AN OVERLAY FOR ITEP (CvDZC).

CVDZA TOGETHER WITH CVDZB WILL TEST ALL LOGICAL FUNCTIONS OF THE CZV11
INTERFACE MODULE.

CVDZC IS DESIGNED AS A NON=-CHAINABLE STANDALONE DIAGNOSTIC PROVIDING THE
OPERATOR WITH DIRECT CONTROL OVER THE TESTING OF ALL DZv11 EIA CABLES.
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« NOTE: THIS DiAGNOSTIC HAS BEEN MODIFIEN TO RUN IN KXT11 (SBC 11/21) «»
* BASED SYSTEMS. THE PROGRAM WILL AUTOMATICALLY ADJUST [TSELF TO RUN
* [N THE APPRZ 'RIATE ENVIRONMENT AS FOLLOWS: *
| %
* LSI=-11, 11,2, AND 11/23 SBC 11721 *
* 2 eecssscsssnscccccccscecsee 2 ecscececes .
* (SR RANGE: 160010 TO 163770 174000 10 177770 *
* VECTOR RANGE: 300 10 770 300 10 370 v
* AUTO-SIZING FOR... *
* _..CSR AND VECTOR: ENABLED DISABLED GPA *
* .. ®
ttti*tttt'tttttﬁﬁt"*'ﬁ.'*tQﬁt.*ttttlttttttttitt'ttttti*ttttiitt;;tttﬁtt
REQUIREMENTS

EQUIPMENT

AN LSI11 CPU WITH MINIMUM 4K GF MEMORY.

ASR 33 (OR EQUIVALENT FOR CONSOLE)

DZV11 INTERFACE MODL_E

H329 STAGGERED TURNAROUND CONNECTOR.
H325 CABLE TURNAROUND CONNECTOR.

NOTE: A STAGGERED TURNAROUND CONNECTOR IS NEEDED IN ORDER TO TEST THE
PARITY LOGIC.
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STORAGE

PROGRAM WILL USE ALL 4K OF MEMORY EXCEPT WHERE ABL AND BOOTSTRAP LOADER
RESIDF. LOCATION 1500 THRU 1740 ARE ESPECIALLY TO BE NOTED AND TO BE
UNTOUCHED BY OPERATOR AFTER PARAMETERS HAVE BEEN INPUT FROM (ONSOLE
(SW00=1); GR AFTER THE 'AUTO SIZING' HAS BEEN DONE. THESE LOCATIONS
MAY BE CMANGED IF THE USER UNDERSTANDS THEIR MEANING AND DIFFERENT
PARAME TERS ARE REQUIRED.

LOADING PROCEEDURE
ME THOD

ALL PROGRAMS ARE IN ABSOLUTE FORMAT AND ARE LOADED USING THE ABSOLUTE
LOADER. NOTE: IF  THE DIAGNOSTICS ARE ON A MEDJA SUCH AS DISK
LMAGTAPE ,DECTAPE, OR CASSETTE;  FOLLOW INSTRUCTIONS FOR THE MONITOR
WHICH HAS BEEN PROVIDED ON THAT SPECIFIC MEDIA.

ABSOL!'TE LOADER STARTING ADDRESS *500
MEMORY « SIZF

4K

8K

12K
16K
20K
24K
28K

— b ek N ) L
N = NNN N

NNN

STARTING 1HE PROCESSOR AT THE ABSOLUTE LOADER STARTING ADDRESS WILL LOAD
THE DIAGNOSTIC INTO MEMORY.
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STARTING PROCEEDURE

A. SET SWR TO ZERO FOR "AUTO SIZING' OR SET SW00=1 FOR USER PARAMETER

INPUT FROM CONSOLE TERMINAL. NOTE: LOC. 000176 IS USED AS A SOF TWARE
SWITCH REGISTER IN ALL OF THE D2V11 DIAGNOSTICS. (SEE SEC. 4.1 )
ON THE FIRST STARTUP OF THE DJAGNOSTIC IF SW07=1 AND Sw00=0 THE
PROGRAM WILL ASSUME THAT THE STATUS TABLE HAS BEEN ALREADY BUILT
FROM A PREVIOUS DZV11 DIAGNOSTIC RUN. NOTE: ANY DZV11 DIAGNOSTIC
WILL OVERLAY THE STATUS TABLE WHEN LOADED TO PRESERVF ITS CONTENTS
AND THUS WILL NOT ALTER A PREVIOUSLY BUILT TABLE.

B. START THE DIAGNOSTIC AT LOC. 200(8). THE PROGRAM WILL TYPE MAINDEC
AND PROGRAM NAMES (IF THIS WAS THE FIRST START UP CF THE PROGRAM)
Gggf ehigGggg FOLLOWING: (ON THE FIRST PROGRAM RUN Ok IF PARAMETERS

*MAP OF D2V11 STA.US®
1500 160100
1502 000300
1504 000017
1506 017470
1510 000000

THE ABOVE IS ONLY AN EXAMPLE! THIS WOULD INDICATE THE STATUS TABLE
STARTING AT ADD. 1500 IN THE PROGRAM. THE STATUS TABLE MUST BE
VERIFIED BY THE USER IF AUTO SIZING IS DONE. FOR INFORMATION OF STATUS
TABLE SEE SECTION 8.4 fOR HELP.

THE PROGRAM WILL TYPE 'RUNNING'' AND PROCEED TO RUN THE C!AGNOSTIC.
CONTROL SWITCH SETTINGS
NOTE: THIS PROGRAM UTILIZES A SOFTWARE SWITCH REGISTER WHICH MAY BE

MODIFIED BY CHANGING LOC. 176 OR BY TYPING CONTROL ''G"' (“G) ON
THE CONSOLE TERMINAL WHILE THE PROGRAM IS RUNNING.

SW 15 SET: HALT ON ERROR

SW 14 SET: LOOP ON CURRENT TEST

SW 13  SET: INHIBIT ERROR PRINT OUT

SW 12 SET: INHIBIT wxALL*+* TYPE QUT/BELL ON ERROR.

SW 11 SET: INHIBIT ITERATIONS. (QUICK PASS)

SW 10 SET: ESCAPE TO NEXT TEST

SW 09 SET: LOOP WITH CURRENT DATA

SW 08 SET: CATCH ERROR AND LOOP ON IT

SWw 07 SET: NO AUTO SIZE. IF 1ST START OF PROGRAM AFTER LOADING AND
[F SW00=0 THEN THE PROGRAM WILL ASSUME THAT THE STATUS MAP
HAS BEEN BUILT FROM A PREVIOUS DZV11 DIAGNOSTIC RUN.

SW 06 SET: RESELECTY DZV11°S DESIRED ACTIVE

SW 05 SET: RESERVED

SW 04 SET: SELECT DELAY PARAMETER (SEE SEC. 4.1.1)
SW 03 SET: EXTRA PARAMETER INPUT (SEE SEC. 4.1.1)
SW 02 SET: LOCK ON SELECTED TEST

Sw 01 SET: RCSTART PROGRAM AT SELECTED TEST

SW 00 SET: GET USERS PARAMETERS FROM CONSOLE
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SWITCH REGISTER CONTROL OF PARAMETER INPUT FROM CONSOLE

sw 00

Sw 03

Sw 04

GET USERS PARAMETERS FROM CONSOLE. SETTING THIS SWITCH AT START
UP TIME ALLOWS THE USER TO INPUT AT THE CONSOLE TERMINAL THE
FOLLOWING PARAMETERS: BASE DEVICE ADDRESS, BASE VECTOR ADDRESS,
MODE OF OPERATION (EXTERNAL, INTERNAL, OR STAGGERED), AND THE
NUMBER OF DZV11°'S THAT ARE RUNNING. USING THIS SWITCH ALONE WILL
DEFAULT THE FOLLOWING PARAMETERS:  ALL & LINES ARE SET TO BE
TESTED ON EACH DZV11, THE DEFAULT BAUD RATE IS SET AT 19.2 KBAUD
AND THE CHARACTER LENGTH FOR THE MAJORITY OF TESTING IS SET AT
EIGHT BITS PER CHARACTER WITH TWO STOP BITS.

EXTRA PARAMETER INPUT. SETTING THIS SWITCH AT START UP TIME
PROVIDES THE USER WITH THE ABILITY TO SET THE LINES ACTIVE FOR
TESTING AND TO SET THE DEFAULT BAUD RATE USED FOR THE MAJORITY
OF THE DIAGNOSTIC TESTS. THE DELAY PARAMETER IS AUTOMATICALLY
ADJUSTED TO THE BAUD RATE GIVEN BY THE USER.

SELECT DELAY PARAMETER. THE DELAY PARAMETER THIS SWITCH CONTROLS
DETERMINES THE LENGTH OF TIME THE PROGRAM STALLS WAITING FOR A
CHARACTER TO BE COMPLETELY TRANSMITTED OR RECEIVED. THIS DELAY
COUNT 1S AUTOMATICALLY SET TO PROVIDE ENOUGH DELAY TIME FOR THE
DEFAULT BAUD RATE SPECIFIED WHEN RUNNING THE PROGRAM ON AN LSI11
WITH MOS MEMORY. WHEN RUNNING THIS PROGRAM ON A PROCESSOR
WITH A FASTER MEMORY SPEED THIS DELAY COUNT SHOULD BE ADJUSTED
PROPORTJONATELY HIGHER THAN THE FOLLOWING DEFAULTED VALUES:

2450 ;TIME FOR 50 BAUD
1560 ;TIME FOR 75 BAUD
1120 sTIME FOR 110 BAUD
0750 :TIME FOR 134 BAUD
0660 ;TIME FOR 150 BAUD
0330 ;TIME FOR 300 BAUD
0150 ;TIME FOR 600 BAUD
0060 ;TIME FOR 1200 BAUD
0040 ;TIME FOR 1800 BAUD
0030 ;TIME FOR 2000 BAUD
0020 ;TIME FOR 2400 BAUD
0010 s TIME FOR 3600 BAUD
0001 ;TIME FOR 4800 BAUD
0001 ;TIME FOR 7200 BAUD
0001 ;TIME FOR 9600 BAUD

0001 ;TIME FOR 19.72 ¥BAUD

-~
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SWITCH REGISTER RESTRICTIONS

Sw 06

Sw 01

Sw 09

Sw 04

RESELECT DZV11'S DESIRED ACTIVE. A MESSAGE IS TYPED OUT ON THE
CONSOLE TERMINAL ASKING THE OPERATOR TO TYFE A BIT MAP OF THE
DZv'S DESIRED ACTIVE. USING THIS SWITCH ALLOWS LOCATION DZVACTV
TO BE ALTERED (SEE SEC. 8.3 FOR A DESCRIPTION OF THIS LOCATION).

EXAMPLE :

IF THE DEVICES CORRESPONDING TO THE DZV11°'S NUMBERED _ZERO, TWO,
AND FOUR IN THE DZV11 STATUS MAP (LOC. 1500 THROUGH 1740) ARE TO
BE TESTED, TYPE IN: 25

THIS WILL SET BITS 2ERO, TWO, AND FOUR IN LOCATION DZVACTV. ALL
REMAINING DEVICES IN THE STATUS MAP WILL THEN NOT BE TESTED.

RESTART PROGRAM AT SELECTED TEST IT 1S STRONGLY SUGGESTED
THAT AT LEAST ONE PASS HAS BEEN MADE BEFORE TRYING TO SELECT A
TEST THAT IS NOT IN THE ORDER OF SEQUENCE THE REASON BEING IS
THAT THE PROGRAM HAS TO CLEAR AREAS AND SET UP PARAMETERS.
NOTE: IF RUNNING MULTIPLE DZV11'S; THE DZV11 YOU DESIRE TO gE
UNDER TEST MUST BE SELECTED BY THE USE OF SW06 BEFORE LOCKING ON
THE TEST. IN OTHER WORDS; EACH TIME THE PROGRAM IS STARTED;
THE FIRST DZVv11 WILL BE SELECTED TO BE UNDER TEST UNLESS SW06 IS
USED TO SELECT ONLY ONE.

LOOP ON CURRENT DATA: THIS SWITCH WILL ONLY WORK IF CALL
"SCOP1* IS IN THAT TEST. THE REASON BEING THAT MOST TESTS DEAL
WITH BLOCKS OF DIFFERENT DATA TO BE SENT Ork RECEIVED ALL AT ONCE
THUS IN BLOCK DATA, ONE PATTERN CAN'T BE SINGLED OUT.

THIS SWITCH IS DESIGNED TO PROVIDE AN AID FOR A TRAINED TROUBLE-
SHCOTER TO SAMPLE VARIOUS SIGNALS ON THE MODULE AND IS NOT MEANT
TO BE USED AS A GENERAL USER CONTROL SWITCH.

SELECT DELAY PAKAmMZTER: THIS SWITCH SHOULD BE USED WITH CARE
?gEgogEEHOQT1A1?ELAV WILL CAUSE VALID TESTS TO FAIL.
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SWITCH REGISTER PRIORITIES
ERROR SWITCHES

1. SWw 12 DELETE PRINT OUT/BELL ON ERROR.

2. SW 13 DELETE ERROR PRINTOUT.

3. SW 15  HALT ON THE ERROR.

4. SW 08 GO TO BEGINNING OF THE TEST(ON ERROR).
5. SW 10 /0T NEXT TEST(ON ERROR).

SCOPE SWITCHES

1. SW 09 (IF ENABLED BY °'SCOP1°). IF AN '+«' IS PRINTED IN FRONT OF
THE TEST NO. ON AN ERRQOR REPORT (EX. *TEST NO. 10 ) SW09 IS
INCORPORATED IN THAT TEST AND THEREFORE SWN9 IS ~USUALLY* THE
BEST SWITCH FOR THE SCOPE LOOP (SW14=0, SW10=0, SwW09=1, Sw08=0)
IF THE PROGRAM USER IS TECHNJCALLY TRAINED TO ELECTRONICALLY
ISOLATE SIGNAL PROBLEMS ON THE DZV11 MODULE.

IF SW09 IS NOT ENABELED; AND THERE IS A *HARD* ERROR
(CONSTANT). SW08 IS BEST.

2. FOR INTERMITTENT ERRORS EITHER START THE PROGRAM WITH SWO1 AND
SW02 SET WHICH WILL A'LOW THE USER TO LOCK ON A SELECTEL TEST,
OR ELSE SET SW14& AS AN ERROR IS BEING TYPED OUT ON THE TERMINAL.
SW14 WILL CONTINUE TO LOOP ON THAT TEST REGARDLESS OF WHETHER AN
ERROR OCCURS.

3. SW 14 LOOP ON CURRENT TEST,

STARTING ADDRESS

SA 200 - THE STARTING ADDRESS FOR ANY DZV11 DIAGNOSTIC IS LOC. 200

NOTE:  IF ADDRESS 000042 IS NON-ZERO ThE PROGRAM ASSUMES IT IS UNDER
ACT11 OR XXDP CONTROL AND WILL ACT ACCORDINGLY. AFTER *ALL*
GXQ%L??EE DZV11S ARE TESTED THE PROGRAM WILL RETURN TO °XXDP' OR

OPERATING PROCEEDURE

WHEN THE PROGRAM ]S INITIALLY STARIED, MESSAGES AS DESCRIBED IN SECTION
FOUR WILL BE PRINTED AND THE DIAGNOSTIC WILL BEGIN RUNNING.
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NORMAL START OF DIAGNOSTIC

ON THE FIRST START OF THE DIAGNOSTIC AT ADDRESS 200, IF Sw00=1
THEN THE FOLLOWING QUESTIONS ARE ASKED AND MUST BE ANSWERED:

‘*1ST CSR ADDRESS (160000:163770):
YOU MUST TYPE IN THE FIRST DZV1? CSR IN__THE SYSTEM YOU WISH
TESTING TO BEGIN AT. RANGE: 160000:163770

*“1ST VECTOR ADDRESS (300:77Q0): '
YOU MUST TYPE IN THE VECTOR OF THE FIRST DZvi1l IN THE SYSTEM
UNDER TEST. RANGE 300:770

"MAINTENANCE MODE
CEXTERNAL <H325> (E)
CINTERNAL <DZCSR03=1>(1)
CSTAGGERED <H329> ($)J) :

TYPE "€’ OR "'I'° OR *'S’'’ DEPENDING ON WHICH MODE YOU WISH TO RUN
IN. IF  RUNNING_ 'EXTERNAL''; ALL SELECTED LINcS MUST BE
TERMINATED BY AN H325 TEST CONNECiOR.

"# OF DZVI1'S <IN OCTAL> (1:20): °*
TYPE TOTAL NUMBER OF DZv11°'S TO BE TESTED IN THE SYSTEM. RANGE
IS 1 THRU 29 IN OCTAL.

sessessns [F SWO3=1 THEN THE FOLLOWING WILL BE PRINTED saasaxews

"LINES ACTIVE BY BIT <IN OCTAL> (001:017):"'
EACH BIT REPRESENTS A LINE AND ANY COMBINATION OF LINES MAY BE
gEtEE;Eg (6H?HE§E§) IN STAGGERED MODE TWO ADJACENT LINES MUST BE

*DEFAULT BAUD RATE <IN OCTAL> (00:17): *'

THIS GIVES THE USER A CHANCE TO CHANGE THE DEFAULT BAUD RATE
USED IN APP. 90X OF THE TEST. BAUD RATE CHOICES ARE:
*00°'( 50 BAUD),''01°'( 75 BAUD),'02’( 110 BAUD),'03’'( 134 BAUD),
*04''( 150 BAUD),*'05'"(_300 BAUD),''06''(_600 BAUD).'®07:'(1200 BAUD),
*10'*(1800 BAUD).'*11''(2000 BAUD).'‘12''(2400 BAUD),’*13''(3600 BAUD)
*14"'(4800 BAUD) ;'*15°'(7200 BAUD) ,'‘1€°'(9600 BAUD) .'*17*'(19.2 KBAUD)
LOW DEFAULT BAUD RATES ARE NOT SUGGESTED SINCE THEY LENGTHEN THE
TIME TO COMPLETE A PROGRAM PASS DRAMATICALLY.

IT IS IMPORTANT TO NOTE THAT ALL "ZV11°'S IN THE SYSTEM MUST BE
CONTIGIOUS FOR BOTH ADDRESS AND VECTORS. ALSO ALL THE EXTRA
PARAMETERS OTHER THAN CSR AND VECTORS ARE GIVEN TO THE EXISTING
DZV11°'S IN THE SYSTEM.

IF THE MODE OF OPERATION IS DIFFERENT FOR EACH DZV11 THIS MUST
BE PATCHED INTO THE CORRECT STATUS MAP ENTRY WHICH IS PRINTED AT
START TIME. AN ALTERNATIVE IS TO PUT SW00=1 AT START TIME:
ANSWER QUESTIONS ABOUT DZV11 UNDER TEST AND INDICATE ONE pZv1i
IN THE SYSTEM. IF THE STATUS MaP IS TO BE 'PATCHED'® 1T MUST B8E
DONE AFTER THE QUESTIONS ARE ANSWERED OR AFTER THE AUTO SIZE.

it
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PROGRAM AND/OR OPERATOR ACTION

THE VARIETY OF PROGRAM CONTROL SWITCHES PROVIDED IN THIS DIAGNOSTIC
PACKAGE IS DESIGNED TO PROVIDE THE USER WITH A WIDE RANGE OF TROUBLE-
SHOOTING TECHNIQUES. BEFORE THE USER ATTEMPTS TO RUN THIS DIAGNOSTIC HE
SHOULD BECOME FAMILIAR WIT:? THE USE OF THESE CONTROL SWITCHES AND THEIR
RESTRICTIONS. (SEE SEC. 4.1, 4.1.1, 4.1.2, 4.1.3)

WHEN THE PROGRAM DETECTS AN ERROR THE TEST NUMBER AND PC WILL BE _ TYPED
OUT AND POSSIBLY AN ERROR MESSAGE (DEPENDING ON THE PARTICULAR ERROR).
IF IT IS NECESSARY TO KNOW MORE INFORMATION CONCERNING THE ERROR REPORT
THEN LOOK IN THE PROGRAM LISTING FOR THAT TEST NUMBER AND THEN NOTE THE
PC OF THE ERROR REPORT. THE REASON FOR THE ERROR REPORT WILL BECOME
CLEARER WHEN READING THE COMMENTS IN THC PROGRAM LISTING.

ERRORS

AS DESCRIBED PREVIOUSLY THERE WILL ALWAYS BE A_TEST NUMBER AND PC TYPED
OUT AT THE TIME OF AN ERROR (PROVIDING SW 13=0 AND SW 12=0). IN MOST
CASES ADDITIONAL INFORMATION WILL BE SUPPLIED TO THE THE ERROR MESSACE
WHICH IS TO SIVE THE OPERATOR AN INDICATION OF THE ERROR.

ERROR RECOVERY

IF FOR SOME REASON THE DZV11 SHOULD °"HANG THE BUS' (GAIN CONTROL OF BUS
SO THAT COMSOLE MANUAL FUNCTIONS ARE INHIBITED) AN INIT OR POWER DOWN/UP
IS NECESSARY FOR OPERATOR TO REGAIN CONTROL OF (PU. IF THIS SHOULD
HAPPEN, LOOK IN LOCATION °*STSTNM' (ADDRESS 1246) FOR THE NUMBER OF THE
TEST THAT WAS RUNNING AT THE TIME OF THE CATASTROPHIC ERROR. IN THIS
??;ETSF ?zERé;ggRUILL HAVE AN IDEA AS TO WHAT THE DZV11 WAS DOING AT THE

RESTRICTIONS

START'NG RESTRICTIONS

SEE SECTION 4.1.2

THE STATUS TABLE SHOULD BE VERIFIED REGARDLESS OF HOW THE PROGRAM WAS

STARTED. ALSO IT IS IMPORTANT TO USE THIS LISTING ALCNG WITH THE
INFORMATION PRINTED ON THE TTY TO COMPLETELY ISOLATE PROBLEMS.

SEQ 0009
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OPERATING RESTRICTIONS
PARAMETER MUST BE INPUT FROM USER OR APT IF "'AUTO SIZING'' IS NOT USED.

MISCELLANEOUS
EXECUTION TIME

ALL DZV11 DEVICE DIAGNOSTICS WILL GIVE AN °'END PASS' MESSAGE (PROVIDING
NO ERRORS AND SW12=0) WITHIN 2 MIN. THIS IS ASSUMING SW11=1 (INHIBIT
ITERATIONS) IS SET TO GIVE THE FASTEST POSSIBLE EXECUTION.

PASS COMPLETE

NOTE: +~EVERY* TIME THE PROGRAM IS STARTED; THE TESTS WILL RUN AS If
SW11 (DELETE ITERATIONS) WAS UP (=1). THIS IS TO °'VERIFY NO *HARD+*
CRRORS® AS SOON AS POSSIBLE. THEREFORE THE FIRST PASS <-EACH TIME
FROGRAM IS STARTED- WILL BE A 'QUICK PASS' UNTIL ALL DZV11'S IN SYSTEM
ARE TESTED. WHEN THE DIAGNOSTIC HAS COMPLETED A PASS THE FOLLOWING IS
AN EXAMPLE OF THE PRINT OUT TO BE EXPECTED.

END PASS CYDZA-B (SR: 160100 VEC: 300 PASSES: 000001 ERRORS: 000000

NOTE: THE NUMBERS FOR CSR AND VEC ARE NOT NECESSARILY THE VALUES FOR
THE DEVICE. THEY ARE ONLY FOR THIS EXAMPLE.

SEQ 0010
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KEY LOCATIONS
SLPADR (1252)

NEXT  (1362)
STSTNM (1246)
RUN (1412)
STATUS MAP

(1500)-(17460)

DZVACTV(1406)

$BASE (7174)
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CONTAINS THE ADDRESS WHERE PROGRAM WILL RETURN WHEN
igg?ﬂ;%g" COUNT 1S REACHED OR IF LOOP ON TEST IS
CONTAINS THE ADDRESS OF THE NEXT TEST TO BE PEFORMED.
CONTAINS THE NUMBER OF THE TEST NOW BEING PEFORMED.

THE BIT IN ‘RUN' ALWAYS POINTS ONE PAST THE D2V11
CURRENTLY BEING TESTED. EXAMPLE : (RUN)
1412/0000000001000000 MEANS THAT 0?V11 NO.5 IS THE DZV11
NOW RUNNING.

THESE LOCATIONS CONTAIN THE INFORMATION NEEDED TO TEST
UP TC 16 (DECIMAL) D2V11S SEQUENTIALY. THEY CONTAIN THE
EE?AV§§5?7 AND STATUS CONCERNING THE CONFIGURATION OF
EACH BIT 'SET IN THIS LOCATION INDICATES THAT THE
ASSOCIATED DZv11 WILL BE TESTED IN TURN.  EXAMPLE:
(DIVACTV) 1406/0000000000011111 MEANS THAT DZV11 NO.
00.01.02.03.06 WILL BE TESTED. EXAMPLE: (DIVACTV)
}ég?égoobooboooo10001 MEANS (HAT DZ11 NO. 00,04 WILL BE
ggg}A1ﬁs THE RECEIVER CSR OF THE CURRENT DZV11 UNDER

SEQ 0011
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8.4 MORE ON THAT 'STATUS TABLE®' (1500-1740)

'HAS Of DZVv11 STATUS'

150 160100
1502 000300
1504 000017
1506 017470
1510 000000
THE ABOVE :iNFORMATION WILL BE REPEATED FOR EACH OF UP TO 16 DZV11°'S IN
THE SYSTEM(THESE WILL FOLLOW UNDER THIS TABLE). EXPLANATION:
1500 160100 }:éssenggf SYSTEM CONTROL REGISTER FOR THE 1ST DZV11 IN
1502 000300 THIS IS VECTOR °'A‘' FOR THE FIRST DZV11 IN THE SYSTEM.
04 000017 521¥E§¥E;HE BINARY REPRESENTATION OF WHAT LINES ARE TO
506 017470 THIS IS THE PARAMETER LOCATION USED IN MOST OF THE
TESTS. IT INDICATES PARAMETERS OF: RX ON, SPEED SELECT
17 (19.2K BAUD) EIGHT BI1S PER CHAR, AND TWO STOP BITS.
THE USER MAY ALTER THE STOP BITS AND THE SPEED, BUT THE
KEMAIMING PARAMETERS SHOULD BE LEFT ALONE.
THIS LOCATION IS USED TO LOAD THE DZV11 LINE PARAMETER
REGISTER FOR EACH LINE. THE MEANING OF THE BITS SET_IN
THIS LOCATION IS THE SAME AS THE FUNCTION OF THE RELATED
BITS IN THE DEVICE LINE PARAMETER REGISTER.
1510 000000 THIS LOCATION WILL CONTAIN EITHER ALL Z2EROS INDICAT!NG

THAT INTERNAL LOOP WAS SELECTED AS MODE OF OPERATION OR
IT WILL CONTAIN 100000 INDICATING THAT °'STAGGERED MODE'’
WAS SELECTED OR IT WILL CONTAIN 000200 INDICATING TI'AT
“EXTERNAL'' WAS THE MODE SELECTED.

THE ABOVE IS REPEATED FOR EACH DZV11 IN THE SYSTEM. THE TABLE IS

FILLED

BY AUTO SIZING OR BY THE MANUAL PARAMETER INPUT PROGRAM

AS DESCRIB'D PREVIOUSLY. ALSO IF OESIRED BY_ USER; THE
LOCATIONS MAY BE ALTERED BY HAND TO SUIT THE  SPECIFIC
CONF IGURATION.

SEQ 0012
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8.5 v+ METHOD OF AUTO SIZING w#v
8.5.1 FINDING THE CONTROL STATUS REGISTER.

THE PROGRAM WILL START AT ADDRESS 160000 AND START ‘'REFERENCING' THE
ADDRESS IN THE POINTER. IF A NON-EX MEMORY TRAP OCCURES, THE POINTER
(HOLDING 160000) 1S UPDATED BY 10 AND THE ABOVE IS REPEATED UNTIL
ADDRESS 163770 1S REACHED. IF A ‘'BUS REPLY® RESPONSE WAS ISSUED BY THE
DZV11 (OR ANY OTHER DEVICE) (NO NXM TRAP), °‘MASTER SCAN ENABLE'' IS
ATTEMPTED TO BE SET AND THE TCR BITS FOR ALL FOUR LINES ARE SET. *'TRDY'’
IS THEN TESTED TO BE SET AND 'MASTER SCAN EMABLE'' 1S TESTED TO 3E STILL
SET. THE DIAGNOSTIC WILL THEN CHECK THAT AT LEAST ONE TCR BIT IS STILL
SET. F ALL OF THE ABOVE WORKED, THIS DEVICE 1S ASSUMED TO BE A DZV11.
IF ANY OF THE ABOVE FAILED, UPDATING OF THE POINTER IS DONE AND THE
SEQUENCE IS REPEATED.

NOTE: IF THE PROGRAM DOES NOT FIND YOUR DZVi1, SOMETHING IS WRONG AND
AUTO SIZING SHOULD 1!0T BE DONE.

8.>.2 FINDING THE VECTOR

THE VECTOR AREA (ADDRESS 300-776) IS FILLED WITH THE INSTRUCTION IOT AND
*,+2' (NEXT ADDRESS). BIT14 AND BITS (TX INTERUPT ENABLE AMD MSTSCAN
ENABLE) ARE SET INTO THE DZVCSR. ALL TCR BITS ARE SET, A DELAY OCCURS,
AND JF NO INTERUPT OCCURES (BECAUSE OF A BAD DZV11) THE PRGGRAM ASSUMES
VECTOR ADDRESS 300 AND THE PROBLEM SHOULD BE FIXED IN THE DIAGNOSTIC.
ONCE THE PROBLEM IS FIXED, THE PROGRAM SHOULD 8t SETUP AGAIN TO SET THE
CORRECT VECTOR. IF AN INTERUPT OCCURRED, THE ADDRESS TO WHICh THE DZV11
INTERUPTED TO IS PICKED UP AND REPORTED AS THE VECTOR. NOTE: IF THE
VECTJR REPORTED IS NOT THE VECTOR SET UP BY YOU, THERE IS A PROSBLEM AND
AUTO SIZING SHOULD NOT BE DONE.

8.5.3  PARAMETER ASSUMPTIONS.

SINCS TOO MUCH HARDWARE WOULD NEED YO BE TURNED ON TO SIZE THE REST OF
THE PARAMETERS; THE PROGRAM MUST ASSUME THE REMAINING VARIATIONS. THE
RESULT IF NOT TO YOUR SPECIFIC CONFIGURATION MAY BE ALTERED BY HAND.
IN THIS WAY 95% OF THE PARAMETER SETUP WAS DONE BY THE PROGRAM AND 5% BY

YOU.

THEREFORE :

1) ALL FOUR LINES ARE ASSUMED TO BE TESTED.

2) DEFAULT BAUD RATE IS SET TO 17 (13.2 KBAUD).
3) MIDE OF OPERATION IS ''INTERNAL MODE''.

FOR ALL PARA¥ “TER ADJUSTMENTS PLEASE REFEP TO SECTION 8.4 FOR GREATER DETAIL.

SEQ 0013
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RUNNING THE DZVv11 DIAGNOSTIC UNDER APT
THE APT INTERFACE

THE D2V DIAGNQSTICS HAVE BEEN DESIGNED TO BE COMPATIBLE WITH THE APT
(AUTOMATED PRODUCT TEST) SYSTEM, THE DZV LOGIC TEST DIAGNOSTICS (CVDZA,
AND CVDZB) CAN BE RUN AS STANDALONE DIAGNOSTICS OR IN EITHCR OF THE APT
MODES. (CVDZC, HOWEVER IS DESIGNED AS A STANDALONE DIAGNOSTTC ONLY AND
REQUIRES DIRECT OPERATOR PARTICIPATION.

SETTING UP THE DIAGNOSTIC UTTNG APT

THE DIAGNOSIIC USES STVERA. VARIABLES IN THE REGION SUBTITLED ' APT
MAILBOX-ETABLE'. THESE VARIA3LES ARE:

$SWREG ~(1142) USED AS "AE SOFTWARE SWITCH REGISTER WHILE RUNNING
UNDER APT.

SVECT1 =(1770) USED TO SPECIFY THE FIRST VECTOR ADDRESS

$BASE -(1174) USED TO INDICATE BOTTOM ADDRESS OF DZV11 UNDER TEST

$DEVM =(1176) A BIT MAP REPRESENTING WHICH DZV11°'S WILL BE TESTED

$COW1  -(1200) USED TO INDICATE WHICH LINES TO RUN ON ALL DZV11'S

$COW2 -(1202) USED TO INDICATE THE DEFAULT TEST MODE. SET TO Q FOR

INTERNAL TESTING, 200 FOR EXTERNAL LOOP BACK (4325
INSTALLED), OR SET TO 100000 FOR STAGGERED LOOP BACK

TESTING (H329 INSTALLED).
$ODWO  ~(1204) EACH OF THE $DDW WORDS OESCRIBES THE PARAMETERS
(LPR) FOR A PARTICULAR D2v11, GOING UP TO 16 DZV11'S

RUNNING UNDER APT

ALL OF THE VARIABLES MENTIONED IN SECTION 9.1.2 SHOULD BE SET
UP PRIOR 7O RUNNING THE DIAGNOSTIC UNDER APT.

NOTE
BE SURE $BASE POINTS TG THE FIRST DZV11 BEFORE RUNNING

BASED ON THESE VALUES, THE DIAGNOSTIC WILL SET UP_ THE STATUS
TABLE. THE USER IS THEN FREE TO MONITOR UNDER APT AS NURMAL.

SEQ 0014
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10.0 PROGRAM DESCRIPTION

THIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMA(
PACKAGE (MAINDEC-11-DZQAC-C3).

INITIAL ADDRESS OF THE STACK POINTER t** 1120 #ax
MISCELLANEOUS DEFINITIONS

GENERAL PURPOSE REGISTER DEFINITIONS

PRIORITY LEVEL DEFINITIONS

"'SWITCH REGISTER'' SWITCH DEFINITIONS

DATA BIT DEFINITIONS (BITOQ TO BIT15)

BASIC ''CPU'" TRAP VECTOR ADDRESSES

BITS 15-11=CPU TYPE
11/04=07,11/05=02,11/20=03,11/40=04 ,11/45=C5
11/70=06,PDQ=07,0=10

BIT 10=REAL TIME CLOCK

BIT 9=FLOATING POINT PROCESSOR

BIT 8=MEMORY MANAGEMENT

MEM.TYPE BYTE == (HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=002
500 NSEC MOS=003

MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF °‘TYPE'* ABO

THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
USED IN THE PROGRAM.

THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

THE INFORMATION IS OBTAINED 8Y USING THE INDEX NUMBER FOUND IN

LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

NOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

EM ;;POINTS TO THE ERROR MESSAGE
DH ::POINTS TO THE DATA HEADER
0T ;;POINTS TO THE DATA

DF ;:POINTS TO THE DATA FORMAT
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INCREMENT THE PASS NUMBER .$PASS)
IF THERES A MONITOR GO TO IT
IF THERE ISN'T JUMP TO CYCLE

THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
AND LOAD THF ERROR FLAG (SERFLG) INTO DISPLAY<15:08>

THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

SW14=1 LOOP ON TEST

SW11=1 INHIBIT ITERATIONS

CALL
SCOPE ;:SCOPE=]OT

ROUTINE TO TYPE ASCI2 MESSAGE. MESSAGE MUST TERMINATE WITH A 0 BYTE.

THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
NOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
NOTE2: SFILLS CONTAINS THE NUMBER CF FILLER CHARACTERS REQUIRED.

NOTE3: SFILLC CONTAINS THE CHARACTER TO FILL AFTER.

CALL:

1) USING A TRAP INSTRUCTION

oR TYPE .MESADR ::MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
TYPE
MESADR

ROUTINE USED TO SET UP THE DIAGNOSTIC VIA APT.
IF 8117 IN'THE ENVIRONMENT MODE (SENVM) BYTE IS SET,
THE PROGRAM WILL LOAD ITS PARAMETERS FROM THE ETABLE.

ROUTINE USED TC "‘AUTO SIZE'' THE DZVI1

CSR_AND VECTOR.

NOTE: THE (SR MAY BE ANY WHERE _IN THE FLOATING
ADDRESS RANGE (160000:163770)
AND THE VECTOR MAY BE ANY WHERE IN THE
FLOATING VECTOR nANGE (300:770)

ARRRNAARRARIRARANRRRAAY TEST 1 At aannnantnaaaananttneatavdened

THIS TEST PROVES THE BUS REPLY RESPONSE
DURING A READ OR WRITE TO THE FOLLOWING ADDRESS:
DZVCSR, DZVRBUF, DZVTCR, DZVMSR

ERARARNRRRARRRANRANNRAN TEST 2 Nttt h AR AR AN RNNRRANARNS

THIS TEST PROVES THAT BIT 'DCLR"
CAN BE SET AND THAT IT WILL CLEAR
BY ITSELF

SEQ@ 0016
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ARAARNRAPARNNARAAENAhtr TEST 3 A0t aaaanra vt A A AR RN

TEST TO VERIFY THAT THE R/W BITS OF THE

DZVCSR REGISTER CAN BE SET. THEN VERIFY THAT
THESE BITS CAN BE CLEARCD. AND FINALLY, VERIFY
THAT AFTER BEING SET AGAIN THEY CAN BE

CLEARED BY A 'DEVICE CLEAR .

THE BITS TESTED ARE: MAINT, MSENAB, SILOEN,
RIE. AND TIE.

ARNRRARARNNANARRARNAARREY JEST 4 St atanata Attt e AR asARAAACAARS

THIS TESTS THAT ALL OF THE TCR BITS

CAN 8E: SE., CLEARED, AND CLEARED BY A DEVICE CLEAR.
THIS TEST ALSO DETERMINES IF THE DTR BITS CAN

BE SET, CLEARED, AND CLEARED BY A RESET.

ARSRARRANARNAREARRARRAY TEST § wavvnunanvntaasantndatdtdaddvtd

THIS TEST VERIFIES THAT

BITS 'RDONE,TRDY, BITY9, BITS,

AND SILOAL'* ARE READ ONLY AND THAT TRDY IS

ZERO UNTIL A LINE IS SELECTED AND MSENAB IS SET.

AR RARARARANNRRARARR AN TEST 6 1232323323323 24283242028k 2d¢k )4

THIS TEST VERIFIES THAT:

TIE,SILOEN,RIE ,MSENAB ,AND MAINT ARE THE

ONLY R/W BITS IN THE DZVCSR AND THAT

SETTING 'DCLR'* IN THE CSR WILL CLEAR THESE BITS.

ARANANANRNRNNRRAARRARAS TEST 7 Adtatattatata Ak A AR AARANAANRS

THIS TEST PERFORMS RESET TESTING AND
TESTING OF READ ONLY REGISTER DZVRBUF
AND TESTING OF WRITE ONLY REGISTER DZVLPR

ARRARAREARAAARRANRRRNRN TEST 10 A0 tnanananaa ek AR AR RARAN

THIS TEST PERFORMS RESET TESTING AND
TESTING OF READ ONLY REGISTER DZVMSR
AND TESTING OF WRITE ONLY REGISTER DZVTDR

+
ARNENARRARARRRNARANRARNY TEST 17 t ottt a kA AN ARAARAARNARS

VERIFY THAT SETTING ‘DTR'* FOR A LINE WILL
BRING UP ‘'CO’" AND 'RING'’' FOR:

THE SAME LINE IF IN EXTERNAL MODE

THE STAGGERED LINE IF [N STAGGERED MODE.

LINES ARE STAGGERED AS FOLLOWS:

LINEO WITH LINE1; LINE2 WITH LINE3.

THIS TEST IS ONLY RUN IF AN H325,0R H329

IS CONNECTED ON THE DZV UNDER TEST.

EARRANANRARAANRNRARNERY TEST 12 St ata et anaaasaatttaaaennnns

THIS TEST VERIFIES THAT TRDY IS SET WHEN A LINE
IS READY TO BE LOADED, AND THAT THE LINE SPECI-
FIED IN BITS 8-9 OF DZVCSR CORRESPOND

TO THE LINE SELECTED IN DZVTCR
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AARRERRRARNRNANANRNEART TEST 13 waaaaaantaaaatdaaanaaaeattenny

TEST TO TRANSMIT ONE CHAR AND
RECEIVE ONE_CHAR ON CNE LINE
AT A TIME. THE CHAR IS ''252"" AND
LL SELECTED LINES WILL BE TURNED ON .

THIS IS THE FIRST TIME ANY

DATA IS CHECKED IN THE RECEIVER.

USING SWITCH NINE WITH THIS TEST CREATES A TIGHT SCOPE LOOP
WHICH TRANSMITS A STEADY STREAM OF LHARACTERS.

ARNRARNAERENRANARRARRNL TEST 14 A0t ne Attt ettt dA kAR AAS

THIS TEST VERIFIES THAT EACH RECEIVING LINE CAN BE
DISABLED BY SETTING RCVON (BIT12 IN THE LPR REGISTER)
TO ZERO FOR EACH LINE.

THIS TEST ALSO VERIFIES THAT THE SILO CAN BE

EMPTIED BY ISSUING A DEVICE MASTER CLEAR.

ARRRRRRRRRARR AR RNty TEST 15 1322322332333 231 323232222 2202d222 2084 3]

THIS TEST PROVES THAT THE TRANSMITTER TRANSMITS

CHARACTERS (FLAG MODE)AND THE RECEIVER RECEIVES (FLAG MODE)
(ONE LINE AT A TIME BASED UPON VALID LINES)

THIS IS THE FIRST TIME THAT ALL DATA IS CHECKED

ARRRANRNNARAAARRR ARt R TEST 16 Sttt ottt asaaantasaeaastvasd

THIS TEST WILL PROVE THAT:
1) THE TRANSMITTER °'BREAK BIT'' WORKS
2) THE RECEIVER CAN FLAG ‘FRAMING ERRORS'
3) THE RECEIVER CAN FLAG 'PARITY ERRORS'’
ONLY ONE LINE AT A TIME WILL BE EXERCISED.

ANRRAANENRARRASARARAREY TEST 17 Sttt ettt aaatanttetnadttdadns

THIS TEST VERIFIES THAT THE DEVICE DOES NOT INTERRUPT
WHILE THE PROCESSOR STATUS DOES NOT ALLOW INTERRUPTS
BUT WILL INTERRUPT ]F THE PROCESSOR STATUS
ALLOWS INTERRUPTS.

AARARARARARAARANAARRNAN TEST 20 20ttt aaaataaaaa e v A e etk ahAtats

THIS TEST VERIFIES THAT THE RECEIVER WILL
INTERRUPT BEFORE THE TRANSMITTER EVEN
THOUGH THE TRANSMITTER WAS ENABLED

FIRST. SET PS TO HIGH (MASK INTERRUPTS);
GET RDONE AND TRDY TO SET;

SET TX IE AND RX IE; _
CLEAR PS AND EXPECT RX TO INTERRUPT finST

T

SEQ@ 0018

|
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::GPA PRGFRT ~2CVDZAB/<200>/FOUR LINE ASYNC MUX TESTS, PART 1 OF 2?,(VDZAB
.GPA  ,HEADER <(VDZA-B>,<1977,1981>

JTITLE  CVDZA-C

:*COPYRIGHT (C) 1977,1981

;*DIGITAL EQUIPMENT CORP.

*HAYNARD MASS. 01754

*THIS PROGRAM WAS ASSEMBLED USING THE PDP=-11 MAINDEC SYSMA(
*PACKAGE (MAINDEC-11-DZQAC-C5), JAN, 1981.

STN 1
:STARTING PROCEDURE
:LOAD PROGRAM
:LOAD ADDRESS 000200
:PRESS START
:PROGRAM WILL TYPE
"CVDZAC/<200>/FOUR.L1NE ASYNC MUX TESTS, PART 1 OF 2"
;PROGRAM WILL TYPE ‘RUNNING'® TO INDICATE THAT TESTING HAS STARTED
:AT THE END OF A PASS, PROGRAM WILL TYPE PASS COMPLETE MESSAGE
;AND THEN RESUME TESTING

.REM !
;SWITCH REGISTER OPTIONS

sSWw15=100000 :=1,HALT ON ERROR

SW14=40000 :=1,L00P ON CURRENT TEST

SW13=20000 :=1,INHIBIT ERROR TYPEOUT

SW12=10000 ;=1,DELETE TYPEQUT/BELL ON ERROR.
SW11=4000 ;=1,INHIBIT ITERATIONS

SW10=2000 ;=1,ESCAPE TO NEXT TEST ON ERROR
SW09=1000 ;=1,L00P WITH CURRENT DATA

Sw08=400 :=1,L00P ON ERROR

Sw07=200 ;=1, DO *‘AUTO SIZING'' ON INITAL START UP.
SWw06=100 :=1, DESELECT SPECIFIC DEVICES

SW05=40 :NOTE: THIS MUST NO7 EXCEED ORIGINAL COUNT
SW04=20 :=1, SELECT DELAY PARAMETER

sWw03=10 :=1, SELECT SPECIFIC PARAMETERS

SW02=4 ;=1, LOCK ON TEST SELECT

SW01=2 ;=1, RESTART PROGRAM AT SELECTED TEST
§U00=1 »=1, SELECT DEVICE ADDRESS, VECTOR, ETC.

.SBTTL BASIC DEFINITIONS
:*INIT]A%138DQESS OF THE STACK POINTER #x 1120 s«

STACK=
.EQUIV EMT,ERROR :;BASIC DEFINITION OF ERROR CALL
.EQUIV ]0T,SCOPE ;:BASIC DEFINITION OF SCOPE CALL

s *MISCELLANEOUS DEFINITIONS
HT= 11 :CODE FOR HORIZONTAL TAB
LF= 12 ..CODE FOR LINE FEED
CR= 15 ;;CODE FOR CARRIAGE RETURN

SEQ 0019
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000200
177776

177774
177772
177570
177570

000000
000001
000002
000003
000004
000005
000006
000007
000006
000007

000000
000040
000100
000140

000300
000340

100000
040000
020000

000001

H 2
11:08 PAGE 25-1
BASIC DEFINITIONS

CRLF=
pS=
LEQUIV

200
177776
PS PSW

STKLMT= 177774

::CODE FOR CARRJAGE RETURN-LINE FEED
: sPROCESSOR STATUS WORD

2sSTACK LIMIT REGISTER

PIRQ= 177772 ; ;PROGRAM INTERRUPT REQUEST REGISTER
DSWR= 177570 : sHARDWARE SWITCH REGISTER
ODISP= 177570 ; sHARDWARE DISPLAY REGISTER
; *GENERAL PURPOSE REGISTER DEFINITIONS

RO= 30 ; sGENERAL REGISTER
R1= 21 s ;GENERAL REGISTER
R2= .4 s ;GENERAL REGISTER
R3= 13 : ;GENERAL REGISTER
Ré4= 24 s ;GENERAL REGISTER
R5= 25 s ;GENERAL REGISTER
R6= z6 s ;GENERAL REGISTER
R7= 17 ; ;GENERAL REGISTER
SP= 26 ssSTACK POINTER
PC= X7 : s PROGRAM COUNTER
:*PRIORITY LEVEL DEFINITIONS

PRO= 0 ;;PRIORITY LEVEL 0
PR1= 40 ;;PRIORITY LEVEL 1
PR2= 100 ;;PRIORITY LEVEL 2
PR3= 140 ;sPRICRITY LEVEL 3
PR4= 200 ;:PRIORITY LEVEL 4
PR5= 240 :sPRIORITY LEVEL 5
PR6= 300 :;PRIORITY LEVEL 6
PR7= 340 ::PRIORITY LEVEL 7
;*''SWITCH REGISTER'® SWITCH DEFINITIONS
SWi15= 100100

SWi4= 40000

swi3= 20000

swi2= 10000

SW11= 4000

sw10= 2000

sSw09= 1000

swo8= 400

swo7= 200

swoé= 100

SWi5= 40

SW04= 20

swo3= 10

sWo2= &

Swo1= 2

SWwoo= 1

.EQUIV SWO09,SW9

.EQUIV SW08,Sw8

.EQUIV SW07,SW7

.EQUIV SW06,SuW6

.EQUIV SWO05,Sw5

.EQUIV SW04,SWé

.EQUIV SW03,SwW3

.EQUIV SW02,SW?2

.EQUIV SWO01,SW1

SEQ 0020
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CVDZAC.P11 10~AUG-81 10:55 BASIC OEFIfITIONS SEQ 0021
{3; LEQUIV SW00,Sw0
(2) :*DATA BIT DEFINITIONS (BITO0 TO BIV15)
(2) 100000 BIT15= 1v0000
(2) 040000 BIT14= 40000
(2) 020000 8IT13= 20000
(2) 010000 BIT12= 10000
(2) 004000 BIT11= 4000
(2) 002000 BIT10= 2000
(2) 001000 8IT09= 1000
(2) 000400 BIT08= 400
(2) 000200 81T07= 200
() 000100 BITO6= 100
(2) 000040 BITOS5= 40
(2) 000020 BIT04= 20
(2) 000010 BIT03= 10
(2) 000004 BIT02= &
(2) 000002 BITOI= 2
(2) 000001 BIT00= 1
(2) .EQUIV BIT09.BIT9
(2) .EQUIV BIT08.BIT8
(2) "EQulv BIT07.B177
(2) JEQulv BIT06.B1T6
(2) .EQUIV BIT05,BITS
(2) .EQUIV BIT04.BI:i4
(2) LEQuIv BIT03.BIT3
(2) .EQulv BIT02.BIT2
(2) .EQulv 8IT01.BIT1
ES; .EQulv 8IT00.8IT0
(2) ;%BASIC '‘CPU'’ TRAP VECTOR ADDRESSES
(2) 000004 ERRVEC= 4 ::TIME OUT AND OTHER ERRORS
(2) 000010 RESVEC= 10 *IRESERVED AND ILLEGAL INSTRUCTIONS
(2) 000014 TBITVEC=14 LU BIT
(2) 000014 TRTVEC= 14 : :TRACE TRAP
(2) 000014 BPIVEC= 14 : sBREAKPOINT TRAP (BPT)
(2) 000020 IOTVEC= 20 S INPUT/OUTPUT TRAP (IOT) %#SCOPEx+
(2) 000024 PWRVEC= 24 : :POWER FAIL
(2) 000030 EMTVEC= 30 : SEMULATOR TRAP (EMT) =xERROR#«
(2) 000034 TRAPVEC=34 <" TRAP'' TRAP
(2) 000060 TKVEC= 60 $3TTY KEYBOARD VECTOR
(2) 000064 TPVEC= 64 SSTTY PRINTER VECTOR
gg; 000240 PIRQVEC=240 . sPROGRAM INTERRUPT REQUEST VECTOR
(1)
g}; :INSTRUCTION DEFINITIONS
(1) )
(1) 005746 PUSH1SP=5746  :DECREMENT PROCESSOR STACK 1 WORD
(1) 005726 POP1SP=5726 * INCREMENT PROCESSOR STACK 1 WORD
(1) 010046 PUSHRO=10046  :SAVE RO ON 3TACK
(1) 012600 POPR0=12600 *RESTORE RO FROM STACK
(1) 024646 PUSH2SP=24646  :DECREMENT STACK TWICE
(1 022626 POP25P=22626  : INCREMENT STACK TWICE
(1) 000200 MASK=BIT7 *SET INTERRUPT MASK (INHIBIT FURTHER INTERRUPTS)
(1) 000000 CLEAR=0 SALLOW INTERRUPTS (CLEAR PROCESSOR STATUS)
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CVDZAC.P11  10-AUG-81 10:55 GENERAL DEFINITIONS AND EQUIVALENCES SEQ 0022
(1;
) :D2V11 CONIROL AND STATUS REGISTER DEFINITIONS
; *(DZVCSR) BIT DEFINITIONS
) [ J
) 000010 MAINT = BIT3  :MAINTZNANCE MODE ENABLE
) 000020 DCLR=BITé ‘DEVICE CLEAR
) 000040 MSENAB=B]TS ‘MASTER SCAN ENABLE
) 000100 RIE=BITé *RECEIVER INTERRUPT ENABLE
) 000200 RDONE=BIT7 *RECEIVER DONE
) 010000 SILOEN= BIT12  :SILO ALARM ENABLE
) 020000 SILOAL = B8IT13 :SILO ALARM
) 040000 TIE=BIT14 *TRANSMITTER INTERRUPT ENABLE
; 100000 TRDY=BIT1S *TRANSMITTER READY
; :DIVCSR WORD DEFINITIONS
) 000000 TLO=0 :TRANSMIT LINE 0
) 000400 TL1=BIT8 STRANSMIT LINE 1
) 001000 TL2=BIT9 *TRANSMIT LINE 2
; 001400 TL3=BIT9!BIT8  :TRANSMIT LINE 3
)
) :DZVRBUF BIT DEFINITIONS
010000 PARER=RIT12 ;PARITY ERROR
020000 FRMERR=BIT13  :FRAME ERROR
040000 OVRRUN=BIT14  :OVERRUN ERROR
100000 DVALID=BIT1S  :DATA VALID

;DZVRBUF WORD DEFINITIONS

000000 RLO=0 sRECEIVER LINE O
000400 RL1=B178 sRECEIVER LINE 1
001000 RL2=BIT9 :RECEIVER LINE ¢
001400 RL3=BIT9!BIT8 ;RECEIVER LINE 3

sDZVLPR WORD DEFINITIONS

-A—..-l—l—l-.—l-‘—hd—lﬂ—l—l-ld-l—l—ld-ﬂd-.—lddddﬂﬂﬂd.ﬂddddddddddddd—ﬂ—l—'dd—l-—‘—.

P Y Ve Y T L T L X N Y Y e leatleatlalaleatealelalela lele e e e e Xy Y VoYY latalalayela Yol o Yo Loy o il Lol o k]
o W’ W e W W o N S N s W o N N o Nt Nt N Nt N N N W NP Nl N N b N Nt

000000 LPO=0 :LINE PARAMETER 0

000001 LP1=BITO *LINE PARAMETER 1

000002 LP2=BIT1 ‘LINE PARAMETER 2

000003 LP3=BIT1!BITO  ;LINE PARAMETER 3

000000 FIVE=0 :FIVE BITS/CHAR,? STOP BIT

000010 SIX=BIT3 *SIX BITS/CHAR,] STOP BIT

000020 SEVEN=BIT4 *SEVEN BITS/CHAR,1 STOP BIT

000030 EIGHT=BIT4'BIT3 EIGHT BITS/CHAR.1 STOP BIT

000040 FIVES=BITS *FIVE BITS/CHAR, STOP BITS

000050 SIXS=BITSIBIT3 -SIX BITS/CHAR, STOP BITS

000060 SEVENS=BIT5'BIT4 - SEVEN'BITS/CHAR, 2 STOP BITS
1 000070 EIGHTS=BITSIBIT4!BIT3  :EIGHT BITS/CHAR, 2 STOP BITS
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CVDZAC.P11 10-AUG=-81 10:55 GENERAL DEFINITIONS AND EQUIVALENCES SEQ 0023
[ ]
(N
(1) 000100 PARITY=BIT6 :PARITY ENABLED
(1) 000200 ODDPAR=B]T? :0DD PARITY cNABLED
(1) 000000 ONESTOP=0 *ONE STOP BIT ENABLED
(1) 000040 TWOSTOP=BITS :TWO STOP BITS ENABLED
(1) 000000 EVEPAR=( :EVEN PARITY ENABLED
g}; 010000 RCVON=BIT12 *ENABLE RECEIVER (RECEIVER ON)
(1) 000000 $50=0 :SPEED 50 BAUD
(1) 000400 $75=BIT8 *SPEED 75 BAUD
(1) 001000 $110=BIT9 <SPEED 110 BAUD
1) 001400 S134=BI19'B1T8 <SPEED 134.5 BAUD
(1) 002000 $150=BIT10 *SPEED 150 BAUD
(1) 002400 $300=BIT10'BIT8 :SPEED 300 BAUD
(1) 003000 $600=BIT10!81T9 -SPEED 600 BAUD
(1) 003400 $1200=BIT10!'BIT9'BIT8 :SPEED 1200 BAUD
(1) 0046000 $1800=BIT11 :SPEED 1800 BAUD
(1) 004400 $2000=BIT11'8IT8 *SPEED 2000 BAUD
(1) 005000 $2400=BIT11'BI79 *SPEED 2400 BAUD
(1) 005400 $3600=B1T11iBIT9!BIT8  :SPEED 3600 BAUD
(1) 006000 $4800=BIT11!8IT10 SSPEED 4800 BAUD
(1) 006400 $7200=BIT11'81T10!'8IT8 ;SPEED 7200 BAUD
(1) 007000 $9600=BIT11!BIT10iBIT9 :SPEED 9600 BAUD
2}; 007400 $19200=BIT11'8IT10!BIT9!'81T8  ;SPEED 19200 BAUD
g}; :DZVTCR BIT DEFINITIONS
(1) 000001 TCRO=BITO ENABLE TRANSMISSION ON LINE 0
1) 000002 TCR1=BIT1 *ENABLE TRANSMISSION ON LINE 1
(1) 000004 TCR2=BIT2 *ENABLE TRANSMISSION ON LINE 2
(1) 000010 TCR3=B1T13 -ENABLE TRANSMISSION ON LINE 3
(1) 000400 DTRO=B] T8 :DATA TERMINAL READY FOR LINE 0
(1) 001000 DTR1=BIT9 :DATA TERMINAL READY FOR LINE 1
(1) 002000 DTR2=BIT10 :DATA TERMINAL READY FOR LINE 2
g}; 004000 DTR3=BIT11 <DATA TERMINAL READY FOR LINE 3
2}; :DZVMSR BIT DEF INITIONS
(1) 000001 RINGO'BITO RING INDICATED ON LINE 0
(1) 000002 RING1=BIT1 *RING INDICATED ON LINE 1
(1) 000004 RING2=BIT?2 SRING INDICATED ON LINE 2
(1) 000010 RING3=BIT3 *RING INDICATED ON LINE 3
(1) 000400 £00=BIT8 *CARRIER PRESENT ON LINE 0
(1) 001000 €01=BIT9 *CARRIER PRESENT ON LINE 1
(1) 002000 €02=BIT10 *CARRIER PRESENT ON LINE 2
g}; 004000 C03=81T11 *CARRIER PRESENT ON LINE 3
5}; :DZVTDR BIT DEFINITIONS
(1) ’
(1) 000400 BRKO=BITS :BREA¥ FOR LINE 0
(1) 001000 BRK1=BIT9 *BREAK FOR LINE 1
(1) 002000 BRK2=BIT10 *BREAK FOR LINE 2
(1) 004000 BRK3=BIT11 *BREAK FOR LINE 3
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(1)
2}; :TABLE OF LOOP AROUND FUNCTIONS (H325)
(1) : -----------------
1) : '} .
(1) : REC TRANS
(1) ; DATA DATA
1) :
(1) . eeecessecessmcca-
1) : I 4
(1) : '} .
(1) : o RTS
(1) :
(1) ;. eesececcceccccscccse
(1) : | A
1) . V a
) H RING DTR
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CVDZAC.P11 10-AUG-81 10:55 TRAPCATCHER FOR UNEXPECTED INTERRUPTS SEd 0025

::tt*tttitttttttﬁﬁt*ﬁt*ttt*tttttt**ttttt*tttttﬁtttttttﬁ**tittttttttttt

”~~
b
L4

;THE STANDARD ‘'‘TRAP CATCHER'' IS_PLACED
;BETWEEN ADDRESS 0 TO ADDRESS 776.
+1T LOOKS LIKE 'PC+2 HALT''.

e
;:*ttt*tttt*tﬁ**tttttt***ti*tﬂ**tti*ttttt*ttttittttittt*ttttﬁtttttﬁtt*

000000 .=0
; STANDARD INTERRUPT VECTORS

200020 .=20
000020 004404 .SCOPE ;SCOPE _LOOP HANDLER
000022 000200 MASK sHANDLE AT PRIORITY 7
000024 007414 SPWRDN ;POWER FAIL HANDLER
000026 000349 340 sSERVICE AT PRIORITY LEVEL 7
000030 006522 $ERROR :ERROR HANDLER
000032 000340 340 sSERVICE AT PRIORITY LEVEL 7
000034 006314 . TRPSRV sGENERAL HANDLER DISPATCH SERVICE
000036 000340 340 sSERVICE AT PRIORITY LEVEL 7

.SBTTL ACT11 HOOKS

2223832833832 2323232232233 23222233222 dd it at sl dlddd)

*HOOKS REQUIRED BY ACT11
$SVPC=.

000040 :SAVE PC

000046 .=46
000046 8833?2 sggng ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .$EOP
000052 000000 "WORD 0 ::2)SET LOC.52 TO ZERO

000040 .=$SVPC :: RESTORE PC

000174 =174
000174 000000 D1SPREG:0 .SOF TWARE DISPLAY REGISTER FOR SWITCHLESS 11S
000176 888388 SWREG: 0 *SOFTARE SWITCH REGISTER FOR SWITCALESS 118
000200 000137 002116 " JMP .START :GO TO START OF PR0GRAM

001000 .=1000
001000 005200 053103 055104 MTITLE: .ASCIZ <200><12>/LVDZAC/<200>/FOUR LINE ASYNC MUX TESTS, PART 1 OF 2/<200>

N
vvvvvvv\,vvvvvvvvvvvvvvvvvvvaVVVVVV\- e’ N N N N sl

s~ N I S S, PN g, o, PN PN S S PN o, PN PN PN P TN PN PN 5N PN N NN PN TN TN NN TN NG AN TN TN NN N
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PROGRAM PARAMETERS, VARIABLES, AND TRAP CALLS.

.=1120

N 2
SEQ 0026

2222228238223 222222222222 2032 d T iRt dadddRiidntidRilddd]

SBTTL APT MAILBOX-ETABLE

:;**tt**tttttttttttttk'itttt'tﬁﬁt*t*tttﬁt*ﬁﬁttttttttt*tt**tt*ttti

SMAIL:

$MSGTY:
SFATAL:
$TESTN:

$PASS:

$DEV(CT:

SUNIT:

$MSGAD :

$MSGLG

.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
: .WORD

SETABLE:

SENV:

SENVM:
$SWREG
$USWR:
$CPUOP

*
’

» » % %

4

:t
.'l'
* %
”

$MADR1:
* %

$MAMS 2.
SMTYPZ.
$SMADRZ:
SMAMS3:
SMTYP3:
SMADR3:
SMAMSS :
SMTYPG:
$MADRS :
$VECT:
SVECT2:

$BASE:
$DEVM:
$CDW1:
$COW2:
$DDWO :
$DDWY:
$DDW2:
$DDW3:
$DDW4 :
$ODWS:

. %
SMAMS 1 :
SMTYP1:
. %

.BYTE
.BYTE
: WORD
+WORL

: .WORD

.BYTE
.BYTE

-WORD

.BYTE
.WORD
.BYTE
.BYTE
.WORD
.BYTE
.BYTE
.WORD
.WORD
-WORD
.WORD
.WORD
-WORD
«WGRD
-WORD
-WORD
-WORD
.WORD
-WORD
.WORD

AM:GTY
AFATAL
ATLSTN
APASS

ADFVCT
AUNIT

AM‘ GAD
AM>GLG

AENY
AENVM
ASWREG
AUSWR
ACPUOP

AMTYP

AMADR1

AMAMS?2
AMTYP?
AMADRY

AMTYPS
AMADR3

AMTYPG
AMADR4
AVECT]
AVECT2

ADEVM
ACDW1
ACDW2
ADDWO
ADDW1
ADDW?
ADDW3
ADDW4
ADDW5

;s APT MAJLBOX

SMESSAGE TYPE CODE

:SFATAL ERROR NUMBER

$STEST NUMBER

::PASS COUNT

*3DEV.CE COUNT

+3170 UNIT NUMBER

: SMESSAGE ADDRESS

: SMESSAGE LENGTH

$SAPT ENVIRONMENT TABLE

: SENVIRONMENT BYTE

: SENVIRONMENT MODE BITS

$SAPT SWITCH REGISTER

+3SUSER SWITCHES

13CPU TYPE,OPTIONS

BITS 15-11=CPU TYPE
11/064=01,11/05=02,11/20=03,11/40=04,13/45=05
11/70=06.PDQ=07,0=10

BIT 10=REAL TIME CLOCK

BIT 9=FLOATING POINT PROCESSOR

BIT 8=MEMORY MANAGEMENT

:sHIGH ADDRESS,M.S. BYTE

*:MEM. TYPE.BLK#1

MEM.TYPE BYTE =- <(HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=002
500 NSEC MOS=003

::HIGH ADDRESS . BLKA1

MEM.LAST ADDF.=3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'' ABOVE

::HIGH ADDRESS.M.S. BYTE

: SMEM.TYPE ,BLKA?

t SMEM.LAST ADDRESS.BLKA2

*SHIGH ADDRESS.M.S.BYTE

::MEM. TYPE ,BLKA3

tSMEM.LAST ADDRESS,BLKA3

:SHIGH ADDRESS.M.S.BYTE

: SMENM. TYPE ,BLX#%

$SMEM.LAST ADDRESS,BLK#4

S INTERRUPT VECTOR#1,8US PRIORITYA1

: S INTERRUPT VECTOR#2BUS PRIOR]TYA2

: SBASE ADDRESS OF EQUIPMENT UNDER TEST

:sDEVICE MAP

: SCONTROLLER DESCRIPTION WORDA1

:SCONTROLLER DESCRIPTION WORDA?2

SDEVICE DESCRIPTOR WORD#0

;;DEVICE DESCRIPTOR WORDA1
:sDEVZ.LE DESCRIPTOR WORDA
ssLCEVICE DESCPIPTOR WORDA
::DtVICE DESCRIPTOR WORD#4
+;DEVICE DESCRIPTOR WORDAS5
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(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)
(4)

P11

001242

001244

10-AUG-81
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APT MAILBOX-ETABLE

$DDW6 :
$DDW?7:
$DDWS::
$DDWI:

$DDW10:
$DDW11:
$ODW12:
$ODW13:
$ODW14:
$DDW15:

$ETEND:

ADDW6
ADDW?7
ADDWS
ADDW9
ADDW10
ADDW11
ADDW12
ADDW13
ADDW14
ADDW15

DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR

WORDA6
WORDA?7
WORDA8
WORDA9
WORD#10
WORDA#11
WORD#12
WORDA13
WORDA 14
WORDA15

SEQ 0027
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CVDZAC.P1 10-AUG-81 10:55 COMMON TAGS SEQ 0028

é%; .SBTTL COMMON TAGS

(l.) M ;i*tttttiﬁitt*ttitﬁtt'ttt'tttt*tl**ﬁ*tt**ﬁtﬁitiﬁtiﬁttititttttttt
(3) s*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS

g%; ;%USED IN THE PROGRAM,

(3) 001244 $CMTAG: ;sSTART OF COMMON TAGS

(3) 001244 000000 .WORD 0

(3) 001246 000 $TSTNM: .BYTE O :;CONTAINS THE TEST NUMBER

(3) 001247 000 $ERFLG: .BYTE 0 ;s CONTAINS ERROR FLAG

(3) 001250 000000 $I(NT: .WORD 0 ;s CONTAINS SUBTEST ITERATION COUNT
(3) 001252 000000 SLPADR: .WORD 0 ::CONTAINS SCOPE LOOP ADDRESS

(3) 001254 000000 SLPERR: .WORD 0 s CONTAINS SCOPE RETURM FOR _ERRORS
(3) 001256 000000 SERTTL: .WORD 0 ;s CONTAINS TOTAL ERRORS DETECIED
(3) 00160 009 SITEMB: .BYTE O :;CONTAINS ITEM CONTROL BYTE

(3) 001261 001 SERMAX: .BYTE 1 :;CONTAINS MAX. ERRORS PER TEST
(3) 001262 000000 $ERRPC: .WORD 0 : s CONTAINS PC OF LAST ERROR INSTRUCTION
(3) 001264 000000 $GDADR: .WORD 0 ;- CONTAINS ADDRESS OF 'GUOD® DATA
(3) 001266 000000 $8DADR: .WORD 0 : sCONTAINS ADDRESS OF °‘BAD' DATA
(3) 001270 000000 $GDDAT: .WORD 0 :sCONTAINS °*GOOD* DATA

(3) 001272 000000 $8DDAT: .WORD 0 ;s CONTAINS °'BAD® DATA

(3) 001274« 000000 WCRD 0 ; ;RESERVED=-NOT TO BE USED

(3) 001276 000000 .WORD 0

(3) 00130C 000 $AUTOB: .BYTE 0 :;AUTOMATIC MODE INDICATOR

(3) 001301 000 $INTAG: .BYTE 0 ;s INTERRUPT MODE INDICATOR

(3) 001302 000000 .WORD O '

(3) 001306 177570 SWR: .WORD  DSWR : sADDRESS OF SWITCH REGISTER

(3) 001306 177570 DISPLAY: .WORD DDISP ; sADDRESS OF DISPLAY REGISTER

(3) 001310 177560 $TKS: 177560 :;TTY KBD STATUS

(3) 001312 177562 $TKB: 177562 2;TTY KBD BUFFER

(3) 001314 177564 $TPS: 177564 :;TTY PRINTER STATUS REG. ADDRESS
(3) 001316 177566 $TPB: 177566 ::TTY PRINTER BUFFER REG. ADDRESS
(3) 001320 000 SNULL: .BYTE 0 :;CONTAINS NULL CHARACTER FOR FILLS
(3) 001321 002 SFILLS: .BYTE 2 s sCONTAINS # OF FILLER CHARACTERS REQUIRED
(3) 001322 012 $FILLC: .BYTE 12 s INSERT FILL CHARS, AFTER A 'LINE FEED'’
(3) 001323 000 $TPFLG: .BYTE 0 ::'TERMINAL AVAJLABLE'' FLAG (BIT<07>=0=YES)
(3) 001324 000000 $SREGAD: .WORD 0 2 CONTAINS THE ADDRESS FROM

(3) ;:WHICH (SREGO) WAS OBTAINED

(5) 001326 000000 SREGO: .WORD 0 :;CONTAINS ((SREGAD)+0)

(5) 001330 000000 SREG1: .WORD 0 ;s CONTAINS ((SREGAD)+2)

(5) 001332 000000 $SREG2: .WORD 0 ;s CONTAINS ((SREGAD) +4)

(5) 001334 000000 $SREG3S: .WORD 0 ;s CONTAINS ((SREGAD)+6)

(5) 001336 000000 SREG4: .WORD O ;s CONTAINS ((SREGAD)+10)

(5) 001340 000000 $REG5: .WORD O s SCONTAINS ((SREGAD)+12)

(5) 001342 0000C0 $TMPO: .WORC 0 2 sUSER DEF INED

(5) 001344 000000 $TMP1: WORD 0 :sUSER DEF INED

(5) 001346 000000 $TMP2: WORD 0 ; cUSER DEF INED

(5) 001350 000000 $TMP3: .WORD 0 : sUSER DEF INED

(5) 001352 000000 $TMP4: .WwORD O : ;USER DEF INED

(3) 00135 000000 STIMES: 0 ;sMAX, NUMBER OF ITERATIONS

(3) 001356 077 $QUES: ,ASCII /%/ :cQUESTION MARK

(3) 001357 015 $CRLF: LASCII <15 ;s CARRIAGE RETURN

(3) 001360 000012 $LF: LASCIZ <12 ;cLINE FEED
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.SBTTL ERROR POINTER TABLE

;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN

;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
;*NOTE]: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SENRPC).

~
v
~

;*NOTEZ: EACH JTEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
i * EM ;;PCINTS TO THE ERROR MESSAGE
i * DH ;;POINTS TO THE DATA YEADER
i DY ;sPOINTS TO THE DATA
:¥ DF ;;POINTS TO THE DATA FORMAT
001362 $ERRTB:

:PROGRAM CONTROL PARAMETERS

001362 000000 NEXT: 0 sADDRESS OF NEXT TEST TO BE EXECUTED
001364 000000 LOCk: 0 :ADDRESS FOR LOCK ON CURRENT TEST,TIGHT LOOP

N N N W Vol N T N N N N N Nl i N N Nt St Nl s Nt St P P NP

e e L e e b e e 1o 1 e b e Do T L T L o T Lat T L L T TR
ORI NI A NI RO N P A N NI NI AR AN NI NI N NI A NN N NN NN N NN NN N

001366 000017 LINE: 17 ;DEFAULT ALL FOU” LINES RUNNING
) 001370 017470 PAR: 17470 ;PARAMETERS: 8 BITS/CHAR,2 STOP BITS,19200 BAUD ,NO PARIT
) 001372 000000 MODE: O ;DEFAULT MAINTENANCE MODE
) 001374 000000 SAVLIN: 0 ;LINE NUMBER
) 001376 000000 XMTLIN: 0 ;TRANSMISSION LINE HUMBER
) 001400 000000 XMTCNT: Q sCOUNT OF WORDS IN A TRANSMISSION PATTERN
) 001402 000000 REGIST: @ ;DEVICE ADDRESS STORAGE LOCATION
) 001404 000000 SAVPC: O ;PROGRAM COUNTER STORAGE
) 001406 000001 DZVACTV:.BLKW 1 ;«DZV11'S SELECTED ACTIVE.
) 001410 000001 SAVACTV:.BLKW 1 ;%A BIT MAP OF DZV11°'S IN THE SYSTEM
) 001412 000001 RUN: 1 ;*POINTER ONE PAST RUNNING DEVICE.
) 001414 000001 DZVNUM: .BLAB 1 :*0CTAL NUMBER OF DZV11°'S IN THE SYSTEM
) 001415 001 SAVNUM: .BYTE 1 s *WORKABLE NUMBER.
) 001416 000001 SAVNO: .BLkB 1 ;*OCTAL NO. OF DZV11°'S BEING TESTED
) 001420 .EVEN
2) 001420 001500 ACTIVE: D2V.MAP ;TABLE POINTER.
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CVDZAC.P1 10-AUG-81 10:55 ERROR POINTER TABLE SEQ@ 0030
(2)
sPROGRAM COnTROL FLAGS
001422 000 INIFLG: .BYTE 0 sPROGRAM INITIALIZATION FLAG
001423 000 HDRFLG: .BYTE 0 sPROGRAM INITIALIZATION FLAG FOR HEADER MAP
001424 000 MNTFLG: .BYTE 0 ;MAINTENANCE BIT SET FLAG
001425 000 DgeEhG: LYTE 0 : TRANSMISSION COMPLETION FLAG
:DATA VARIABLES
001426 000000 TD0: .WCRD @
001430 000000 1D1: WORD O
001432 000000 TD2: WORD 0
001434 000000 TD3: .WORD 0
001436 000000 TRO: .WORD 0
001440 000000 TR1: .WORD 0 .
0( 1442 000000 TR2: LWORD 0
001444 000000 TR3: WORD O
001446 STOP:

.SBTTL APT PARAMETEK BLOCK

Y 22333323233 ¢82232222323223 3223333233323 2223222288232 02 200232022034 h)

*SET LOCATIONS 24 AND 44 7S REQUIRED FOR APT

:;**tttttttttttttttttt'ttt'tttttttﬁ*ttt**ttﬁtitt**ttttttitttitttt

001446 .$X=.  ;;SAVE CURRENT LOCATION

000024 . =24 ::SET POWER FAIL TO POINT TO START OF PROGRAM
000024 000200 200 ssFOR APT START UP

000044 =44 ;sPOINT TO APT INDIRECT ADDRESS PNTR.
000044 001446 SAPTHDR ;:POINT TO APT HEADER BLOCK

001445 .=.8X  ;;RESET LOCATION COUNTER

;:tttttﬁtItﬁ**ttttttt*'ti*'tﬁt*t*ttttttttttiitttttttt'tttt**ttt*ﬁ

;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
sINTERFA“E SPEC.

\NUNUHNMNU“NLNU*"‘-“"“N"UﬂdhﬂuﬂuﬂﬂvhuNMHNUNﬂVﬂuﬂnvLNhMNhJNHUﬁUNHUﬂJN”Uhdﬂ"thh"Uﬂuhnvth)

o~ \ﬂ’\ﬂﬁAAF\’\AF\AA“’\AAAA’\AAA’\AAAA’\“\ﬂ'\AAAAAAF\F\A’\F\AAAAA’\A&A’NAA
W
\.ﬂVVVVVVVVVVVVVUVVVVVVVVVVVVVvv\-ﬂvvvvv\t\-ﬂVVVVVVVVVVVUVVVVV

001446 $APTHD:
001446 000000 $HIBTS: .WORD 0 :;TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
001422 001120 SMBADR: .WORD  SMAIL  ;:ADDRESS OF APT MAILBOX (BITS 0-15)
001452 000120 $TSTM: .WORD  80. ;sRUN TIM OF LONGEST TEST
001454 000024 $PASTM: .WORD  20. ;sRUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
001456 000000 SUNITM: .WORD 0. ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
001460 000052 .WORD  SETEND-SMAIL/2 ;;LENGTH MAILBOX=-ETABLE (WORDS)
:DZV11 STATUS TABLE AND ADDRESS ASSIGNMENTS

001500 .=1500
001500 DZIV.MAP:
001500 000001 DZCRO: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 0
001502 000001 DZV(0O: .BLKW 1 ;RECEJVER AND BASE VECTOR FOR DZV11 NUMBER 0
001504 000001 LINEO: .BLKW 1 ;ALL LINES SELECTED
001506 000001 PARO:  .BLKW 1 :PARAMETERS
001510 0000( 1 MANTO: .BLKW 1 ;MAINTENANCTZ MODE FOR THIS DEVICE
001512 000001 DZCR1: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 1
001514 000001 DZvCl: .BLKW 1 sRECEIVER AND BASE VECTOR FOR DZV11 NUMBER
001516 000001 LINE1: .BLKW 1 sALL LINES SEVLECTED
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CVDZAC.P11 10-AUG-81 10:55 APT PARAMETER BLOCK SEQ 0031
(3) 001520 000001 PART: .BLKW 1 ;PARAMETERS
2%; 001522 000001 MANT1: ,BLKW 1 ;MAINTENANCE MODE FOR THIS DEVICE
(3) 001524 000001 DICR2: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 2
(3) 001526 000001 DZVC2: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 2
(3) 001530 000001 LINE2: .BLKW 1 sALL LINES SELECTED
(3) 001532 000001 PAR2:  .BLKW 1 s PARAMETERS
Eg; 001534 000001 MANT2: .BLKW 1 ;MAINTENANCE MODE FOR THIS DEVICE
(3) 001536 000001 D2CR3: .BLKW 1 ;CONTROL STATUS REGISTER FOR D2V1? MUMBER 3
(3) 001540 000001 DZVC3: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 3
(3) 001542 000001 LINE3: .BLkW 1 sALL LINES SELECTED
(3) 001544 000001 PAR3:  .BLKW 1 s PARAMETERS
2%; 001546 000001 MANT3: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 001550 000001 DZCR4: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER &
(3) 001552 000001 DZ2vCé: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 4
(3) 001554 000001 LINE4: .BLkW 1 sALL LINES SELECTED
(3) 001556 000001 PAR4:  .BLKW 1 ;PARAMETERS
2%; 001560 000001 MANT4: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 001562 000001 DZCRS: .BLKWw 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 5
(3) 001564 000001 DZVCS5: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 5
(3) 001566 000901 LINES: .BLKY 1 sALL LINES SELECTED
(3) 001570 000001 PARS:  .BLkW 1 :PARAMETERS
Eg; 001572 000001 MANTS: .BLKW 1 ;MAINTENANCE MODE FOR TH1S DEVICE
(3) 001574 0C2001 DZCR6: .BLKW 1 :CONTROL STATUS REGISTER FOR DZV11 NUMBER §
(3) 001576 000001 DZvC6é: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 6
(3) 001600 000001 LINE6: .BLKW 1 ;ALL LINES SELECTED
(3) 001602 000001 PARG6:  .BLKW 1 :PARAMETERS
2%; 001604 000001 MANT6: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 011606 000001 DICR7: .BLKW 1 :CONTROL STATUS REGISTER FOR DZV11 NUMBER 7
(3) 0061610 000001 DIVC7: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 7
(3) 001612 000001 LINE7: .BLkW 1 sALL LINES SELECTED
(3) 001614 000001 PAR7:  .BLKW 1 :PARAMETERS
g%; 001616 000001 MANT7: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 001620 000001 DZCR10: .BLKW 1 ;CONTROL S™ATUS REGISTER FOR DZV11 NUMBER 10
(3) 001622 000001 D2VvC10: .BLKW sRECEIVE® AND BASE VECTOR FOR DZV11 NUMBER 10
(3) 001624 000001 LINE10: .BLKW 1 sALL LINES SELECTED
(3) 001626 000001 PAR10: .BLKW 1 s PARAMETERS
E%; 001630 000001 MANT10: .BL.W 1 sMAINTENANCE MOLE FOR THIS DEVICE
(3) 001632 000001 DZCR11: .BLKW 1 :CONTROL STAT''S REGISTER FOR DZV11 NUMBER 11
(3) 001634 000001 D2vC11: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMSER 11
(g) 001636 000001 LINE11: .BLKW 1 sALL LINES SELECTED
(3) 001640 000001 PAR11: .BLKW 1 . PARAMETERS
:%; 001642 000001 MANT11: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 001644 000001 DZCR12: .BLKW 1 :CONTROL STATUS REGISTER FOR DZV11 NUMBER 12
(3) 001646 000001 DZVC12: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 12
(3) 001650 000001 LINE12: .BLKW 1 ;ALL LINES SELECTED
(3) 021652 000001 PAR12: .BLKW ] :PARAMETER.
(3) 001654 000001 MANT12: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
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(3)
(3) 001656 000001 D2CR13: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 13
(3) 001660 000001 DZVC13: .BLKW 1 ;RECEJVER AND BASE VECTOR FOR DZV11 NUMBER 13
(3) 001662 000001 LINE13: .BLKW 1 sALL LINES SELECTED
(3) 001664 000001 PAR13: .BLKW 1 sPARAMETERS
t%; 001666 000001 MANT13: .BLKW 1 sMATNTENANCE MODE FOR THIS DEVICE
(3) 001670 000001 DZCR14: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 14
(3) 001672 000001 DZVCl4: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 14
(3) 001674 000001 LINE14: .BLKW 1 sALL LINES SELECTED
(3) 001676 000001 PAR14: .BLKW 1 s PARAMETERS
E%; 001700 000001 MANT14: BLKW 1 ;MAINTENANCE MODE FOR THIS DEVICE
(3> 001702 000001 DZCR15: .BLKW 1 :CONTROL STATUS REGISTER FOR DZV11 NUMBER 15
(3) 001704 000001 DZVC15: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 15
(3) 001706 000001 LINE1S: .BLkKW 1 sALL LINES SELECTED
(3) 001710 000001 FAR15: .BLKW 1 :PARAMETERS
g%; 001712 000001 MANT15: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 001714 000001 DZCR16: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZV11 NUMBER 16
(3) 001716 000001 DZVC16: .BLKW 1 ;RECEIVER AND BASE VECTOR FOR DZV11 NUMBER 16
(3) 001720 000001 LINE16: .BLKW 1 sALL LINES SELECTED :
(3) 001722 000001 PAR16: .BLKW 1 s PARAMETERS
g%; 001724 000001 MANT16: .BLKW 1 sMAINTENANCE MODE FOR THIS DEVICE
(3) 001726 000001 D2CR17: .BLKW 1 ;CONTROL STATUS REGISTER FOR DZVi1 NUMBER 17
(3) 001730 000001 DZVC17: .BLKW 1 sRECEIVER AND BASE VECTOR FOR DZV11 NUMBER 17
(3) 001732 000001 LINE17: .BLKW 1 sALL LINES SELECTED
(3) 001734 000001 PAR17: .BLKW 1 ;PARAMETERS
g?; 001736 000001 MANT17: .BtkWw 1 sMAINTENANCE MODE FOR THIS OEVICE
(1) 001740 177777 DZV.END: 177777

—d
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;:DEFINJTIONS FOR TRAP SUBROUTINE CALLS

”~~
=}
L4

(1) ;POINTERS TO SUBROUTINES CAN BE FOUND

2}; :IN THE TABLE IMMEDIATELY FOLLOWING THE DEFINITIONS

(1) . :**tiﬁl‘ﬁﬁ*ittifttﬁ.‘tti*tttiﬁttttttttit*l"ﬁ*'l*ﬁtlﬁ*ttﬁﬁttttttti*ttt*t
(1) : ----------------------------------- - - - o -
(1) 001742 .TRPTAB:

(3) 104400 ADVANCE=TRAP+{ ;CALL TO ADVANCE TO NEXT TEST( OR SCOPE THIS ON?)
(2) 001742 006410 -ADVANCE

(3) 1044601 SCOP1=TRAP+1 sCALL TO LOOP ON CURREMT DATA HANDLER

(2) 061744 004650 .SCOP1

(3) 104402 TYPE=TRAP+? ;CALL TO TELETYPE OQUTPUT ROUTINE

(2) 001746 004674 .TYPE

(3) 104403 INSTR=TRAP+3 sCALL TO ASCII STRING INPUT ROUTINE

(2) 001750 005514 . INSTR

(3) 104404 INSTER=TRAP+4 ;CALL TO INPUT ERROR HANDLER

(2) 001752 005620 . INSTER

(3) 104405 PARAM=TRAP+5 sCALL TO NUMERICAL DATA INPUT ROUTINE

(2) 001754 005640 . PARAM

(3) 104406 SETFLG=TRAP+§ ;CALL TO SET FLAG ROUTINE

(2) 001756 010252 .STIFLG

(3) 104407 SAV05="RAP+7 ;CALL TO REGISTER SAVE ROUTINE

(2) 001760 006040 . SAVQS

(3) 104410 RESO5=TRAP+i0 ;CALL TO REGISTER RESTORE ROUTINE

(2) 001762 006100 .RESO5

(3) 104411 CONVRT=TRAP+11 - ;CALL TO DATA OUTPUT ROUTINE

(2) 001764 006132 . CONVRT

(3) 104412 CNVRT=TRAP+12 :CALL TO DATA OUTPUT ROUNTINE WITHOUT CR/LF.
(2) 001766 006136 .CNVRT

(3) 104413 DEVICE.CLR=IRAP+13 ;CALL TO ISSUE A DEVICE CLEAR

(2) 001770 006336 .DEVICE.C(LR

(3) 104414 DELAY=TRAP+14 ;CALL TO DELAY FOR FAST (PU'S

(2) 001772 006370 .DELAY

(3) 104415 PARMD=TRAP+15 ;CONVERT DECIMAL STRING TO OCTAL

(2) 001774 011256 .PARMD

(3) 106416 PAWCH=TRAP+°6 :SET FLAG ECHO OR CABLE

(2) 001776 010372 .PAWCH

(3) 106417 DCLASM=TRAP+17 ;CLEAR DEVICE, SET MAINT. BIT IF I MODE

(2) 002000 006356 .DCLASM

(3) 104420 SHIFT=TRAP+20 ;CALL TO ROTATE LINE POINTER

(2) 002002 006422 CSHIFT

(3) 104421 LPRSET=TRAP+21 ;CALL TO SET UP LPR DEVICE REGISTER

(2) 002004 006440 .LPRSET

(3) 104422 BUFSET=TRAP+22 sCALL TO 2£RO BUFFER AREA

g%; 002006 006500 .BUFSET

ay . eeecscsccescccecscsssscecccen s e S secStocAcaatATA eSS TUSESRes STesee-
(1) ::t**ttttttttl‘itﬁitittttt&‘lttl‘t!tl’t'*tt'ﬁitt*ttﬁ*ttttitittttiitttttttt
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(1) +D2ZVv11 VECTOR AND REGISTER INDIRECT POINTERS
é}; JWORKING AREA il
(1) 002010 160040 DZVCSR: 1600640 ;R/W
(1) 002012 160041 HDZVCSR 160041 ;R/W
(1) 002014 160042 DZVRBUF : 160042 ;READ ONLY
(1) 002016 160043 HDZVRBUF : 160043 :READ ONLY
(1) 002020 160042 DZVLPR: 160042 :WRITE ONLY
(1) 002022 160043 HDZVLPR:160043 :WRITE ONLY
(1) 002024 160044 DZVTCR: 160044 :R/W
(1) 002026 160045 HDZVTCR:160045 :R/W
(1) 002030 160046 DZVMSR: 160046 READ ONLY
(1) 002032 160047 HDZVMSR:160047 ;READ ONLY
(1) 002034 160046 DZVTDR: 160046 WRITE ONLY
g}; 002036 160047 HDZVTDR:160047 ;WRITE ONLY
g}; :DEFAULT D2V VECTORS
(1) 002040 000300 DZVRIV: 300 sREC INTR VECTOR
(1) 002042 0060302 DZVRIS: 302 :REC_INTR STATUS
(1) 002044 000304 DZVTIV: 304 :XMIT INTR VECTOR
g}; 002046 000306 DZVTIS: 306 ;XMIT INTR STATUS
)
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(1)
a ;TIME TABLE FOR RELATIVE TIMING TESTS
(1)
(1) 002050 TMTBL:
(1) 002030 000000 150: 0 .
(1) 002032 000000 175: 0
(1) 002054 000000 1710: 0
(1) 002056 000000 113: 0
(1) 002060 000000 1150: 0
(1) 002062 000000 1300: 0
(1) 002064 000000 1600: 0
(1) 002066 000000 11200: 0
(1) 002070 000000 11800: 0
(1) 002072 000000 12000: 0
(1) 002074 €09000 12600: 0
(1) 002076 0C0000 13600: 0
(1) 002100 900000 14800: 0
(1) 002102 000000 17200: 0
(1) 002104 000000 19600: 0
(1) 002106 000000 TEIGHT :0
(1) 002110 0C0000 TSEVEN: 0
(1) 002112 000000 TSIX: 0
(1) 002114 000000 TFIVE: 0
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)
(N :PROGRAM INITIALIZATION
(1) :LOCK OUT INTERRUPTS
(1) :SET UP PROCESSOR STACK
(1) +SET UP POWER FAIL VECTOR
(1) <CLEAR PROGRAM CONTROL FLAGS AND COUNTS
2}; sTYPE TITLE MESSAGE
(1) 002116 .START:
(1) 002116 000005 RESET :CLEAR THE WORLD. START NEW ENVIRONMENT
(1) 002120 012706 001120 MOV #STACK,SP sSET UP STACK
(1) 002124 106427 000200 MTPS #MASK :LOCK OUT INTERRUPTS
(1) 002130 012737 007414 MOV #SPWRDN, a# 24 :SET UP POWER FAIL VECTOR
(1) 002136 012737 006522 MOV #$ERROR,EMTVEC ;SET UP ERROR VECTOR
(1) 002144 012737 000340 MOV #340,EMTVEC+2
(1) 002152 005037 001126 CLR $PASS :CLEAR PASS COUNT
(1) 002156 105037 001247 CLRB $ERFLG :CLEAR ERROR FLAG
(1) 002162 012737 001500 MOV #D2V.MAP ,ACTIVE ;GET MAP POINTER.
(1) 002170 012737 000001 MOV #1 ,RUN +POINT POINTER TO FIRST DEVICE.
(1) 002176 005037 001256 CLR SERTTL +CLEAR ERROR COUNT
(1) 002202 005037 001262 CLR $ERRPC -CLEAR LAST ERROR POINTER
(1) 002206 005037 001246 CLR STSTNM :SET UP FOR TEST 1
(1) 002212 012737 002116 MOV #.START,SLPADR ;SET UP FOR POWER FAIL BEFORE
(1) sTESTING STARTS
1) :SET FOR SMALL 11 SWITCH REGISTER COMPATIBILITY
(1) 002220 012737 000176 MOV #SWREG, SWR :POINT TO SOFTWARE SWR
(1) 002226 012737 000174 MOV #DISPREG,DISPLAY :POINT TO SOFTWARE DISPLAY REGISTER
(1) 002234 004737 017342 CALL FALCON : CHECK FOR FALCON (KXT11) : ;GPA
(1) 002240 001405 BEQ 10008 : BR IF NOT ; ;GPA
(1) 002242 004737 000570 CALL FALCINI : YES, INIT FOR FSLCON : ;GPA
(1) 002246 042737 000040 BIC #40,EMTVEC+2 : LOWER EMT TO 6. 2 ;GPA
(1) 002254 10008: : :GPA
(1) 002254 105737 001422 TST8 INIFLG :HAVE WE ALREADY BEEN HERE TODAY?
(1) 002260 001010 BNE 108 <IF SO, SKIP PRINTING THE TITLE
(1) 002262 023727 000042 CMP aNé2,#SENDAD :IF RUNNING UNDER ACT
(1) 002270 001402 BEQ 18 sDON'T PRINT TITLE
(1) 002272 104402 003000 TYPE JMTITLE sPRINT THE DIAGNOSTIC'S TITLE
(1) 002276 105337 001422 1$: DECB INIFLG :SET THE ONCE ONLY FLAG
(1) 002302 105737 001141 10$: TST8 SENVM <DETERMINE WHETHER APT SIZING SHOULD BE DONE
(1) 2306 100004 BPL 158 -1IF NOT, GO CHECK FOR AUTO-SIZING
(1) 002310 004737 011260 JSR PC,SETAPT :OTHERWISE, GO DO APT SIZING FROM ETABLE
(1) 002314 000137 003630 JMP 105$ :GO PRINT D2V STATUS 7'BLE
(1) 02320 005737 000042 158: TST an62 : CHAINED UNDER XXDP ?? : :GPA
(1) 002324 001404 BEQ 163 : BR IF NOT : :GPA
(1) 002326 004737 011260 CALL SETAPT s YES, SET-UP FROM ETABLE :;GPA
(1) 002332 000137 003630 JMP 105% + AND PROCEED ::GPA
(1) 002336 004737 007176 16$: CALL GETSWR s GET INITIAL SWITCH SETTING. ;:GPA
(1) 002342 032777 000001 BIT #SW00,aSWR ;RESELECT ?
(1) 002350 001002 BNE 20% :1F YES, GO SET UP THE INFORMATION
(1) 002352 000137 002654 JMP 55% :1F NO, SKIP THE INTERROGATION
(1) 002356 012700 001500 208 : MoV #DZV.MAP RO -POINT TO THE BEGINNING OF THE MAP TABLE
(1) 002362 105037 001423 CLRB HDRFLG sMAKE SURE A MAP GETS PRINTED
(1) 0023 005020 25$: CLR (RO)+ ;CLEAR A TABLE LOCATION
(1) 002370 020027 001740 CMP RO, #DZV.END :HAVE THE TABLE BOUNDARIES BEEN EXCEEDED?
(1) 002374 001374 BNE 25§ +IF NOT ,CLEAR THE NEXT LOCATION IN THE TABLE
(1) 002376 105337 001422 DECB INIFLG +INSURE NO AUTO SIZING IF QUESTIONS ANSWERED'
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1)
(1) :THE FOLLOWING ARE PARAMETERS USED TO FILL IN THE MAP
g}; STABLE AND SET UP THE DIAGNOSTIC.
(1) ;GET THE BASE ADDRESS OF THE DZV11'S
(1) 002402 GETCSR= . ; POINTER FOR FALCON TWEAKER : :GPA
(2) 002402 104403 INSTR sCALL THE STRING INPUT ROUTINE
(2) 002404 003074 91% :POINTER TO MESSAGE TO BE PRIMTED
(2) 002406 104405 PARAM sCALL THE OCTAL TC ASCII CONVERT ROUTINE
(2) 002410 160000 160000 :LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002412 163770 163770 :HIGHEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002414 001500 DZCRO :POINTER TO MAP LOCATION TO BE FILLED
(2) 002416 007 .BYTE 7 ;MASK OF INVALID BITS FOR THIS PARAMETER
(2) 002417 001 BYTE 1 :NUMBER OF PARAMETERS TO STORE
g}; 002420 013737 001500 001174 MOV DZCRO, $BASE ;COPY BASE ADDRESS TO ETABLE
(1) :GET _THE BASE VECTOR ADDRESS
(1 002426 GETVEC= . POINTER FOR FALCON TWEAKER ::GPA
(2) 002426 104403 INSTR :CALL THE STRING INPUT ROUTINE
(2) 002430 003140 92% :POINTER TO MESSAGE TO BE PRINTED
(2) 0026432 104405 PARAM sCALL THE OCTAL TO ASCII CONVERT ROUTINE
(2) 002434 000300 300 ;LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002436 000776 776 :HIGHEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002440 001502 DZVvCo :POINTER TO MAP LOCATION TO BE FILLED
(2) 002442 003 .BYTE 3 ;MASK OF INVALID BITS FOR THIS PARAMETER
(2) 002443 001 .BYTE 1 :NUMBER OF PARAMETERS TO STORE
E}; 002444 013737 001502 001170 MOV DZVCO0,S$VECT? :COPY VECTOR TO ETABLE
(1) :GET THE MODE OF OPERATION (E,I,S)
(2) 002452 104403 INSTR ;CALL THE STRING INPUT ROUTINE
(2) 002454 003367 96% ;POINTER TO THE MESSAGE TO BE PRINTED
(2) 002456 104406 SETFLG sCALL THE MAINTENANCE FLAG SETUP ROUTINE
2%; 002460 001510 MANTO :THIS IS THE FLAG BEING SETUP
Q1) :GET THE NUMBER OF DZV11°'S RUNNING
(2) 002462 104403 INSTR ;CALL THF _STRING INPUT ROUTINE
(2) 002464 003324 95% :POINTER TO MESSAGE TO BE PRINTED
(2) 002466 104405 PARAM sCALL THE OCTAL TO ASCII CONVERT ROUTINE
(2) 002470 000001 1 ;LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002472 000020 16. :RIGHEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002474 001344 $TMP1 :POINTER TO MAP LOCATION TO BE FILLED
(2> 002476 000 BYTE O :MASK OF iNVALID BITS FOR THIS PARAMETER
Eg; 002477 001 .BYTE 1 :NUMBER OF PARAMETERS TO STORE
(1) 002500 012737 000017 001504 MOV #17,LINEO sSET UP DEFAULT LINES
(1) 002506 012737 017470 001506 MOV #17470,PARO :SET UP DEFAULT LPR PARAMETER
(1) :RECEIVER ON; 19.2 KBAUD; 2STOP BITS; 8 BIT/CHAR
(1) 002514 032777 000010 176562 BIT #SW03,3SWR ;D0 YOU WANT PARAMETERS?
(1) 002522 001402 BEQ 308 ;IF NO, SKIP THE PARAMETER CALL
(1) 002524 004737 002704 JSR PC,65$ :GET PARAMETERS
(1) 002530 012737 000001 001410 30$: MOV #1,SAVACTV ;INITIALIZE ACTIVE DEVICE SELECTION PARAMETER
(1) 002536 113737 001344 001414 Movs $TMP1,DZVNUM ;COPY THE NUMPER OF DEVICES
(1) 002544 005337 001344 358: DEC S$TMP1 ;$TMP1 CONTAINS THE COUNT OF UNINITIALIZED
(1) 002550 001404 BEQ 408 : SELECTED DEVICES
(1) 002552 000261 SEC sSET A BIT FLAG TO INDICATE AN ACTIVE DEVICE
(1) 002554 006137 001410 ROL SAVACTV :POINT TO THE NEXT DEVICE
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(1) 002560 000771 BR 358 ;60 DO THIS PROCEDURE AGAIN
(1) 002562 013737 001410 001346 40$: MOV SAVACTV.$TMP2  :# OF TIMES
(1) 002570 012700 001500 MOV #DZCRO,RO *SET A POINTER TO THE SPECIFIED INFORMATION
(1) 002574 012701 001512 MOV #DZCR1.R1 *POINT R1 TO THE REST OF THE MAP TABLE
(1) 002600 012702 001204 MOV #$DDWO R2 :POINT TO ETABLE'S DEVICE DESCRIPTOR WORDS
(1) 002606 000241 cLC YINITIALIZE THE ''C'* BIT FOR A ROTATION
(1) 002606 006037 001346 ROR $TMP? :SKIP MAPPING SETUP FOR DEVICE O~ IT'S DONE
(1) 002612 006237 001346 458:  ASR $TMP? *ISOLATE A SELECTION FLAG IN THE ''C'* BIT
(1) 002616 103404 BCS 508 1S THIS DEVICE SELECTED? IF YES, GO LOAD TABLE
(1Y 002620 012711 177777 MOV #-1,(R1) *TERMINATE THE LIST
(1) 002624 000137 003572 JMP 1008 260 TO THE NEXT BLOCK
(1) 002630 012011 508: MOV (RO)+, (R1) *ADDRESS
(1) 002632 062721 000010 ABD #10, (R1) ¢+ *POINT TO THE NEXT D2V11 ADDRESS VALUE
(1) 002636 012011 MOV (ROJ+, (R1) “VECTOR
(1) 002640 062721 000010 ADD #10,(R1)+ :POINT TO THE NEXT VECTOR VALUE
(1) 002644 012021 MOV (RC)+, (R1)+ SLINES
(1) 002646 012021 MOV (RO)+. (R1)+ *PARAMETERS
(1) 002650 (12021 MOV (RO)+. (R1)+ *MAINTENANCE MODE
(1) 002652 000757 BR 45%
(1) 002654 032777 000010 rsg:  BIT #5403, 3SWR :ASK PARAMETERS ?
(1) 002662 (01002 BNE 608 *IF NO. GO DO AUTO SIZING
(1) 002664 000137 003572 JMP 1008 26O SET UP FOR AUTO SIZING
(1) 002670 004737 002704 608:  JSR PC,65% *GO ASK PARAMETERS
(1) 0026746 105337 001422 DECB  INIFLG “INSURE NO AUTO SIZE IF QUESTIONS ANSWERED
g}g 002700 000137 003630 . 105% 1GO TO THE NEXT BLOCK
f}; ;GET THE ACTIVE LINES PARAMETER
(1) 002704 658:
(2) 002704 104403 INSTR :CALL THE STRING INPUT ROUTINE
(2) 002706 003201 938 *POINTER TO MESSAGE TO BE PRINTED
(2) 002710 104405 PARAM *CALL THE OCTAL TO ASCII CONVERT ROUTINE
(2) 002712 000001 1 *LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002714 000017 17 *HIGHEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 002716 001504 LINEO *POINTER TO MAP LOCATION TO BE FILLED
(2) 002720 360 .BYTE 360 ‘MASK OF INVALID BITS FOR THIS PARAMETER
(2) 002721 001 BYTE 1 ‘NUMBER OF PARAMETERS TO STORE
g}; 002722 105037 001423 CLRB  HDRFLG ‘MAKE SURE THE CHANGES ARE PRINTED
(1 :THIS SEGMENT CHECKS TO MAKE SURE THE LINE PARAMETER JUST ENTERED
:}; 1S LEGITIMATE IN STAGGERED MODE OPERATION IF THAT MODE WAS SELECTED
(1) 002726 005737 001510 ST MANTO ;1S STAGGERED THE MODE OF OPERATION?
(1) 002732 100021 BPL 858 *1F NOT, SKIP THIS SEGMENT
(1) 002734 013703 001504 MOV LINEO,R3 *GET A SCRATCH COPY OF THE ACTIVE LINES
(1) 002740 006003 708:  ROR R3 ‘GET A LINE SELECTION BIT(EVEN NUMBER LINE)
(1) 002742 103410 BCS 808 SIF IT IS SELECTED, CHECK TO SEE IF THE NEXT IS TOO
(1) 0C°744 001414 BEQ 85$ *IF ALL HAVE BEEN CHECKED, CONTINUE PROCESSING
(1) 002746 006203 ASR R3 “IF IT 1S 0.CHECK TO SEE IF THE NEXT IS Y00
(1) 002750 103373 BCC 708 YIF THIS ONE'S 0 TOO, GO CHECK THE NEXT PAIR
(1) 002752 104402 001356 75¢:  TYPE  ,S$QUES *THIS 1S AN INCORRECT PARAMETER
(13 002756 104402 (010176 TYPE  .MBADLN *LET THE USER KNOW ABOUT IT
(1) 002762 000750 BR 658 ‘GO GET THE CORRECT PARAMETER
(1) 002764 001772 80%:  BEQ 75% “IF ANOTHER FLAG ISN'T SET. THERE'S AN ERROR
(1) 002766 006203 ASR R3 “GET THE NEXT FLAG
(1) 002770 103370 BCC 758 “IF IT ISN'T SET, THERE'S AN ERROR




N 3
CVDZA-C MACY11 30G(1063) 10-AUG-81 11:08 PAGE 25-20

CVDZAC.P11 10-AUG-81 10:55 PROGRAM INITIALIZATION AND START UP. SEQ 0039
(1) 002772 000241 cLe SINITIALIZE THE ''C'* BIT FOR TESTING OF THE NEXT PAIR
g}; 002774 000761 BR 708 160 TEST THE NEXT PAIR OF FLAGS
ﬁ%g :GET THE LINE PARAMETER REGISTER ARGUMENT
(1) 002776 85$:

(2) 002776 104403 INSTR ;CALL THE STRING INPUT ROUTINE

(2) 003000 OC3254 943 ‘POINTER TO MESSAGE TO BE PRINTED

(2) 003002 104405 PARAM ;CALL THE OCTAL TO ASCII CONVERT ROUTINE
(2) 003004 000000 0 ‘LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(2) 003006 000017 17 ‘HIGHEST LEGITIMATE VAL'E OF EXPECTED RESPONSE
(2) 003010 001506 PARO *POINTER TC MAP LCCATION TO BE FILLED

(2) 003012 000 .BYTE 0 MASK OF INVALID BITS FOR THIS PARAMETER
(2) 003013 001 BYTE 1 *NUMBER OF PARAMETERS TO STORE

(1> 003014 012702 00.5% MOV #LINEO,R2 ‘POINT TO THE LINE SELECTION PARAMETER
(1) 003020 012703 001506 MOV #PARQ,R3 POINT TO THE CHOSEN PARAMETERS

(1) 003024 011304 MOV (R3) ,R4 USE BAUD RATE AS AN INDEX IN DELAY TABLE
(1) 003026 0063C4 ASL R4 ALIGN INDEX ON WORD BOUNDARY

(1) 003030 016437 017302 006406 MOV D' YTBL(R4), DLYCNT :SET THE DELAY CCUNT FOR THIS BAUD RATE
(1) 003036 000313 SWAB  (KS3) :PLACE IN HIGH BYTE

(1) 003040 052713 010070 BIS #10070, (R3) ‘PLACE EXTRA PARAM:TERS INTO LOC

(1) 0030446 011262 000012 908: MOV (R2).12(R2) *LOAD THE LINES

(1) 003050 011363 000012 MOV (R3).12(R3) SLCAD THE PARAMETERS

(1) 003054 062702 000012 ADD #12.R2 *POINT TO THE NEXT SET

(1) 003060 062703 000012 ADD #12.K3 t .. OF BOTH PARAM:TERS

(1) 003064 020327 001734 CMP R3,#PAR17 *HAVE THE TABLE BOUNDARIES BEEN EXCEEDED?
(1) 0030?0 001365 BNE 0 :1F NOT, GO LOAD S(.ME MORE PARAMETERS

(1) 003072 J00207 RTS *RETURN TO CALLING BLOCK

(1) 003074 030600 052123 041440 918: .ASCIZ <200>/1sr €S} ADDRESS (160000:163770): /

(1) 003140 030600 052123 053040 92$: "ASCIZ <200>/1ST VECTOR ADDRESS (300:770). /

(1) 003201 200 044514 042516 93S: "ASC1Z <200>/LINES ACTIVE BY BIT <IN OCTAL>(001:17): /

(1) 003254 042200 043105 052501 94$: .ASCIZ <200>/DEFAULT BAUD RATE <IN OCTAL>(00: 17): /7

(1) 003324 021600 047440 020106 95$: "ASCIZ <200>/# OF DZV11'S <IN OCTAL> (1:20): /

(1) 003367 200 040515 047111 96$: "ASCII  <200>/MAINTENANCE MODE/

(1) 003410 020200 042533 052130 CASCIT <200>/ CEXTERNAL <H325> (E)1/

(1) 003444 020200 044533 952116 "ASCI] <200>/ CINTERNAL <DZVCSR03=1>(1)1/

(1) 003501 200 055440 052123 CASCIZ <200>/ CSTAGGERED <H329> ($)1: /

(1) 003540 042600 052116 051105 97$: "ASCIZ <200>/ENTER DELAY PARAMETER: /

(1) 003572 .EVEN

(1) 003572 1008 :

(1) 003572 122737 000377 001422 CMPB #377,INIFLG °0NLY DO AUTO SIZE ON 1ST START

(1> 003600 001013 BNE 105$

(1) 003602 032777 000200 175474 BIT #81T7,3SWR 1BIT7=12?

(1) 003610 001007 BNE 105$ ‘BR IF NO AUTO S!ZE

(1) 003612 005737 017356 TST KXTFLAG : FALCON ?2? : :GPA

(1) 003616 001402 BEQ 10028 SKIP ~Exr IF NOT. : GPA

(1) 003620 000137 002356 JMP 208 * YES, DON'T AUTO-SIZE. < sGPA

(1) 003624 10028 : :;GPA

(1) 003624 004737 031406 JSR PC,AUTO.SIZE ;GO DO THE AUTO SIZE

(1) 103630 105737 001423 1058: TSTB  HI'RFLG *HAS THE TABLE BEEN TYPED YET?

(1) 003634 001021 BNE 12''$ “IF SO, DON'T TYPE IT AGAIN

(1) 003636 105337 001423 DECB  HDNFLG *INDICATE THAT THE TABLE WILL BE TYPED
(1) 003642 104402 010150 TYPE  ,XHEAD ‘TYPE MAP HEADER

(1) 0034646 012700 001500 MOV #DZV.MAP,RO *SET POINTER

(1) 003652 010037 001344 1108: MoV RO, $TMP1 *POINT TO THE MAP LOCATION

(1) 003656 012037 001346 MOV (RO)+,$TMP2 *SLT DATA
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003662
003676
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003700
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003714
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003724
003724
003726
003730
003732
003734
003736
003740
003741
003742
003750
003752
003756
003760
003764
003772
003776
004000
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004014
004016
004020
004022
004024
004026
004039
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004066
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004072
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022737
001403
106411
010240
000765
013737
113737
032777
001431

104403
010066
104405
000001
177777
001406

000

0C1
023737

022700
001364

012706
106427

177777

001406
007740
001416
001406
001344
001416

000020

000300
000302

017356
000400

001000

001120
000200

001346

-0
NOO
N—
(v Xl
=0
a¥ 1o o ]

001410

001344

175270
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B 4

PROGRAM INITIALIZATION AND START UP.

CMP
BEQ
CONY
XSTA
BR
MOV
mMovse
BIT
BEQ

INST
MNEW

115%:

1208 :

121$:

RT
T0

R

qARAH
177777

DZVA
BYT
BYT
CHP
BLOS
TYPE
BR
1228%:

1268:

MOV
ASR
BCC
INCB
BNE
BIT
BEQ
INST
97%

127%:
135%:

cTv
E
E

CLRB

R

PARAM

1
1777

77

DLYCNT

.BYT
.BYT
MOV
MOV
MOV
CLR
CMP
TST
BEQ

rMP

402
1001$:

CMP

BNE

s TEST START

140$:
145%:

E
E

#-1,8TMP2
1208

110$

SAVACTV,DIVACTY .

DZVNUM,SAVNO

#SW06,aSWR
135%

SAVNO

DZVACTV,$TMP1

STMF1

127%

SAVNO

126$

#SW04 ,aSWR
1408

#10C0,RO
1458

BEGIN: MOV
MTPS

RESTART

#STACK,SP
#MASK

;END OF LIST?

:BR IF YES

;CALL THE OCTAL TO ASCII CONVERSION ROUTINE
:CUNVERT THE DATA AT TNHIS ALDRESS

;G0 PRINT THE NEXT PARAMETER

<COPY BIT MAP OF SYSTEM DEVICES ACTIVE
;COPY NO. OF SYSTEM DEVICES ACTIVE
:DESELECT SPECIFIC DEVICES??

:BR IF NO.

sCALL THE STRING INPUT ROUTINE

:POINTER TO MESSAGE TO BE PRINTED

JCALL THE OCTAL TO ASCII CONVERT ROUTINE
;LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
*HIGHEST LEGITIMATE VALUE OF EXPECTED RESPONSE
*POINTER TO MAP LOCATION TO BE FILLED

tMASK OF INVALID BITS FOR THIS PARAMETER
:NUMBER OF PARAMETERS TO STORE

;1S THE VALUE VALID?

:BRANCH IF YES

;IF NOT THEN TYPE ERROR

;GO REASK QUESTION

sCLEAR NO, OF DEVICES BEING TESTED

;COPY BIT MAP OF ACTIVE DEVICES BEING TESTED
:SHIFT OUT AN ACTIVE BIT

:IF NOT ACTIVE SKIP INCREMENT

:1F ACTIVE RECORD IT

:IF ALL ACTIVE BITS RECORDED DON'T BRANCH
;CHECK TO SEE IF DELAY COUNT CHANGES

:IF NOT, GO CLEAR VECTOR AREA

:CALL THE STRING INPUT ROUTINE

:POINTER TO MESSAGE TO BE PRINTED

sCALL THE OCTAL TO ASCII CONVERT ROUTINE
:LOWEST LEGITIMATE VALUE OF EXPECTED RESPONSE
SHIGHEST LEGITIMATE VALUE OF EXPECTED RESFONSE
:POINTER TO MAP LOCATION TO BE FILLED

:MASK OF INVALID BITS FOR THIS PARAMETER
:NUMBER OF PARAMETERS TO STNRE

;PREPARE TO CLEAR THE FLOATING

;VECTOR AREA. 300-77

:START PUTTING "PC+2 - HALT''

:IN VECTOR AREA.

;POP PCINTERS

; IF FALCON... s :GPA
; :GPA
:...STOP AT 400, : :GPA
: SKIP NEXT : sGPA
::GPA

:ALL DONE??
;BR IF NO.

;SET UP STACK
sLOCK OUT INTERRUPTS

SEQ 0040

-
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CVDZAC.PI 10~AUG-81 10:55 PROGRAM INITJALIZATION AND START UP. SEQ 0041

(1) 004106 005737 000042 TST -1 LY ;1S PROGRAM UNDER MONITOR CONTROL
(1) 004110 001015 8NE 28 ;B8R IF YES
(1) 004112 032777 000004 175164 BIT #BIT2,aSWR sCHECK FOR LOCK ON TEST
(1) 006120 001406 BEQ 18 ;BR _IF NO LOCK DESIRED.
(1) 006122 104402 007764 TYPE MLOCK sTYPE LOCK SELECTED.
(1) 006126 012737 0002640 004416 MOV #NOP, TTST sADJUST SCOPE ROUTINE.
(1) 0064134 000403 8R 2$ s CONTINUE ALONG.
(1) 006136 013737 004644 004416 18: MOV BRW,TTST sPREPARE NORMAL SCOPE ROUTINE
(1) 004164 012737 010552 001252 ¢28: MOov NCYCLE ,$LPADR  ;START AT "‘CYCLF'' FIND WHICH DEVICE TO TEST
(1) 004152 113737 001416 001415 MOovB SAVNO, SAVNUM ;COPY ACTIVE DEVICES BEING TESTED
(1) 004160 104402 007655 TYPE MR sTYPE 'RUNNING'
(1) 004164 000177 17506¢ JMP aSLPADR :START TESTING

3028 ::sGPA  PRGEND DZV11,<END PASS CVDZA-B8 >,10.
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CVDZAC.P11  10-AUG-81 10:55 END OF PASS ROUTINE SEQ 0042
3029 :EN" OF PASS
(2) STYPE NAME OF TEST
(2) SUPDATE PASS COUNT
(2) SCHECK FOR EXIT TO ACT=11
(2) RESTART TEST
ggg .SBTTL END OF PASS ROUTINE
(l.) tttitttttttttttttttttttttttttttttttttttttttttttttttttttttttt'tt
(3) "% INCREMENT THE PASS NUMBER (SPASS)
(3) ‘«]F THERES A nonxron GO TO IT
gg; ‘«]F THERE ISN'T JuMP TO CYCLE
(3) 004170 $EOP:
(5) 004170 000004 SCOPE
(5) 004172 005037 001262 CLR $ERRP(C :CLEAR LAST ERROR PC
(5) 004176 105037 001247 CLRB  SERFLG ‘CLEAR ERROR FLAG
(5) 004202 104402 007531 TYPE  ,MEFASS STYPE END PASS
(5) 004206 104402 010013 TYPE  .MCSRX *TYPE CSR
(5) 004212 104412 004354 CNVRT  .XCSR SSHOW IT
(5) 004216 104402 010021 TYPE  .MVECX *TYPE VECTOR
(5) (04222 104412 604362 CNVRT  XVEC ‘SHOW IT
(8) 004226 005237 00112 INC $PASS “RAISE PASS COUNT
(5) 004232 104402 010027 TYPE  ,MPASSX *TYPE PASSES
(5) 004236 104412 004370 CNVRT . XPASS SSHOW IT
(5) 004242 005337 001126 DEC $PASS *RESTORE PASS COUNT
(5) 004246 104402 010040 TYPE  ,MERRX : TYPE ERRORS
(5) 004252 104412 004376 CNVRT  .XERR SSHOW (T
(5) 004256 005237 001130 INC $DEVCT ;INC CEVCNT FOR APT
(5) 004262 105337 001415 DECB  SAVNUM *ARE ALL DEVICES TESTED?
(5) 004266 001030 BNE $DOAGN ‘B8R IF NO.
(5) 004270 113737 001416 MOVB  SAVND,SAVNUM  :RESTORE THE COUNT
(3> 004276 005037 001354 CLR $TIMES +:ZERO THE NUMBER OF ITERATIONS
(3) 004302 005237 001126 INC $PASS *SINCREMENT THE PASS NUMBER
(3) 004306 042737 100000 BIC c1ooooo $PASS  ::DON'T ALLOW A NEG. NUMBER
(3) 004314 005327 DEC (PC) + : :LOOP?
(3) 004316 000001 $EOPCT: .WORD 1
(3) 004320 003013 BGT $DOAGN ::YES
(3) 004322 012737 MOV (PC)+,8(PC)+  ;;RESTORE COUNTER
(3) 0043264 000001 $SENDCT: .WORD 1
(3) 004326 004316 $EOPCT
(3) 004330 013700 000042 $GET42: MOV axs2 RO ::GET MONITOR ADDRESS
(3) 004334 001405 BEQ $DOAGN *BRANCH IF NO MONITOR
(3) 004336 000005 RESET *:CLEAR T+E WORLD
(3) 006340 004710 SENDAD: JSR PC. (RO) 2260 TO MONITOR
(3) 006342 000240 NOP 2 *SAVE ROOM
(3) 004344 000240 NOP $SFOR
(3) 004346 000240 NOP SSACTI
(3) 004350 $DOAUN:
(3) 004350 000137 JMP a(PC)+ : ;RETURN
53; 004352 010552 SRTNAD: .WORD  CYCLE
(2) 004354 000001 XCSR: 1
(2) 004356 006 002 .BYTE 6,2
(2) 0046360 002010 DZVCSR
(2) 004362 000001 XVEC: 1
(2) 0043664 003 002 .BYTE 3,2
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CVDZAC.P11 10-AUG-81 10:55 END OF PASS ROUTINE SEQ 0043
(2) 004366 002040 DZVRIV
(2) 004370 000001 XPASS: 1
(2) 004372 006 002 .BYTE 6,2
(2) 004374 001126 $PASS
(2) 004376 000001 XERR: 1
(2) 006400 006 002 .BYTE 6,2
25; 004402 001256 SERTTL
%5; ;SCOPE_LOOP AND ITSRATION HANDLER
(2)
5%3 .SBTTL SCOPE HANDLER ROUTINE
(4) tttttttttttttttt"ittttttttttttlttttttttttttttttttttttttttttt't
(3) “%THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(3) *«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
(3) ‘eaND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(3) t«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(3) taSwl4=1 LOOP ON TEST
(3) teSW11=1 INHIBIT ITERATIONS
(3) :tCALL
§§§ it SCOPE ::SCOPE=10T
(3) 004404 $SCOPE:
(5) 004404 005037 001262 .SCOPE: CLR $ERRPC :CLEAR LAST ERROR PC.
(5) 004410 022716 012114 cMP #TST1+2,(SP) ;IS THIS THE SCOPE AT THE BEGINNING OF TST1?
(5) 004414 001413 BEQ $XTSTR “IF SO, DON'T LOOP ON IT
(5) 004416 000/ 6 TIST: BR 1s 1GOTO 18 (IF LOCK SW02=1; THIS LOC =240)
(5) 004420 105777 174664 TSTE8  as$TKS *KEYBOARD DONE?
(5) C.,4626 100067 BPL $OVER ‘BR IF NO. (LOCK: HIT KEY TO GOTO NEXT TEST)
(5) 00%.426 017766 174660 177776 MOV as$TKB,-2(SP)  :CLEAR DONE BIT
(3) 004434 032777 040000 174642 18: BIT #BIT14,aSWR ..LOOP ON PRESENT TEST?
(3) 004442 001060 BNE $CVER SYES IF SW14=1
(3) :MMARNSTART OF CODE FOR THE XOR TESTER#ANAN .
(3) 004444 000416 $XTSTR: BR 6$ ;5 1F RUNNING ON THE 'XOR'' TESTER CHANGE
(3) STHIS INSTRUCTION TO A 'NOP'' (NOP=240)
(3) 004446 013746 000004 MOV a#ERRVEC,-(SP) ::SAVE THE CONTENTS OF THE ERROR VECTOR
(3) 004452 012737 004472 000004 MOV #5S BNERRVEC  ::SET FOR TIMEOUT
(3) 004460 005737 177060 ST ar177060 ::TIME OUT ON XOR?
(3) 004464 012637 000004 MOV (SP)+,a#ERRVEC ::RESTORE 1HE ERROR VECTOR
(3) 004470 000436 BR $SVLAD *:60 TO THE NEXT TEST
(3) 004472 022626 58: CMP (SP)+, (SP)+ *:CLEAR THE STACK AFTER A TIME OUT
(3) 0044746 012637 000004 MOV (SP)+ . S#ERRVEC ..nssrone THE ERROR VECTOR
(3) 004500 000441 BR $OVER LOOP ON THE PRESENT TEST
(3) 004502 6$: : MMANNEND OF CODE FOR THE XOP' rssrenxpcxp
(3) 004502 105737 001247 28: TSTB  $ERFLG ::HAS AN ERROR O(CURRED?
(3) 004506 001404 BEQ 3$ S:BR IF NO
(3) 004510 105037 001247 48: CLRB  SERFLG :;ZERQ_THE_ERRIR FLAG
(3) 004514 005037 001354 CLR STIMES “CLEAR THE NUMBER OF ITERATIONS TO MAKE
(3) 004520 032777 004000 174556 3$: BIT #8IT11,aSwWR s INHIBIT ITCPATIONS?
(3) 004526 001011 BNE 18 2:8R IF YES
(3) 004530 005737 001126 ST $PASS ..IF FIRST PASS OF PROGRAM
(3) 004534 001406 BEQ 18 INHIBIT ITERATIONS
(3) 004536 005237 001250 INC $ICNT *INCREMENT ITERATION COUNT
(3) 004542 023737 001354 001250 CMP STIMES.SICNT - CHECK THE NUMBER OF ITERATIONS MADE
(3) 004550 002015 BGE $OVER ::BR IF MORE ITERATION REQUIRED
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004552
004560
004566

004632
004634
004642
004644
004646

004650
004656
004660
004664
004666
004672

004674
004702
004704
004710

004712

OOOOQO == =0
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112737

032777
001405
005737
001402
013716
000002

032777
001403
062716
000002

105737
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000001
004646
001246
001246
001252
001246
001252
007150
001424
001372

000010

001000
001364
001364

010000
000002

001323

000002
000001

000100

001250
001354

001124
174474

001424

174426

174402

001140
001141

:08 PAGE 25-25

SCOPE HANDLER ROUTINE

18:
$SVLAD:

$OVER:

4($s:
BRW:
$MXCNT:

.SCOP1:

1%:
.TYPE:

RTI
.SBTTL TYPE ROUTINE

MOV
MOV
INCB
MOV8
MOV
MOV
MOV
JSR
CLRB
TST
BNE
Mov8
RT1
406
5

#1,81CNT ;:REINITIALIZE THE ITERATION COUNTER
SMXCNT,STIMES  ;;SET NUMBER OF ITERATIONS TO DO
$TSTNM ;s COUNT TEST NUMBERS

STCTNM, STFSTN ;. SET TEST NUMBER IN APT MAILBOX
(SP) ,SLPADR s;SAVE SCOPE LOOP ADDRESS
STSTAM,@DISPLAY ;;DISPLAY TEST NUMBER

SLPADR, (SP) 2:FUDGE RETURN ADDRESS

PC,SERV.G sFIND QUT IF “G WAS TYPED
MNTFLG ;CLEAR THE MAINTENANCE BIT SETTER AFTER EACH TEST
MODE sHAS THE MODE BEEN CHANGED?

$ ;1F NOT INTERNAL , GO DO A TEST

4
#MAINT ,MNTFLG  :I1F INTERNAL MJODE NOW, SET THE MAINTENANCE BIT
;G0 DO THE TEST

:cMAX. NUMBER OF JTERATIONS

BIT
BEQ
TST
BEQ
MOV
RTI

BIT
BEQ
ADD

#5W09,3S5WR ;IS SW09=1(SET)?
1$ ;BR [F NOT SET.
LOCK ;1S THERE A TIGHT LOOP SPECIFIED?

1% sIF NO, RETURN

LOCK, (SP) :IF YES, GOTO THE ADDRESS IN LOCK.
;G0 BACK.

#SW12,aSWR JINHIBIT ALL PRINTOUT??

$TYPE ;IF NOT, GO TYPE

#2,(SP) :SKIP OVER MESSAGE POIN.ER

sRETURN TO WHERE PROCEDURE WAS INVOKED

::tttttttttttt*ttﬁﬁttt'tttt*tttttttttttttttt'tttttitttﬁtttitttiti

;*ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A O BYTE.
;*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.

J*NOTE?:
:*NOTEZ2:
s*NOTE3:
.

SaCALL:
‘x1) USI
. %

1 *0R
<

SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
$FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
$FILLC CONTAINS THE CHARACTER TO FILL AFTER.

NG A TRAP INSTRUCTION

TYPE

TYPE
MESADR

1S78
BPL
HALT
BR
MOV
MOV
CMPB
BNE
BIT8

+MESADR ;:MESADR IS FIRST ADDRESS OF AN ASFIZ STRING
$TPFLG ::1S THERE A TERMINAL?
1} ::BR IF YES
;:HALT HERE IF NO TERMINAL
3s s sLEAVE
RO,~-(SP) :2SAVE RO
82(SP) ,RO :2GET ADDRESS OF ASCIZ STRING

#APTENV, SENV : sRUNNING IN APT MODE
62% +2NO.GO CHECK FOR APT CONSOLE
#APTSPOOL ,$ENVM ;. SPOOL MESSAGE TO APT

SEQ 0044
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004750
004752

005042
005046
005052
005054

005076

005100
005104
005110
005116
005120
005122
005124
005124
005130
005132
005136
005142
005146
005150
005150
005154
005156
005162
005166
005172
005174
005174
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001405
010037
004737
000000
132737
001003
112046
001005
005726

013746

105366
002770
004737
105337
000770

112716
004737
132737
001372
005726
000724

105777
100022
017746
042716
122716
001012

122716
001366

005726

004762
005254

000040

000002
000011
000200

005242

005124
001322

001320
000001

005124
005242

0006’0
005124
000007

174160

1741564
177600
000023

174134
174130

177600
000021

001141

005242
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TYPE ROUTINE

BEQ
MOV
JSR
.WORD
8118
BNE
mMove
8NE
TST
MOV
ADD
RTI
CMPB
BEQ
CMPB
BNE
TST
TYPE
S$CRLF
CLRB
BR
JSR
CMPB
BNE
MOV

DECB
BLT
JSR
DECB
BR

;HORIZONTAL TAB

8$: MOVB

9% : JSR
BITI8
BNE
TST
BR

TSTE
SPL

61%:
628:

P ¥

60$:
3%:

6:

b} ¥
6$:

7%:

$TYPEC:

1018:

1028:

629
RO.61%
PC,SATY3

0
N#APTCSUP,SENVM
0$

6
(RO)+,-(SP)
43

(SP)+
(SP)+,R0
#2,(SP)

#HT , (SP)
$

8

#CRLF, (SP)
5%

(SP)+

$CHARCNT
2%

PC,S$TYPEC
$FILLC,(SP)+

2%

$NULL ,~(SP)
1(SP)

$

6
PC,$TYPEC
$CHARCNT
78

PROCESSOR

#* ,(SP)
PC,STYPEC
g?.SCHARCNT

$
(SP)+
2$

asTKS

108
as$TKkB,-(SP)
#177600., (SP)
#SXOFF , (SP)
102$

a$TKB, (SP)
#177600, (SP)
#$YN, (SP)
1018

(SP)+

::NO,GO CHECK FOR CONSOLE

::SETUP MESSAGE ADDRESS FOR APT
;:SPOOL MESSAGE TO APTY

2 :MESSAGE ADDRESS

::APT CONSOLE SUPPRESSED

::YES,SKIP TYPE OUT

:2PUSH CHARACTER TO BE TYPED ONTO STACK
22BR IF IT ISN'T THE TERMINATOR

::]F TERMINATOR POP IT OFF THE STACK
:sRESTORE RO

::ADJUST RETURN PC

: ;RETURN

:2BRANCH IF <HT>

:sBRANCH IF NOT <CRLF>

;:POP  <CR><LF> EQUIV
::TYPE A CR AND LF

::CLEAR CHARACTER COUNT

::GET NEXT CHARACTER

::60 TYPE THIS CHARACTER

::1S IT TIME FOR FILLER CHARS.?
::2]F NO GO GET NEXT CHAR.

:2GET # OF FILLER CHARS. NEEDED
:2AND THE NULL CHAR.

;:DOES A NULL NEED TO BE TYPED?
::BR IF NO=-=GO POP THE MJLL OFF OF STACK
;260 TYPE A NULL

::D0 NOT COUNT AS A COUNT

;. LOOP

::REPLACE TAB WITH SPACE
::TYPE A SPACE

;;BRANCH IF NOT AT

;:TAB STOP

:;POP SPACE OFF STACK
:2GET NEXT CHARACTER

:;CHAR IN KYBD BUFFER?
;:BR IF NOT

J:GET CHAR

::STRIP EXTRANEOUS BITS
J:WAS CHAR XOFF

::BR IF NOT

::WAIT FOR CHAR
::GET CHAR
$3STRIP IT
JsWAS IT XON?
;:BR IF NOT

;o FIX STACK

:MJD001
:MJD001
:MJD001
:MJD0O1
:MJD001
:MJDOOI
:MJDO0
:MJD001
:"JD001
:MJDO0
:MJDO0
:MJ0001
:MJD001
:MJDOO01
sMJDOO

SEQ 0045
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005246
005254
005262
005264
005272
005272
005274
005276
005302
005304
005312
005314
005322
005324
005330
005336
005342
005344
005350
063352
005354
005360
005362
005366
005374

005424
005430
005432
005436
005440
005444
005446
005454

10-AUG-81

163700
006200
010037
012737
000413
017637
062766
013746
004737
000000

105737
001416
005737
001413
005737
001375
017637
062766

10-AUG-81 M

10:55

174112

000002
000015

005242
000012

000001
000001

000001

005510
000001
000100
GJ0L04
000002
001120

001134

001134

001136
000004

000004
000002
177776
004712
005512
001140
001120

000004
000002

174104
000002

000002

005512
005510

005512

001140
001141

000004

001120

005422
000004

001122
000004

:08 PAGE 25-27

TYPE ROUTINE

10$:
1S78
8PL
MOVB
(MP8
BNE
rLRB
B8R
18: tMP8
BEQ
INCB
$CHARCNT : ,WORD
$TYPLX: RTS

a88TPS
S

10
2(SP) ,a$TPB
qu.Z(SP)

$CHARCNT
STYPEX
#LF,2(SP)
S$TYPEX
(PC)+

0

PC

;MJD001T

:sWAIT UNTIL PRINTER IS READY 15001
::LOAD CHAR TO BE TYPED INTO DATA REG.

25IS CHARACTER A CARRIAGE RETURN?

S:BRANCH IF NO

::g§§;-CL£AR CHARACTER COUNT

*2IS CHARACTER A LINE FEED?

“:BRANCH IF YES

P COUNT THE CHARACTER

3 CHARACTER COUNT STORAGE

.SBTTL APT COMMUNICATIONS ROUTINE

- ' 212223232232 2222333222X22223 2223232832322 X2 2322202 R ad2ddtRaRRddd

$ATY1:
$SATY3:

SATYS:
SATYC:

mMov8e
Movs
B8R

Mov8

MOV
MOV
TST8

18: TST

2s: T1ST8B

3s: MOV

AL
(=1 1 -]

118:

#1,8FFLG
#1,SMFLG
SATY(

#1,8FFLG

RO,=(SP)
R1,-(SP)
SMFLG

5%
gAPTENV.SENV

i
gAPTSPOOL.SENVH

$
@84 (SP) RO
SMSGTYPE

18
RO, SMSGAD
(RO)+

2%
$MSGAD,RO
RO

RO, SMSGLGT
#§.$HSGTYPE

5

34(SP) .48
#2.4(SP)
177776 .,=(SP)
Sc.srvps

$FFLG
12%
SENV

12$
SMSGTYPE

118
84 (SP) ,SFATAL
#2,4(SP)

;.70 REPORT FATAL ERROR
::70 TYPE A MESSAGE

::TO ONLY REPORT FATAL ERROR

::PUSH RO ON STACK
:2PUSH R1 ON STACK
::SHOULD TYPE A MESSAGE?
:;1F NOT: BR
:JOFERATING UNLER APT?
:2IF NOT: ER
2 :SHOULD SPOOL MESSAGES?
::IF NOT: BR
:;GET MESSAGE ADDR.

::BUMP RETURN ADDR.
;:SEE IF DONE W/ LAST XMISSION?
:2IF NOT: WAIT
;:PUT ADDR IN MAILBOX
::FIND END OF MESSAGE

:.SUB START OF MESSAGE

2;GET MESSAGE LNGTH IN WORDS
2sPUT LENGTH IN MAILBOX

s TELL APT TO TAKE Mdu.

::PUT MSG ADDR IN JSR LINKAGE
- -BUMP RETURN ADDRESS

::PUSH 177776 ON STACK

SSCALL TYPE MACRO

::SHOULD REPORT FATAL ERROR?
;:IF NOT: BR
J;RUNNING UNDER APT?
:21F NOT: BR
:2FINISHED LAST MESSAGE?
:21F NOT: WAIT
;:GET ERROR #
::BUMP RETURN ADDR.

SEQ 0046
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(2) 005462 005237 001120 INC SMSGTYPE ;s TELL APT TO TAKE ERROR
(2) 005466 105037 005512 128: CLRB SFFLG ;s CLEAR FATAL FLAG
(2) 005472 105037 005511 CLRB SLFLG :sCLEAR LOG FLAG
(2) 005476 105037 005510 CLRB SMFLG ;s CLEAR MESSAGE FLAG
(4) 005502 012601 MOV (SP)+,R1 :2POP STACK INTO R1
(4) 005504 012600 MOV (SP)+,RO ;;POP STACK INTO RO
(2) 005506 000207 RTS PC s :RETURN
(2) 005510 000 SMFLG: .BYIE ¢ s MESSG. FLAG
(2) 005511 000 SLFLG: .BYTE 0 ::LOG FLAG
(2) 005512 000 $FFLG: .BYTE 0 ;sFATAL FLAG
2) 005514 -EVEN
(2) 000200 APTSI2E=200
(2) 000001 APTENV=001
(2) 000100 APTSPOOL=100
2%; 000040 APTCSUP=040
2%; ;STRING INPUT ROUTINE
(1)
(1) 005514 010346 .INSTR: MOV R3,-(SP) sSAVE R3 ON STACK
(1) 005516 010646 MOV R4 ,=(SP) :SAVE R4 ON STACK -
(1) 005520 017637 000004 005536 MOV a4 (SP), .MSG sGET THE ADDRESS OF THE MESSAGE TO BE PRINTED
(1) 005526 062766 000002 000004 ADD #2,4(SP) sPOINT TO INSTRUCTION AFTER ADDRESS POINTER
(1) 005534 104402 JINST1: TYPE sPRINT THE MESSAGE
(1) 005536 000000 .MSG: 0 sMESSAGE IS POINTED TO FROM HERE
(1) 005540 012704 010446 MOV # INBUF ,R4 ;POINT R4 TO THE INPUT BUFFER
(1) 005544 012703 000007 MoV #7,R3 ;SET THE MAXIMUM NUMBER OF CHARACTERS ALLOWED
(1) 005550 105777 173534 1$: 1ST8 a$TKS sHAS A CHARACTER BEEN RECEIVED?
(1) 005556 100375 BPL 1$ s1F NO, KEEP WAITING FOR IT
(1) 005556 117716 173530 MOVv8 a$TkB, (R4) ;IF YES, SAVE IT IN THE INPUT BUFFER
(1) 005562 142714 000200 Bl(C8 #200, (R4) +KEEP ONLY THE 7-BIT ASCI] INFORMATION
(1) 005566 122427 000015 CMPB (R6)+ M5 ;1S THIS CHARACTER A LINE FEED? l
(1) 005572 001417 BEQ INSTRZ ;IF SO, TERMINATE THE INPUT SEQUENCE
(1) 005576 105777 173514 2$: TST8 a3TPS ;IF NOT, CHECK TO SEE IF THE CHARACTER CAN PRINT
(1) 005600 100375 BPL 2% sIF WE CAN'T, WAIT UNTIL WE CAN
(1) 005602 017777 173504 173506 MOV a$TKB,as$TPB ;ECHO THE CHARACTER BACK
(1> 005610 005303 DEC R3 ;REDUCE THE NUMBER OF CHARACTERS RECEIVED
(1) 005612 001356 BNE 1$ ;IF WE DON'T HAVE 7, GO GET SOME MORE
(1) 005614 012604 MOV (SP)+ R4 ;IF WE HAVE 7, RESTORE R4
(1) 005616 012603 MOV (SP)+,R3 ;RESTORE R3
(1) 005620 010346 .INSTE: MOV R3,-(SP) ;SAVE R3 ON THE STACK
(1) 005622 010446 MOV P~ ,=(SP) :SAVE R4 ON _THE STACK
(1) 005624 104402 001356 TYPF .$QUES sPRINT A QUESTION MARK... WHAT'S GOING ON?
(1) 005630 000741 BR JINST ;GO PRINT THE MESSAGE AGAIN
(1) 005632 012604 INSTR2: MOV (SP) +,R4 ;RESTORE R4
(1) 005634 012603 MOV (SP)+,R3 ;RESTORE R3
2}; 005636 000002 RTI ;RETURN TO THE MAIN PROCEDURE
g}; ;CONVERT ASCII STRING TO OCTAL
(1)
(1) 005640 010546 +PARAM: MOV RS ,=-{SP) :SAVE R5 ON THE STACK
(1) 005642 010446 MOV R4 ,=(SP) :SAVE R4 ON THE STACK
(1) 005644 016605 000004 Mov 4(SP) RS sGET THE SETUP INFORMATION POINTER
(1) 005650 012537 006030 MOV (R5)+,LOLIM ;SET THE LOW LIMIT FOR THE INPUT
(1) 005654 012537 006032 MOV (R5)+ ,HILIM ;SET THE KIGH LIMIT FOR THE INPUT
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(1) 005660 012537 006034 MOV (R5)+,DEVADR ;SAVE THE ADDRESS WHERE THE RESULT WILL BE STORED

) 005666 112537 006036 Mov8 (R5)+,LOBITS ;GET THE MASK OF THE INCORRECT BITS

) 005670 112537 006037 Movs (R5)+,ADRCNT ;GET THE COUNT OF ITEMS TO BE STORED

) 005674 010566 000004 MOV R5,4(SP) ;POINT TO WHERE MAIN LINE PROGRAM WILL R, WE

) 005700 005005 PARAM1: (LR RS sINITIALIZE THE ASCI] TO OCTAL RESULT WORv

) 005702 012704 010446 MOV # INBUF , R4 sPOINT TO THE INPUT BUFFER

) 005706 122714 000015 CMPB M5, (RG) ;1S THIS CHARACTER A CARRIAGE RETURN?

) 005712 001420 BEQ PARERR :IF SO, PRINT THE MESSAGE AGAIN

) 005714 121427 000060 1$: CMP8 (R4) 460 ;1S THIS CHARACTER BELOW THE NUMERIC RANGE?
005720 002415 BLT PARERR sI1F SO, GO PRINT THE MESSAGE AGAIN
005722 121427 000067 CMPB (R4) 467 ;1S THIS CHARACTER ABOVE THE NUMERIC RANGE?
005726 003012 BGT PARERR sIF SO, GO PRINT THE MESSAGE AGAIN
005730 142714 000960 BICB #60, (R4) ;ISOLATE THE NUMBER THE CHARACTER REPRESENTS
005734 152405 B1S8 (R4S + RS :CONCATENATE THESE BITS TO THE ALREADY EXISTING STRING
005736 122714 000015 CMPB #15,(R4) ;IS THE NEXT CHARACTER A CARRIAGE RETURN?
005742 001406 BEQ LIMITS ;IF SO, GO SEE IF NUMBER IS WITHIN LIMITS
005744 (06305 ASL RS ;CLEAR BIT POSITION O, MOVE EXISTING STRING TO LEFT
005746 006305 ASL R5 sCLEAR POSITION 1, MOVE STRING TO LEFT AGAIN
005750 006305 ASL R5 JMOVE THE STRING ONE MORE TIME TO MAKE ROOM FOR

sNEXT THREE B8ITS

005752 000760 BR 18 ;G0 GET THE NEXT CHARACTER
005754 104404 PARERR: INSTER ;THERE WAS AN ERROR... GO PRINT MESSAGE AGAIN
005756 000750 BR PARAM1 ;TRY GETTING THE PARAMETERS AGAIN

005760 020537 006032 LIMITS: CMP R5 HILIM ;DOES RESULT EXCEED ITS MAXIMUM CORRECT VALUE?
005764 101373 BHI PARFRR ;IF YES, GO PRINT THE MESSAGE AGAIN
005765 020537 006030 CMP R5,LOLIM ;1S THE RESULT LOWER THAN ALLOWED?
005772 103770 8LO PARERR ;IF YES, GO PRINT THE MESSAGE AGAIN
005774 133705 006036 8lT8 LOBITS,RS ;ARE ANY INCORRECT BITS SET IN THE RESULT?
001365 BNE PARERR :IF SO, GO PRINT THE MESSAGE AGAIN
:STORE NUMBER AT SPECIFIED ADDRESS
006002 013704 006034 MoV DEVADR R4 ;POINT TO THE LOCATION WHERE THE RESULT WILL BE STORED
006006 010524 1$: MOV R5,(R4)+ :STORE THE RESULT
006010 062705 000002 ADD #2,R5 ;CALCULATE THE NEXT DATUM
006014 105337 006037 DE(CB ADRCNT sREDUCE COUNT OF STORED RESULTS. IS IT EXCEEDED?
006020 001372 BNE 1% s1F NOT, GO STORE THE NEXT DATUM
006022 012604 MOV (SP)+ ,Ré ;RESTORE R4
0060¢4 012605 MOV (SP)+,R5 ;RESTORE RS
006026 000002 RT! sRETURN TO THE MAIN PROGRAM
006030 000000 LOLIM: 0 ;LOWEST ACCEPTABLE VALUE
006032 000000 HILIM: 0 sHIGHEST ACCEPTABLE
006034 000000 DEVADR: 0 ;LOCATION WHERE RESULT WILL BE STORED
006036 000 LOBITS: .BYTE 0 sINCORRECT BITS MASK
006037 000 ADRCNT: .BYTE 0 sCOUNT OF JTEMS TO BE STORED

;SAVE PC OF TEST THAT FAILED AND RO-R5

-l—.-.-l—l—l—hdd-.-‘—l—l—l—l-—l—l-A—l—.—‘—.d-‘—ldd—l-ﬂ-ﬂ—l—hd-‘—l-‘—ld-—‘—D—l—l—l—i-—.—.-—b—.—l-—l—l—l—b_ﬂ

vku\'vvvvvvvvvvvv\.-vvvvvvvvvvvvvvvvvvvvvvvvvvvvv

006040 016637 000004 001404 .SAVOS5: MOV 4(SP) ,SAVPC :SAVE R7 (PC)

AAAAAAAAAA’\&AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAI‘\Aﬂﬂﬂﬂl\f\f\ﬂ

b
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ak :SAVE RO-R5
(1) 006046 001340 Sv05:  MOv RS,$REGS :SAVE RS
(1) 006052 001336 MOV R4, SREG4 :SAVE Ré
(1) 006056 001334 MCv R3.$REG3 ;SAVE R3
(1) 006062 001332 MOV R2,$REG? :SAVE R2
(1) 006066 001330 MOV R1.SREG] :SAVE R1
(1) 006072 001326 MOV RO,SREGO :SAVE RO
g}; 006076 RTI :LEAVE.
{}; ;RESTORE RO-R5
(1) 006100 013700 001326 .RESO5: MOV $REGO,RO ;RESTORE RO
(1) 006104 013701 001330 MOV $REG] ,R1 ;RESTORE R1
(1) 006110 013702 001332 MOV $REGZ,R2 -RESTORE R?
(1) 006116 013703 001334 MoV $REG3,R3 sRESTORE R3
(1) 006120 013704 001336 MOV SREG4 ,Ré ;RESTORE R4
(1) 006124 013705 001340 MOV $REGS5 RS sRESTORE R5
g}; 006130 000002 RTI s LEAVE
%1; :CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
(1)
(1) 006132 104402 001357 .CONVR: TYPE .SCRLF sPRINT A CARRIAGE RETURN
(1) 006136 010046 .CNVRT: MOV RO,={SP) :SAVE RO
(1) 006140 C10146 MOV R1,=-(SP) :SAVE R1
(1) 006142 010346 MOV R3.-(SP) :SAVE R3
(1) 006144 010646 MOV R4 ,=(SP) :SAVE R
(1) 006146 010546 Mov RS .- (SP) 2SAVE RS
(1) 006150 017601 000012 MOV 318 (SP) ,R1 :PLACE THE ADDRESS OF THE ARGUMENTS IN R1
(1) 006154 062766 000002 000012 ADD #2,12(SP) :POINT TO WHERE MAIN PROGRAM WILL RESUMZ
(1) 006162 012137 006306 Mov (R7)+,WRDCNT ;GET NUMBER OF WORDS TO BE PRINTED
(1) 006166 112105 1$: Move (R1)+,R5 :GET THE NUMBER OF CHARACTERS TO BE PRINTED
(1) 006170 112100 Movs (R1)+,R0 ;GET THE NUMBER OF SPACES TO PRINT
(1) 006172 013104 Mov 8(R1)+,R4 sCOPY THE WORD TO BE CONVERTED
(1) 006176 110537 006310 MOVB RS, CHRCNT ;COPY THE CHARACTER COUNT
(1) 006200 010403 38: MOV R4 ,R3 :COPY THE ARGUMENT WORD AGAIN
(1) 006202 062703 177770 8IC #~C<7> ,R3 :ISOLATE THREE BITS TO BE TREATED AS A CHARACTER
(1) 006206 062703 000060 ADD #060,RS ;MAKE AN ASCII CHARACTER OUT OF THEM
(1) 006212 110346 Mov8e R3 -(5P) :SAVE THAT CHARACTER
(1) 006214 006004 ROR :MOVE THE NEXT THREE BITS INTO PLACE
(1) 006216 006204 ASR R6 :MOVE THEM AGAIN
(1) 006220 006204 ASR R4 :AND FINALLY A THIRD TIME
2}; 006222 005305 DEC RS SS?ECE CHARACTER COUNT.ARE ALL CHARACTERS
(1) 006224 001365 BNE 3s :IF NO, GO BUILD THE NEXT ONE.
(1) 006226 012703 010510 MOV #MDATA R3 :NOW POINT TO WHERE NUMBER WILL BE PRINTED FROM
(1) 006232 112623 48: MOV (SP)+,(R3)+ :STORE THE CHARACTER, STARTING WITH THE MOST
(1) 006234 105337 006310 DECB CHRCNT *REDUCE COUNT. ARE ALL CHARACTERS TRANSFERRED?
(1) 006240 001374 BNE 43 ;IF NO, GO TRANSFER ANOTHER
(i) 006242 105700 T1ST8 RO :ARE ANY SPACES TO 6E PRINTED?
(1) 006244 001404 BEQ 63 ;IF NO, DON'T SET UP ANY
(1) 006246 112723 000040 5%: MOV8B #040, (R3)+ :ADD A SPACE TO THE OUTPUT BUFFER
(1) 006252 105300 DECB RO :REDUCE THE COUNT. SHOULD WE PRINT MORE?
(1) 006254 001374 BNE 5% ;IF YES, GO _ADD ANOTHER SPACE
(1) 006256 105013 6$: CLRB (R3) :TERMINATE THE OUTPUT BUFFER WITH A ZERO
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(1) 006260 106402 010510 TYPE LMDATA :PRINT THE STRING WE JUST BUILT
(1) 006264 UYS337 006306 DEC WRDCNT :REDUCE THE WORD COUNT. ARE ANY MORE WORDS LEFT?
(1) 006270 001336 BNE 1% :IJF YES, GC CONVERT THEM
(1) 006272 012605 MoV (SP)+,RS :RESTORE RS
(1) 0N6276 012604 MOV (SP)+ R4 JRESTORE Ré
(1) 006276 012603 MOV (SP)+,R3 :RESTORE R3
(1) 006300 012601 MOV (SP)+,R1 ;RESTORE R1
(1) 006302 012600 MOV (SP)+,R0 :RESTORE RO
(1) 006304 000002 RTI ;RETURN TO THE MAIN PROGRAM
(1) 006306 000000 WRDCNT: 0
(1) 006310 000 CHRCNT: .BYTE :NUMBER OF CHARACTERS TO PRINT
2}; 006311 000 SPACNT: .BYTE 0 :NUMBER OF SPACES TO PRINT
g}; 006312 000000 BINWRD: 0
(1)
(1) :TRAP DISPAYCH SERVICE
1) :ARGUMENT OF TRAP IS EXTRACTED
(1) :AND USED AS OFFSET TO OBTAIN POINTER
g}; :TO SELECTED SUBROUTINE
(1) 006314 010046 .TRPSR: MOV RO,=-(SP) :SAVE RO. USE RO TO FIND TRAP ROUTINE
(1) 006316 016600 000002 MOV 2(SP) ,RO :GET TRAP ADDRESS
(1) 006322 005740 TST =(R0) :GET TRAP
(1) 006324 111000 Moys (RO) ,RO :GET RIGHT BYTE OF TRAP(TRAP OFFSET)
(1) 006326 006300 ASL RO :POSITION OFFSET FOR TABLE INDEXING
(1) 006330 016000 001742 MOV .TRPTAB(RO) ,RO ;PLACE INDEXED ADDRESS OF TABLE IN RO
E}; 006334 000200 RTS RO :TRANSFER TO THAT ADDRESS AND RESTORE OLD RO
(1 :DEVICE CLEAR ROUTINE
g}; ;ISSUE A DEVICE CLEAR
(1) 006336 .DEVICE.CLR:
(1) 006336 052777 000020 173444 8IS #DCLR,aDZVCSR  ;SET DCLR
(1) 006344 032777 000020 173436 1$: BIT #DCLR,8DZVCSR  ;DID IT CLEAR?
(1) 006352 001374 BNE 1% :BR IF NO
g}; 006354 000002 RTI :EXIT ROUTINE
g}; :ROUTINE TO HANDLE MAINTENANCE BIT SETTING WITH DEVICE CLEAR
(1) 006356 104413 .DCLASM:DEVICE.CLR :ISSUE A DEVICE CLEAR
(1) 006360 153777 001424 173422 BlS8 MNTFLG,aDZVCSR :LOAD THE MAINTENANCE BIT IF IT IS | MODE
g}; 006366 000002 RTI] :RETURN T0 CALLING ROUTINE
(1) 006370 .DELAY:
(1) 006370 010046 MOV RO,~-(SP) :SAVE RO
(1) 026372 013700 006406 MOV DLYCNT RO JSET COUNT
(1) 000376 005300 18: DEC RO ;DELAY
(1) 006400 001376 8NE 18 .
(1) 006402 012600 MOV (SP)+,R0O ;RESTORE RO
(1) 006404 000002 RTI :LEAVE ROUTINE
g}; 006406 000001 DLYCNT: .WORD 1 :PATCHABLE LOC FOR MORE TIME
f}; :ADVANCE TO NEXT TEST HANDLER
%)) ’
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(1) 006410 013716 001362 .ADVANCE:MOV  NEXT,(SP) ;CRUNCH STACK WITH ADDRESS OF SCOPE CALL
(1) 006414 005037 001364 CLR LOCK “RESET TIGHT LOOP ADDRESS
2}; 006420 000002 RTI SCHECK TO SEE IF OLD TEST GETS REPEATED
(1) ;ROUTINE TO SHIFT LINE POINTER
z}; SAND SWITCH TESTS IF NECESSARY
(1) 006422 106302 .SHIFT: ASLB  R2 :POINT TO THE NEXT LINE
(1) 006426 032702 000020 BIT #BIT4 ,R2 “HAVE WE PASSED ALL LINE POINTERS?

(1) 006430 001402 BEQ 1$ *IF NOT, RETURN TO THE TEST

(1) 006432 022626 POP2SP ‘REMOVE THE TRAP CALL FROM THE STACK
(1) 006434 104400 ADVANCE 16O TO THE NEXT TEST

g}; 0064 ¢ 000002 1$: RTI ‘RETURN TO THE PRESENT TEST
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o ;LINE PARAMETER REGISTER SETUP ROUTINE
(1) 006440 010346 .LPRSET:MOV  R1,~(SP) :SAVE CONTENTS OF R1
(1) 006442 010246 MOV R2,-(SP) :SAv. FONTENTS OF R2
(1) 006444 013701 001370 MOV  PAR.RI :MOVE L,EFAULT PARAM, INTO R1
(1) 006450 012702 000001 MOV #1,R2_ INIT. FOR LIN 1
(1) 006456 010177 173340 1$: MOV  R].aDZVLPR ;LOAD PARZM. REGISTER
(1) 006460 005201 INC  RI :SET R1 FOR NEXT LINE
(1) 006662 106302 ASLB  R2 :SET R2 FOR NEXT LINE
(1) 006464 032702 000020 8IT  #BIT4,R2 :ALL LINES DONE?
(1) 006470 001771 BEQ 18 :IF NO LOAD NEXT LINE
(1) 006472 012602 MOV (SP)+,R2 :RELOAD R2
(1) 006474 012601 MOV (SP)+.R1 :RELOAD R1
(1) 006476 000002 RTI :RETURN
(1) :ROUTINE TO ZERO DATA BUFFER
1) 006500 010046 .BUFSET:MOV  RO,=(SP) :SAVE CONTENTS OF RO
(1) 005302 012700 001426 MOV #TDO,RO :SET RO TO TOP OF BUFFER
(1) 006506 005020 1$:  CLR  (RO)# :CLEAK BUFFER LOCATION
(1) 006510 022700 001446 (MP  #STOP,RO ;1S BUFFER ALL CLEARED
(1) 006514 001374 BNE 18 :IF NOT CLEAR NEXT LOCATION
(1) 006516 012600 MOV (SP)+,RO :RELOAD RO
(1) 006520 000002 RTI :RETURN
(1) :ERROR HANDLER
x =
(1) 006522 004737 007150 $ERROR: JSR  PC,SERV.G FIMD OUT IF <G> WAS HIT
(1) 006526 032777 010000 172550 BIT  #sW12,aswR :BELL ON_ERROR?
(1) 006534 001406 BEQ  XBX :BR IF_NO BELL
(1) 006536 105777 172552 TSTB  aSTPS :TTY READY.
(1) 006542 100003 BPL  XBX :DON'T WAIT IF TTY NOT READY.
(1) 006544 112777 000207 172544 MOVB  #207,a$TPB :PUSH A BELL AT THE TTY.
(1) 006352 032777 020000 172526 XBX:  BIT  #SW1%,aswR :DELETE ERROR PRINT OUT?
(1) 006560 001113 BNE  HALTS :BR_IF NO PRINT OUT WANTED.
(1) 006362 021637 001262 CMP  (SP),SERRPC  :WAS THIS ERROR FOUND LAST TIME?
(1) 006546 001404 BEQ 18 :BR_IF YES
(1) 006570 011637 001262 MOV (SP),$ERRPC  :RECORD BEING HERE
(1) 006574 105037 001247 CLRB  SERFLG :PREPARE HEADER
(1) 006600 104407 18:  SAV0S :SAVE ALL PROC REGISTERS
(1) 006602 011605 MOV~ (SP) RS :GET THE PC OF ERROR
(1) 006604 162705 000002 SR  #2,RS :GET ADDRESS OF TRAP CALL
(1) 006610 011504 MOV (R5),Ré4 :GET ERROR INSTRUCTION
(1) 006612 110437 001260 MOVB  Ré¢.SiTEMB :COPY TEST NUMBER FCR APT HANDLING
(1) 006616 006304 AL Ré :MULT BY TWO
(1) 006620 061504 ADD  (RS),Ré4 :DOUBLE IT
(1) 006622 006304 __ ASL  Ré :MULT AGAIN
(1) 006624 042704 177001 BIC  #177001,R4 :CLEAR JUNA
(1) 006630 062704 016122 ADD  #.ERRTAB,RG  :GET POINIER
(1) 096634 012437 006760 MoV (R¢)+,ERRMSG  :GET ERROR MESSAGE
(1) 006640 012437 006772 MOV (R4)+.DATAHD  :GET DATA HEADRER
(1) 006644 011437 007004 MOV (R4),DATABP  :GET DATA iABLE
(1) 006650 105737 001247 TSTB  SERFLG : TYPE_HEADER
(1) 006634 001403 BEQ  TYPMSG :BR_IF YES
(1) 006656 005737 007004 TST  DATARP :DOES DATA TABLE EXIST?
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001064
104402

000000

005737
001402
104402
000000
005737
001402
104611
000000
104410
122737
001007
113737
004737
000000
000777
022737
001403
005777
100004
016677
000000
005237
004737
032777
001007
032777
001407
013737
012706
000177
000002
000081

006
0014604
000001

002
001246
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006772

007004

000001
001260
005264
004340
172232
000002
001256
007150
€004G0
002000
001362

001120
172120

002

001247

001140
007032
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172224

172202

172172
001252
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APT COMMUNICATIONS ROUTINE

TYPMSG:

1%:

ERRMSG:

WTBS.FM:

DATAHD :
TYPDAT:

BNE
TYPE
TYPE
TST
BEQ
TYPE
TYPE
CNVRT
TYPE
CNVRT
TYPE
CNVRT
TYPE
MOVB
TST
BEQ
TYPE
0

TST
BEQ
TYPE

TST

DATABP: 0

RESREG:
HALTS:

— b\
VIO W™
(" X" XX

208:
EXITER:

1$:
2%:

ERTABO: 1

XTSTIN:

TYPDAT
. SCRLF
. SCRLF
LOCK
18
MASTEK
LMTSTN
XTSTN
"MERRP(
.ERTABO
. MCSRX
.XCSR
SCRLF
#-1,8ERFLG
ERRMSG
WIBS.FM

DATAHD
TYPDAT

DATABP
RESREG

#APTENV,SENV
15%
SITEMB,5%
8C.$ATY4

108
#SENDAD ,ané2
20%
aSWR

EXITER
Z(SP) aDISPLAY
SERTTL
PC.SERV.G
1&“(8.3SUR
#SW10,8SWR
2%
NEXT,SLPADR

#STACK, SP
a$SLPADR

6,2

2.2

:BR iF YES.
:TYPE A CARRIAGE RETURN
:AND TYPFE ANOTHER

sSHOW IT
s TYPE PC.
JSHOW IT

:GIVE A CR/LF

NO MORE HEADER UNLESS NO DATA TABIE.
;1S THERE AN ERROR MESSAGE?

:BR IF NO.

:TYPE

: ERROR MESSAGE

*DATA HEADER?
‘BR IF NO

s TYPE

: DATA HEADER

:DATA TABLE?

:BR IF NO.

: SHOW

: UATA TABLE

:RESTORE PROC REGISTERS
;IS APT RU.NING?

:SKIP APT CALL IF NOT
:COPY ERROR NUMBER

:CALL APT SERVICE

:ERROR NUMBER STUCK HERE
:LOCK UP HERE

sCHECK TO SEE IF IN ACT-11 MODE
:1F SO, HANDLE ACCORDINGLY
;HALT ON ERROR?

:BR IF NO HALT ON ZRROR
328¥ ERROR PC IN DATA DISPLAY
sUPDATE ERROR COUNT

;FIND OUT IF *G WAS TYPED
:GOTO TOP OF TEST?

:BR IF YES

;GOTO NEXT TEST?

:BR_IF NO

SEF FOR NEXT TEST

;RESET SP
:GOTO SPECIFIED TEST
;RETURN

SEQ 0053—1
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007342
007346
007350
007356
007362
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007412

007414
007422

017746
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172136
000200
000007

004000
172102
007364
007376
007404
00741
172054
172054
172050
000200
000015
172034

007412
172024

172004
172000
171774
000060
177776

177770
171744

007412
007404
001357
051450

000

000057

007560
000340

172114

007404

000067

171726

051127

000024
000026
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APT COMMUNICATIONS ROUTINE

SEKV.G: MOV
BIC

(MPB
BNE
BIT
BNE
GETSWR= .,
MOV
18: TYPE

CN'RT

TYPE

CLR8

CLR
3s: TST8

2s: TST8B

A ¥ 1STB
BNE
MOV

5¢: TYPE

6$%: RTS

89%:
.EVEN
88%: 1

.BYTE

90%
90%:
91$:
92%:

.ASCIZ

.WORD
LASCIZ

8$TKB,~(SP)
#B117,(SP)
#7,(SP)+

6$
#6000,387KS
SERV.G

aswR,90$
,898
bk
§2s

aSWR
agrxs

3
a$TkB,=(CP)
#8IT7,(SP)
#15,(SP)+
43

a$TPS

2%

92%

-(SP) ,a$TP8

aSWR
adSWR
aSWR

1%
(SP)+,460
1%
=2(SP) . #67

1
R2C<?>,=-(SP)
(SP) +,aSWR
3$

92%

5%

908 ,aSWR
LSCRLF
PC

<200>? (SWR)=/?

6.0

0
2/=/?
0

:OTHERWISE, GET THE LAST CHARACTER TYPED
;STRIP PARITY(EIGHTH) BIY

JIS IT *G?

:IF NOT, IGNORE INPUT

:RX BUSY?

:BR IF YES

;2 GPA
:SAVE (SWR).
:TYPE HEADER FOR OLD SWITCH REGISTER
:TYPE THE NUMBER ITSELF
:AFTER HAVING CONVERTED IT TO ASCII
:CLEAR SWR CHANGE FLAG
JCLEAR THE SOFTWARE SWITCH REGISTER
JWAIT FOR DONE.
:CONTINUE WAITING FOR IT
:PUT THE CHARACTER ON THE STACK
:STRIP PARITY BIT
:1S 1T THE CARRIAGE RETURN CHAR?
:IF SO, GO PRINT CRLF
:1S THE OUTPUT BUFFER AYAILABLE
;1F NOT, WAIT FOR IT TO BE READY
;INDICATE THAT THE SWR WAS (HANGED
:PLACE THE CHARACTER THERE(ECHO BACK)
;GET READY TO ROTATE
:MOVE THE EXISTING BITS OVER
:TO MAKE ROOM FOR THE INCOMING
:THREE BITS FROM THIS CHARACTER
:ERROR
:1S IT LOWER THAN 0?
:IF SO, GO ASK AGAIN
:1S IT HIGHFR THAN 7?
:IF SO, GO ASK AGAIN
:1SOLATE INFORMATION BITS
:ADD THEM TO THE SWITCH REGISTER
:G0 CHECK FOR THE NEXT CHARACTER
:HAS THE SWR BEEN CHANGED?
:IF YES GO TYPE CRLF
:IF NOT RESTORE SWR
:TY"Z A CARRIAGE RETURN AND LINE FEED
:RE/URN TO CALLING PROCEDURE

.SBTTL POWER DOWN AND UP ROUTINES

S 2332238223232 2333322228232 2328280238 2002 000 R0dd0dddtddddt)

*POWER DOWN ROUTINE
#SILLUP,@#PURVEC ;:SET FOR FAST UP
#340,a#PWRVEC+2 ;:FRIOD:?7

$PWRDN: MOV
MOV

SEQ 0054
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007500
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007510
007512
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007532
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0
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007564
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POWER DOWN AAD UP ROUTINES

RO,-(SP) :3PUSH RO ON STACK
R1,=-(SP) :;PUSH R! ON STACK
RZ,=(SP) ::PUSH R2 ON STACK
R3,-(SP) ::PUSH R3 ON STACK
R4 ,=(SP) ::PUSH R4 ON STACK
RS,=(SP) ::PUSH RS ON STA(K
aSWR,~(SP) ::PUSH 8SWR ON STACK
SP,$SAVR6 ;SAVE SP
#SPHRUP,BJPURVEC ..QET UP VECTOR

.2 : HANG UP

tttttttﬁtt*tt*tttttttttttttttttitttﬁittﬂﬁl*ttttttﬁtﬁt*tttﬁttiit

#SILLUP,#PWRVEC .éggTsFOR FAST DOWN

$SAVRG, SF

$SAVR6 ;SWAIT LOOP FOR THE TTY
$SAVR6 ..UAIT FOR THE INC

1$ ;OF WORD

(SP) +,aSWR ::POP STACK INTO @SwR
(SP)+,R5 :sPOP STACK INTO R5
(SP) +,R4 :sPOP STACK INTO Ré4
(SP)+,R3 ;:POP STACK INTO R3
(SP)+,R2 ;.P0P STATK INTC R2
(SP)+,R1 ..POP STACK INTO R1
(SP)+,RO ;PUP STACK INTO RO

NSPWRDN, a#PWRVEC’ ..SET UP THE POWER DOWN VECTOR
#340,3APWRVEC+2 ;:PRIO:7
..REPORT THE POWER FAILURE

MPFAIL ;POWER FAIL MESSAGE POINTER
(PC)+,(SP) : :RESTART AT RESTART
RESTART ; sRESTART ADDRESS

..THE POWER UP SEQUENCE WAS STARTED
=2 i BEFORE THE POWER DOWN WAS COMPLETE

;PUT THE SP HERE
<200>/PWR FAILED. RESTART AT LAST TEST /
<200>/END PASS CVDZA-C /
<200>/RUNNING /
<200>/PROGRAM INDICATES NO DEVICES PRESEN1./
<200>/INSUFFICIENT DATA!/
<200>/L0OCK ON SELECTED TEST/

/CSR: /
/VEC: /
/PASSES: /
/ERRORS: /
/TEST NO: /

/%
;ggO>§TYPE A BIT MAP OF DZV11'S DESIRED ACTIVE: /
<200>/MAP OF D2V11 STATUS/<200>

<200>/ILLEGAL ENTRY IN STAGGERED MODE/<200>

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
HALT
B8R
“POWER UP ROUTINE
$PWRUP: MOV
MOV
CLR
1%: INC
BNE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
TYPE
$PWRMG: .WORD
MOV
$PWRAD: .WORD
RTI
$SILLUP: HALT
BR
$SAVRG: 0
MPFAIL: .ASCIZ
MEPASS: .ASCIZ
MR: LASCI2
MERR2: .ASCIZ
MERR3: .ASCIZ
MLOCK: .ASCIZ
MCSRX: .ASCIZ
MVECX: .ASCIZ
MPASSX: .ASCIZ
MERRX: .ASCIZ
MTSTN: .ASCIZ
MASTEK: .ASCIZ
MNEW:  .ASCIZ
MERRPC: .ASCI?
XHEAD: .ASCIZ
MBADLN: .ASCIZ
.EVEN
XSTATQ: 2

$TMP1

6.3

SEQ 0055
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CVDZAC.P11 10-AUG-81 10:55 POWER DOWN AND UP ROUTINES SEQ 0056
(2) 010246 006 002 .BYTE 6,2
g%; 010250 001346 EVEN $TMP?
%%; ;THIS ROUTINE ESTABLISHES WHICH HAINTENANCE HODE THE DEVICE IS IN
(2) :E=EXTERNAL LOOP BACK
(2) s I=INTERNAL LOOP BACK
(2) :S=STAGGERED LOOP SACK
(2) 010252 017605 000000 .SETFLG:MOV a(SP) ,RS ;PICK UP ADDTESS OF TAG
(2) 010256 042737 000040 010446 81( #40, INBUF ;STRIP LOWER CASE
(2) 010264 122737 0CJ105 010446 CMPB #'E . INBUF 21S IT EXTERNAL LOOP BACK ?
(2; 010272 001005 BNE 48 :NO
(2) 010274 013715 010364 MoV 18, (RS) ;YES STORE INFO
(2) 010300 105037 001424 CLRB MNTFLG :SET HAINT BIT =0
(2) 010304 000422 BR 7$ GET 0
(2) 010306 122737 000111 010446 4S$: CMPB #'1.INBUF IS IT INTERNAL LOOP BACK ?
(2) 010314 001006 BNE 5%
(2) 010316 013715 010366 MOV 28, (R5) YES STORE INFO
(2) 010322 112737 000010 001424 MovB NMAINT MNTFLG  ;SET UP THE MAINTENANCE FLAG LOADER
(2) 010330 000410 BR 78 :GET
(2) 010232, 122737 000123 010446 58: CMPB #'S,INBUF :IS IT STAGGERED LOOP BACK ?
(2) 010340 001007 BNE 6$ $WHAT ?
(2> 010342 013715 010370 MoV 38, (R5) ;YES STORE INFO
(2) 010346 105037 001424 CLR8B MNTFLG :2ERO BITS
(2) 010352 062716 000002 7$: ADD #2,(SP) ;POP AROUND
(2) 010356 000002 RTI
(2) 010360 104404 6$: INSTER ;RETRY
(2) 010362 000733 BR .SETFLG :DITTO
(2) 010364 000200 1$: .WORD 200 ;EXTERNAL = E
(2) 010366 000000 2$: WORD 0 s INTERNAL = ]
gg; 010370 100000 3s: .WORD 100000 ;STAGGERED = §
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(2) ;COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
(2) :BUFFER TO THE CHARACTERS "E'' AND 'C*

(2) ;1F THE CHARACTER IS ''' CLEAR THE FLAG

é%; ;1F THE CHARACTER IS '‘C"' SET THE FLAG

(2) 010372 017605 00000) .PAWCH:MOV a8(sP), N5

(2) 010376 142737 000040 010446 Bil(8 #40, INBUF :SET FOR LOUER CASE INPUT
(2) 0106404 122737 000105 070446 CMPB #'E, INBUF ;IS 1T 'E”

(2) 010412 001002 BNE 1%

(2) 010414 105015 CLRB (RS) ;000

(2) 010416 000406 BR 2%

(2) 010420 122737 000103 010446 18: CMPB #'C,INBUF IS 1T ¢t 2

(2) 010426 001005 BNE 3s

(2) 010430 1127215 177777 MovB #-1,(RS) ;3177

(2) 010434 062716 000002 28: ADD #2,(SP)

(2) 010440 0006002 RTI

(2) 010442 104404 3s: INSTER ;RETRY

25; 010444 000752 BR .PAWCH

2%; ;BUFFERS FOR INPUT=OUTPUT

(2) 010446 000000 INBUF 0

(2) 010510 +40

(2) : TEHP 0 : TEMP AREA UNUSED. ::GPA
(2) ; +40 ; DELETED TO CONSERVE SPACE ;. GPA
(2) 010510 000000 HDATA 0

g%; 010552 =,+40
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CVDZAZ.P11 10-AUG-81 10:55 POWER DOWN AND UP ROUTINES SEQ 0058
@
(2) ;ROUTINE USED TO °‘CYCLE'' THROUGH UP TO SIXTEEN DZV11°'S
(2) ;THIS ROUTINE SETS UP THE CONTROL ADDRESS FOR THE DIAGNOSTIC
(2) sAND RUNS THE SPECIFIED DZV1:'S,  THIS ROUTINE «MUST«
(2) ;BE _RUN FIRST BEFORE ENTERING THE DIAGNOSTIC FOR THE
(2) :SETUP NECESSARY,
3 :
(2) 010552 005737 001406 CYCLE: TST DZVACTV ;ARE ANY DZV11'S TO BE TESTED?
(2) 010556 001004 BNE 13 ;BR IF OK.
(2) 010560 104602 007671 TYPE .MERRZ sNO DZV11°'S SELECTED!!
(2) 010564 000000 HALT ;STOP THE SHOW.
(2) 010566 000776 BR .=2 sDISQUALIFY CONT. SW.
(2) 010570 013737 004646 001354 1§: MOV SMXCNT,STIMES  RESTORE THE NUMBER OF ITERATIONS TO MAKE
(2) 010576 033737 0014612 001406 BIT RUN,DZVACTV ;1S THIS ONE "ACTIVE
(2) 010604 001017 BNE 2% :BR IF GOOD ONE FOUND.
(2) 010606 006137 001412 ROL RUN ;UPDATE POINTER
(2) 010612 005537 001412 ADC RUN :CATCH CARXY FROM RUN
(2) 010616 062737 000012 001420 ADD #12 ACTIVE sUPDATE ADDRESS POINTER.
(2) 010626 022737 001740 001420 CMP #DZV.END ,ACTIVE ;HAVE WE PA5Si_ THE END OF THE MAP?
(2) 010632 001356 BNE 1$ :IF NO, KEEP GOING: NOT ALL TESTED FOR.
(2) 010634 012737 001500 001420 MoV #DZV.MAP ,ACTIVE ;RESET ADDRESS POINTER.
(2) 010642 000752 BR 1$ sKEEP _LOOKING FOR ACTIVE DZV11
(2) 010644 006137 001412 2s: ROL RN sUPDATE POINTER.
(2) 010650 005537 001612 AD( RUN :CATCH CARRY,
(2) 010654 013700 001420 MOV ACTIVE,RO sGET ADDRESS POINTER,
(2) 010660 062737 000012 001420 ADD #12,ACTIVE sUPDATE,
(2) 010666 022737 001740 001420 CMP #DZV.END,ACTIVE
(2) sALL DONE?
(2) 010674 001003 BNE 33 :BR IF NO.
(2) 010676 012737 001500 001420 MOV #DZV.MAP ACTIVE ;RESTORE POINTER.
(2) 010704 012037 001174 3s: MoV (RO)+,$BASE sLOAD SYSTEM CTRL. REG
(2) 010710 012037 002040 MOV (RO)+,DZVRIV sLOAD VECTOR
(2) 010714 012037 001366 MoV (RO)+,LINE sSET UP DZV LINES ACTIVE
(2) 010720 012037 001370 MOV (RQ)+,PAR sSET UP PARAMETERIZATION
(2) 010724 012037 001372 MOV (RO) +,MODE :SET UP MAINTENANCE MODE
(2) 010730 105037 001424 CLRB MNTFLG ;RESET MAINT. FLAG IF
(2) 010734 065737 001372 TST MODE sRUNNING TESTS
(2) 010740 0010623 BNE 9$ :IN
(2) 010742 112737 gu0010 001424 MOvVB #MAINT MNTFLG  ;INTERNAL MAINT. MODE
(2) 010750 004737 011116 9s: JSR PC,DZVLEV sSET UP
(2) 010754 005737 000042 TST ane2 +ARE WE UNDER MONITOR CONTROL?
(2) 010760 001051 BNE 4] sIF YES, SKIP THIS SETUP
(2) 010762 032777 000002 170314 BIT #SW01,35WR :1F swoi=1, GET STARTINC TEST #
(2) 010770 001445 BEQ 4] sBR IF NO TEST IS TO BE INPUTTED
(2) 010772 104402 001357 4$: TYPE -SCRLF
(3) 010776 104403 INSTR ;CALL THE STRING INPUT ROUTINE
(3) 011000 010051 MTSTN sPOINTER TO MESSAGE TO BE PRINTED
(3) 011002 104405 PARAM sCALL THE OCTAL TO ASCII CONVERT ROUTINE
(3) 011004 000001 1 sLOWEST LEGITIMATE VALUE CF EXF_CTED RESPONSE
(3) 011006 001000 1000 sHIGHEST LEGITIMATE VALUE OF EXPECTED RESPONSE
(3) 011010 001246 STSTNM +POINTER TO MAP LOCATION TO BE FILLED
(3) 011012 000 BYTE 0 ¢MASK OF INVALID BITS FOR THIS PARAMETER
(3) 011013 001 .BYTE 1 :NUMBER OF PARAMETERS TO STORE
(2) 011014 012700 012112 MoV #TST1,RO
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022710 000004
001020
022760 012737
001014
023760 001246
001010
010037
062737
104402
000412
005720
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001351
104402
000733
012737

000177

001357

015570
001356
012112
170134

013700
062700
010037
062700
010037
062700
010037

002040
000002
002042
000002
002044
000002
002046

013700
010037
005200
010037

001174
002010

002012

002014
002020

002016
002022

002024
002026

002030
002034

002032
002036
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POWER DOWN AND UP ROUTINES

58 CMP ¥4, (RO)
BNE 63
CMP #12737,2(RO)
BNE 63
CMP STSTNM,4(RO) ;IS THIS THE TEST ?
BNE 63 *IF NOT, DON'T PROCESS NUMBER
MOV RO, $SLPADR *SAVE PC
ADD #2.SLPADR ‘POP OVER PREVIOUS SCOPE
TYPE $CRLF
B8R 8s
6$: ST (RO) +
CMP RO,#TLAST+10
BNE 58
TYPE  ,SQUES
BR 21
gg: MOV #TST1.$LPADR  ;PREPARE TEST ADDRESS
RESTART : JMP aSLPADR :GO START TESTING.«%+WARNING'ees

:THIS JUMP [S USED BY POWER UP ROUTINE!!!!
:THIS UTILITY SETS UP CSR'S,SETS UP VECTORS.

DZVLEV: MOV DZVR]V,RO ;PLACE THE BASE VECTOR ADDRESS IN RO
ADD #2.R0 .CALCULATE THE RECEIVER INTERRUPT STATUS ADDR.
MOV RO,DZVRIS sSTORE IT HERE
ADD #2.R0 sCALCULATE THE TRANSMITTER INTERRUPT VECTOR
MOV RO,DZVTIV :STORE 1T HERE ‘
ADD #2,R0 ;CALCULATE THE TRANSMITTER VEcTOR STATUS ADDRESS
MoV RO,DZVTIS ;STORE IT HERE

;THIS SEGMENT SETS UP POINTERS FOR THE GIVEN DZV11. $BASE IS THE BASE ADDRESS
;C* THE DEVICE

MOV $BASE ,RO ;COPY THE ADDRESS BEING LOADED
MOV RO,DZVCSR s XXX0
INC RO

MOV RO,HDZVCSR $XxXX1
INC RO

MOV RO,DZVRBUF s XXX2
MOV RO,DZVLPR s XXX2
INC RO

A0V RO,HDZVRBUF JXXX3
Mov RO,HDZVLPR JXXX3
INC RO

MOV RO,DZVTCR s XXX4
INC RO

MoV RO,HDZVTCR s XXX5
INC RO

MOV RO.DZVMSR s XXX6
MOV RO,DZVTDR S XXX6
INC RO

MOV RO,HDZVMSR s XXX7
MOV RO,HDZVTDR I XXX7
RTS PC

SEQ 0059
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10-AUG~81 10:55

011256 000002

11:08 PAGE 25-41
POWER DOWN AND UP ROUTINES

: CONVERT DECIMAL ASCII STRING TO OCTAL

PARMD: RT! : DECIMAL PARAMETERS UNUSED.
.REM § ; OELETED TO CONSERVE SPACE...

;...AND REMAIN UNDER %KW SIZE.
PARMD: MOV (SP) ,RS

MOV (RS)+,6%
MOV (RS)+.7$
MOV (R5)+.8$
MOVB  (RS5)+.9%
MOVB  (R5)+.108
MOV RS, (SP)

2$: CLR RS

MOV # INBUF ,R&

CMPB mls.(ai)

BEQ 3
1%: CMPB (RG) #'0
BLT 3s
CMPB (R4) .49
BGT 3$
BICB  #'0.(R&)
CLR R2
BIS8 (R4)+ ,R2
ADD R2,RS
cmes #15,(RW)
B8EQ 43
ASL RS : X2
MOV R5,R2  ;>AVE X2
ASL RS X4
ASL RS :X8
ADD R2,RS  :TIMES 10
BR 1%
3$: INSTER
BR s
STEST TO SEE IF NUMBER IS WITHIN LIMITS
48 CMP RS.7$
BHI 3
(MP R5,6%
6.0 3s
BITB  9%.RS
BNE 33
:STORE NUMBER AT SPECIFIED ADDRESS
MOV 8%.R4
5%: MOV RS,(R4)+
ADD #2.R5
DECB 10$
BNE 5%
RTI
6%: 0
7$: 0
8$: 0
9% .BYTE 0

108: "BYTE 0

SEQ 0060

22 0PA
2 2GPA
;s GPA
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(2) : END OF .PARMD DELETE RANGE 4 2 s GPA
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(2) :*ROUTINE USED TO SET UP THE DIAGNOSTIC VIA APT.
(2) :«]F BIT7 IN THE ENVIRONMENT MOOE (SENVM) BYTE IS SET,
g%; ;*THE PROGRAM WILL LOAD ITS PARAMETERS FROM THE ETABLE.
(2) 011260 012700 001500 SETAPT: MOV #DZV.MAP RO sPOINT TO THE DEVICE MAP TABLE
(2) 011264 013701 001174 MOV $BASE R ;BUILD DEVICE ADDRESSES IN R1
(2) 011270 013702 001170 MOV SVECTT,R? ;BUILD DEVICE VECTORS IN R2
g%; 011274 042702 177007 8IC #‘C<77é>.R2 :STRIP AWAY OTHER INFORMATION
(2) 011300 012704 001204 MOV #3DDWO R4 :POINT TO THE BEGINNING OF DEVICE PARAMETERS
(2) 011304 013705 001176 MOV $DEVM,RS :GET THE MAP OF ACTIVE DEVICES
(2) 011310 105037 001414 CLRB DZVNUM :INITIALIZE NO. OF DEVICES IN SYSTEM
(2) 011314 005037 001410 CLR SAVACTV JCLEAR THE ACTIVE BIT MAP
(2) 011320 006005 1$: ROR RS :GET A DEVICE SELECTION BIT
(2) 011322 103407 B(S 3 sIF 1T IS SELECTED, GO SET UP A MAP
(2) 011324 001422 BEQ 5% :JF NO MORE ARE SELECTED, GET OUT OF SETUP
(2) 011326 005724 TST (R§)+ sPOINT TO NEXT DEVICE DESCRIPTOR
(2) 011330 062701 000010 23: ADD #10.R1 JSET UP THE NEXT ADDRESS
(2) 011336 062702 0v0010 ADD #10,R2 sSET UP THE NEXT VECTOR GROUP
(2) 011340 000767 BR 1% :GO SEE IF MORE DEVICES REMAIN
(2) 011342 006137 001410 3s: ROL SAVACTV sSET BIT IN ACTIVE DEVICE MAP
(2) 011346 105237 001414 INCB DZVNUM s INCREMENT NO. OF ACTIVE DEVICES IN SYSTEM
(2) 011352 010120 MOV R1,(R0)+ sLOAD DEVICE ADDRESS
(2) 011354 010220 MOV R2,(R0O)+ sLOAD THE VECTOR ADDRESS
(2) 011356 013720 001200 MOV $COW1,(RO)+ :GET THE NUMBER OF LINES IN OPERATION
(2) 011362 012420 MOV (R&)+,(RO)+ sLOAD DEVICE PARAMETERS
(2) 011364 013720 001202 MOV $COW2, (RO)+ sLOAD DEFAULT TESTING MODE
(2) 011370 000757 BR 2% :GO BUILD THE NEXT ADDRESS
(2) 011372 012710 177777 5%: MOV #-1, (RO) sTERMINATE THE DEVICE MAP
(2) 011376 012737 001142 MOV #$SWREG, SWR :SET TO SOFTWARE APT SWITCH REGISTER
gg; 011404 000207 RTS PC sRETURN TO PRINT STATUS TABLE
(2)
(2) :*ROUTINE USED TO ''AUTO SIZE'' THE DZVN
(2) ;*CSR AND VECTOR,
(2) :*NOTE: THE CSR MAY BE ANY WHERE IN THE FLOATING
(2) M ADDRESS RANGE (160000:163770)
(2) L AND THE VECTOR MAY BE ANY WHCRE IN THE
gg; o FLOATING VECTOR RANGE (300:770)
:t
(2)
(2) 011406 AUTU.SI2E:
(2) 011406 000005 RESET sINSURE A BUS INIT,
(2) 011410 105337 001422 DECB INIFLG sSHOW THAT | WAS HERE
(2) 011414 012702 001500 CSRMAP: MOV #DIV.MAP R2 ;sLOAD MAP POINTER.
(2) 011420 012703 001204 MOV #SDDUO.R3 sPOINT TO ETABLE DEVICE DESCRIPTOR WORDS
(2) 011424 (005022 1$: CLR (R2) + sZERO ENT]RE MAP
(2) 011426 022702 001740 CMP #DZV.END ,R2 sALL DONE?
(2) 011432 001374 BNE 1$ ;BR _IF NO
(2) 011434 105037 001414 CLRB DZVNUM :SET OCTAL NUMBER OF D2Vv11°S TO 0
(2) 011440 012702 001500 MoV #DZV.MAP ,R2
(2) 011444 012701 160000 MOV #160000,R1 sSET FOR FIRST ADDRESS TO BE TESTED
(2) 011450 012737 011714 MOV #E6S N6 sSET FOR NON-EXISTENT DEVICE TIME OUT
(2) 011456 052711 000040 BIS #B1T5,(R1) sTRY TO SET MASTER SCAN ENABLE
(2) 011462 052761 000017 000004 8IS #17,4(RY) sTRY TO TRANSMIT ON ANY LINE
(2) 011470 005000 (LR RO sUSE RO AS A COUNTER
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(2) 005711 78: TST (R1) :HAS TRANSMITTER READY COME UP?
(2) 100403 BM] 8$ “IF SO, GO GET A FINAL CHECK
(2) 005300 DEC RO *REDUCE COUNT. TIME UP?
(2) 001374 BNE 78 “IF NOT, KEEP WAITING
(2) 000437 BR 38 TASSUME IT'S NOT A D2V11
(2) 032761 000017 000004 8$: BIT #17.,4 (R1) "ARE ANY TCR BITS STILL SET? THEY SHOULD BE
(2) 001433 BEQ 3s “IF IT'S NOT, ASSUME IT'S NOT A DZV11
(2) 032711 000040 BIT ¥BITS, (R1) *1S MASTER SCAN ENABLE STILL SET?
(2) 001430 BEQ 3$ “IF NOT, ASSUME IT'S NOT A DZV11
(2) 052711 000020 8IS #20,(R1) *SET DEVICE CLEAR
(2) 000240 NOP
(2) 032711 000040 BIT #40, (R1) :DID SCANNER CLEAR
(2) 001022 8NE 3s “IF NOT ASSUME IT IS NOT D2V
(2 005061 000004 CLR 4(R1) *GET RID OF TCR BITS
(2 sAT THIS PNINT IT IS ASSUMED THAT R1 HOLDS A DZV11 CSR ADDRESS.
(2) 010122 MOV R1,(R2)+ :STORE CSR IN CORE TABLE.
(2) 005722 TST (R2) + ‘POP OVER VECTOR STORE AREA
(2) 012722 000017 MOV #7.,(R2)+ PSET THE DEFAULT LINE SELECTION PARAMETER
2 0 012712 017470 MOV #17470, (R2) ‘SET THE DEFAULT PARAMETERS
@. 0 012223 MOV (R2)+,(R3)+ :COPY PARAMETERS INTO EIABLE DESCRIPTOR
(2) 0 005022 CLR (R2)+ ‘SET THE DEFAULT MODE OF OPERATION
) 0 012712 177777 MOV #~1,(R2) ‘TERMINATE LIST
2) 0 105237 001414 INCB  DZVNUM SUPDATE DEVICE COUNTER
(2) 0 122737 000020 001414 CMPB  #20,DZVNUM *ARE MAX. NO. OF DEV FOUND?
(2 0 001405 BEQ 1008 *YES DON'T LOOK FOR ANY MORE.
(M 0 062701 000010 3$: ADD #10.R1 *UPDATE CSR POINTER ADDRESS
(c: 0 022701 164000 CMP #164000,R1
253 8 001321 1008 BNE 2$ :BR IF MORE ADDRESS TO CHECK.
@) 0 105737 001414 1818 DZVNUM :WERE ANY DZV11'S FOUND AT ALL?
) 0 001430 BEQ 58 *ERROR AUTO SIZER FOUND NO DZV11°'S IN THIS SYS.
2> 0 113701 001414 MOVB  DZVNUM,R1
(2) 0 012737 000001 001410 MOV #1,SAVACTV :CREATE A BIT MAP OF THE ACTIVE
2 0 005301 48: DEC R1 ‘DEVICES IN THE SYSTEM
2 0 001404 BEQ 98$
(2) 011 000261 SEC
(2) 011 006137 001410 ROL SAVACTV
(2) 0N 000772 BR 4
(2) 011 013737 001500 001174 98%: MOV DZCRO, $BASE :POINT TO THE ADDRESS OF FIRST DEVICE
(2> 01 013737 001510 0017202 MOV MANTO . $CDW2 “INDICATE TO ETABLE WHAT MODE IS BEING USED
(2) 011664 012737 000006 000004 99$: MOV "6, ah *RESTORE TRAP VECTOR
(2) 011672 013737 001410 001176 MOV SAVACTV,SDEVM  :SAVE ACTIVE REGISTER
(2) 011700 000410 8R VECMAP ‘GO FIND THE VECTOR NOW.
(2) 011702 104402 007671 5$: TYPE  ,MERR2 NOTIFY OPR THAT NO DZV11'S FOUND.
(2) 011706 005000 CLR RO ‘MAKE DATA DISPLAY ZERO
(2> 011710 000000 HALT ‘STOP THE SHOW
(2) 011712 006776 BR .2 ‘DISABLE CONT. SW.
(2) 011714 012716 011602 68 : MOV #3$, (SP) "ENTERED BY NON-EXISTENT TIME-OUT
253 011720 000002 RTI *RETURN TO MAINSTREAM
(2) 011722 012737 000200 000022 VECMAP: MOV MMASK , aN22 ;SET 10T TRAP PRIORITY
(2) 011730 012737 012044 000020 MOV #4$,aN20 *SET 10T TRAP VECTOR
(2) 011736 012702 001500 MOV #DZV.MAP,R? ‘SET SOFTWARE POINTER
(2) 011742 012700 000300 MOV #300.R0 ‘FLOATING VECTORS START HERE.
(2) 011746 012701 (00302 MOV #302.R1 :PC OF JOT INSTR.
(2) 011752 010120 1%: MOV R1, (RO) ¢ *START FILLING VECTOR AREA
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(2) 011754 012721 000004 MOV #4,(R1)+ sWITH #2; 10T
(2) 011760 022021 CMP (ROI+, (R1) + SADD 2 YO RO +R1
(2) 011762 020127 001000 MP R1.#1000 ‘HAS THE VECTOR AREA BEEN EXCEEDED?
(2) 011766 101771 BLOS 1% ‘BR IF MORE TO FILL
(2) 011770 013704 001410 MOV SAVACTV,Ré *STORE TEMPORARILY
(2) 011774 006004 28: ROR R4 *BRING OUT A BIT
(2, 011776 103036 BCC 5% ‘BR IF ALL DONE
(2) 012000 106427 000000 MTPS %0 2ERO CPU PRIO
(2) 012006 012772 040040 000000 MOV #BIT144B175,3(R2} SSET TIE AND MAS SCAN
(2) 012012 011201 MOV (R2) .R1 <GET CSR
(2) 012014 112751 000017 000004 MOVB  #17.4(R1) *SET THE TCR BITS FOR ALL LINES
(2) TATTEMPT TO FORCE AN INTERRUPT
(2) 012022 005200 INC RO TSTALL
(2) 012024 001376 BNE =2 : FOR TIME TO INTERRUPT
(2) 012026 012762 000300 000002 MOV #300,2(R2) *NO INTERRUPT ASSUME 300 AND FIX DZV11 LATER
(2) 012034 000005 RESET CINIT
(2) 012036 062702 000012 3s: ADD #12.R2 *POP SOFTWARE POINTER
(2) 012042 000754 BR 28 ‘KEEP GOING
(2) 012044 011662 000002 48: MOV (SP),2(R2) *GET VECTOR ADDRESS
(2) 012050 162762 000010 000002 SUB #10,2(R2) *POINT BACK TO THE CORRECT VECTOR
(2) 012056 042762 000007 000002 B8IC #7,2(R2) *CLEAR JUNK
(2) 012064 022626 POP2SP ;POP JOT JUNK OFF STACK
(2) n12066 012716 012036 MOV #38, (SP) “SET FOR RETURN
(2) <072 000002 RTI
(2) 012074 013737 001502 001170 S$: MOV DZVCO.SVECTY  :COPY VECTOR OF FIRST DEVICE INTO ETABLE
(2) 012102 012737 004404 000020 MOV #.SCOPE.IOTVEC :RESTORE THE 3COPE TRAP .
f%; 012110 000207 RTS PC *ALL DONE WITH “AUTO SIZING'
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gggz sRRARRRARARRRreeteeentnnn TEST | sevcecnenananananvanananeanenen
1) tTHIS TEST PROVES THE BUS REPLY RESPONSE
(1) tDURING A READ OR WRITE TO THE FOLLOWING ADDRES.
2%; TES? DZVCSR, DZVRBUF, DZVTCR, DZVMSR
* o K
(6) :.ttttﬁtttt*tttittttt*titﬁttttttttttttttlttttttttttttiﬁtttttttttt
(5) 012112 000004 TST1:  SCOPE
(3) 012114 012737 000001 001246 MOV #1,STSTNM ;LOAD THE NUMBER OF THIS TEST
(3) 012122 012737 012302 001362 MOV #TSTZ NEXT sPOINT TO THE START OF THE NEXT TEST
(1) 012130 012737 012270 000004 MOV #58,4 ;SET TRAP VECTOR
(1) 012136 012737 000200 000006 MOV #HASK 6 SET PRIOR]ITY TO HIGH(HASK INTERRUPTS)
(1) 012144 012737 012152 001364 MOV JIS,LOCK ,,ET RETURN IF SW09=11
(1) 012152 013700 002010 1%: MOV DZVCSR,RO sSET ADDRESS TO TEST
(1) 012156 011001 MOV (RO ,R1 :READ THE ADDRESS
(1) 012160 000240 NOP JWASTE TIME
(1) 012162 005010 CLR (RO) JWRITE THE ADDRESS
(1) 012166 000240 NOP UASTE TIME
(1) 012166 012737 012176 001364 MOV #28,L0CK SET RETURN ADDRESS FOR SW09
(1) 0121746 013700 002014 2$: MOV DZVRBUF ,RO SET ADDRESS TO TEST
(1) 012200 011001 MOV (RO) ,R1 :READ 1.4t ADDRESS
(1) 012202 000240 NOP :
(1) 012204 005010 CLR (RO URITE THE ADDRESS
(1) 012206 000240 NOP UASTE TIME
(1) 012210 012737 012216 001364 MCV #3%,L0CK :SET RETURN ADDRESS FOR SW09
(1) 012216 013700 002024 3s: MOV DZVTCR,RO SET ADDRESS TO TEST
(1) 012222 011001 MOV (R0) ,R1 *READ THE ADDRESS
(1) 012224 000240 NOP
(1) 012226 005010 CLR (RO) JWRITE THE ADDRESS
(1) 012230 000240 NOP
(1) 012232 012737 012240 001364 MOV #48,L0CK ;SET RETURN ADDRESS
(1) 012240 013700 002030 43: MOV DZVMSR RO JSET ADDRESS TO TEST
(1) 012264 011001 MOV (R0 ,R1 JREAD FROM ADDRESS
(1) 012246 000240 NOP
(1) 012250 005010 CLR (RO) JWRITE THE ADDRESS
(1) 012252 000240 NCP :
(1) 012254 012737 000006 000004 MOV 6,4 sSET TRAP CATCHER BACK TO NORMAL
(1) 012262 005037 000006 ¢LR 6 .
(1) 012266 104400 ADVANCE :SCOPE THIS TEST
(1) 012270 011601 5%: MOV (SP) ,R1 ;SAVE PC OF TRAP
(1) 012272 022626 POP2SP POP TRAP OFF STA(K
iy 012274 104001 ERROR 1 J*NO BUS REPLY RESPONSE.
(1) 12276 104401 SCOP1 :SW09=1?
(1) 0'2300 000111 JMP (R1) :RT]
3035 ‘tttttttttttttttttttttttt IEST Q NARRAAARARAARNRARKANRRRNAREARSY
3036 ;*THIS TEST PROVES THAT BIT 'DCLR'
3037 :tCAN BE ScT AND THAT IT WILL CLEAR
3038 :*BY ITSELf
3040 s:x TEST 2
(5) JIRARRARRARRRAR RN R AR NN C N AR RN R AN AR AR RN ARARN RN AR AR RN NS
(4) 012302 000004 TSTZ: SCOPE
(2) 012304 012737 000002 001246 MOV #2,8TSTNM sLOAD THE NUMBER OF THIS TEST
(2) 012312 012737 012346 001362 MOV lTSTB NEXT JPOINT TO THE START OF THE NEXT TEST
3047 012320 013700 Q02010 MOV DZVCSK,RO JSET POINTER
3342 012324 012710 000020 MOV JDCLR.(RO) :SET DCLR
3u43 012330 005005 CLR RS :SET EXPECTED T0 0
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3044 012332 005003 (LR R3 ;DUAL LOOF COUNTER
3045 012334 0110064 2$: Moy (RO) R4 +1S DCLR CLEAR?
3046 012336 001403 8eQ 3$ ;1F YES , GO TO THE NEXT TEST
3047 012340 105203 INCB R3 :1F NO,COUNT 1 OF 256 TICKS
3048 0.2342 001374 BNE 23 ;HAS THE TIME EXPIRED? IF NO, GO TESI BIT AGAIN
3049 012344 104002 ERROR 2 ;*DCLR FAILED TO CLEAR
3050 012346 3s:
3051 snnnneanannsnerennectent TEST 3 aennenntnannnn’ sanvevanvdenes
(1) ;*TEST TO VERIFY THAT THE R/W BITS OF THE
(1) ;*DZVCSR REGISTER CAN BE SET. THEN VERIFY THAT
1M ;*THESE BITS CAN BE CLEARED. AND FINALLY, VERIFY
(1) ;*THAT AFTER BEING SET AGAIN THEY (AN BE
(1) ;*CLEARED BY A "DEVICE CLEAR'",
(1) s*THE BITS TESTED ARE: MAINT, MSENAB, SILOEN,
(1) :*RIE, AND TIE.
(3) s:x TEST 3
6) IR AR RN RN R RN RN NN AN R AR RO RAA AR A NANERNRNRAARANRN RO ONS
(5) 0123646 000004 1ST3:  SCOPE
(3) 012350 012737 000003 001246 Mov #3,8TSTNM ;LOAD THE NUMBER OF THIS TEST
(3) 012356 012737 012524 001362 MOV #TST4 NEXT ;POINT TO THE START OF THE NEXT TEST
(1) 012364 013700 002010 MOV DZVCSR,RO ;GET BASE ADDRESS
(1) 012370 012703 012504 MOV #5$ R3 :SET R3 TO TOP OF TABLE
(1) 012374 031305 1$: MOV (R3S,RS :SET BIT
(1) 012376 012737 012404 001364 MOV #118,L0CK :SETUP FOR TIGHT SCNPE LOOP
(1) 012404 010510 118: MoV R5, (RO) sSET BIT IN DEVICE
(1) 072406 011004 MOV (R0) R4 ;READ THE BIT FROM DEVICE
(1) 012610 029504 CMP R5.Ré4 ;WAS BIT SET?
(1) 012412 001407 BEQ 2% :BR IF YES
(1) 012414 104002 ERROR 2 :*BIT R/W FAILURE
(1) 012416 104401 2$: SCOP1 ;1S _SWITCH 9 SET?
(1) 012420 012737 012426 001364 MOV #12%,L0CK sSET FOR NEXT TIGHT SCOPE LOOP
(1) 012626 040510 128: 81(C R5, (RO) sCLEAR THE BIT.
(1) 012430 011004 MOV (RO) R4 sREAD DEVICE
(1) 012432 001403 BEQ 3s ;BR_IF BITS WERE CLEARED.
(1) 012434 005005 CLR RS ;CLEAR FOR ERROR PRINTOUT
(1) 012436 104002 ERROR 2 ;*BIT FAILED TO CLEAR
(1) 012440 011305 MoV (R3) ,R5 ;RESTORE THE BIT.
(1) 012442 104401 3s: SCOP1 ;SW09 SET? -
(1) 012444 012737 012452 001366 MOV #13$,LOCK ;SET UP FOR NEXT TIGHT SCOPE
(1) 012452 010510 13s: MOV R5, (RO) :SET THE BIT AGAIN
(1) 012456 1046413 DEVICE.CLR s 1SSUE DEVICE CLEAR
(1) 012456 011004 MoV (RO) ,Ré ;READ THE BIT.
(1) 012460 001403 BEQ 4% ;BR_IF BIT CLEARED BY INIT (DEVICE CLEAR)
(1) 012462 005005 CLR R5 sSET_EXPECTED TO ZERO
(1) 012464 104002 ERROR 2 ;*BIT NOT CLEARED BY DEVICE CLEAR
1) 012466 011305 MOV (R3),R5 sRESTORE BIT AGAIN
(1) 012470 106401 48: SCOP1 ;W09 SET?
(1) 012472 062703 000002 ADD #2,R3 :PUP R3
(1) 012476 005713 TST (R$) ;1S THIS THE END OF TABLE?
(1) 012500 001407 BEQ 63 ;IF YES GET OUT
(1) 012502 000734 BR 1$ ;OTHERWISE TEST NEXT B17
(1) 012504 000010 5$: #MAINT ;CSR BIT: INTERNAL MAINTENANCE
(1) 012506 000040 #MSENAB ;CSR BIT: MASTER SCAN ENABLE
(1) 012510 010000 #SILOEN :CSR BIT: SILO ENABLE
(1) 012512 000100 #RIE ;CSR BIT: RECEIVER INTER. ENABLE
(1) 012514 040000 #TIE ;CSR BIT: TRANS. INTER. ENABLE
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(1) 012516 000000 #0 JEND OF TABLE
(1) 012520 005037 001364 6%: CLR LOCK ;ZERD LOCK INDTCATOR
3052 INRRRRANRARRA AT T RAACANAS TEST 4 sancnnnannsanngtetaanvnasdtetdse
1) :#THIS TESTS THAT ALL OF THE T(CR BITS
(1 :*CAN BE: SET, CLEARED, AND CLEARED BY A DEVICE CLEAR.
1) :«THIS TEST ALSO DETERMINES IF THE DTR BITS CAN
{%; TESi'?E SET, CLEARED, AND CLEARED BY A RESET.
.:.
(6) E:tttttttttttttttttttttttttttttﬁtttttttttttttt'ttttttt'tttttttitt
(5) 012526 000004 TST4:  SCOPE
(3) 012526 012737 000004 001246 MOV #46 ,8TSTNM ;LOAD THE NUMBER OF THIS TEST
(3) 012534 012737 012730 001362 MOV #TSTS NEXT ;POINT TO THE START OF THE NEXT TEST
(1) 012542 013700 002024 MOV DZVTCR,RO JSET DEVICE ADDRESS
(1) 012546 012703 012634 MOV #5% R3 :SET R3 POINTER TO TOP OF TABLE
(1) 012552 012737 012562 001364 18: MOV #11§.LOCK sSET LOCK FOR SW09 SCOPE LOOP
(1) 012560 011305 MOV (R3) ,RS :SET EXPECTED RESULTS
(1) 012562 010510 11%: MOV RS, (R0O) JSET THE BIT
(1) 012564 011004 MoV (RO).R4 :READ THE BIT FROM THE DEVICE
(1) 012566 020504 CMP R5.Ré4 :DID THE BIT SET?
(1) 012570 001401 B8EQ 9 ;BR IF YES
(1) 012572 104002 ERROR 2 ;«3IT FAILED TO SET.
(1) 012576 106601 2%: SCoP? ;SW09 SET?
(1) 012576 012737 012604 001364 MOV #3%,L0CK :SET UP FOR NEXT TIGHMT SCOPE LOOP
(1) 012604 040510 3s: BIC RS, (R0O) :CLEAR THE BIT
(1) 9126C6 011004 MOV (RO) R4 sREAD THE REGISTER
(1) 012610 001403 BEQ 49 :BR IF YES
(1) 012612 005005 CLR RS :SET EXPECTED TC 0
(1) 012614 104002 ERROR 2 ;*REPORT BIT NOT CLEAR
(1) 012616 011305 MOV (R3) ,RS :RESTORE RS
(1) 012620 104401 48: SCOP1 ;SW09 SET?
(1) 012622 062703 000002 ADD #2 ,R3 :POP POINTER TO NEXT TABLE ENTRY
(1) 012626 005713 TST (RS) *END OF TABLE?
(1) 012630 001412 BEQ 63 ;1F YES JUMP OVER TABLE
(1) 012632 000747 BR 1% :START TESTING NEXT BIT
(1) 012634 000001 5%: #TCRO :TCR BIT FOR LINE O
(1) 012636 000002 #TCR1 :TCR BIT FOR LINE 1
(1) 012640 000004 #TCR2 :TCR BIT FOR LINE 2
(1) 012642 000010 #TCR3 ;TCR BIT FOR LINE 3
(1) 012644 000400 #DTR( :DTR BIT FOR LINE O
(1) 012646 001000 #DTR1 :DTR BIT FOR LINE 1
(1) 012650 002000 #DTR?2 :PTR BIT FOR LINE 2
(1) 012652 004000 #DTR3 :DTR BIT FOR LINE 3
(1) 012656 000000 #0 SEND OF TABLE
(1) 012656 005037 001364 6$: CLR LOCK JCLEAR TIGHT SCOPE LOOP INDIC.
(1) 012662 012710 177777 MOV #-1,(R0O) sSET ALL BJTS IN TCR REGISTER
(1) 012666 012705 007400 MOV #007400,RS :SET EXPECTED
(1) 012672 104413 DEVICE.CLR ;SET DCLR BIT IN CSR
(1) 012676 (011004 MOV (RO) ,R& :READ REGISTER
(1) 012676 020504 CMP R5.R4 :TCR BITS CLEARED?
(1) 012700 001401 BEQ 7% :JF YES BRANCH
(1) 012702 104002 ERROR 2 :TCR BITS NOT CLEARED!
(1) 012704 005005 7$: CLR RS sSET T4 ECTED TO ZERO
(1) 012706 005227 000000 8$: INC #0 sDELAT “OR ACT
(1) 012712 001375 BNE 8% :
(1) 0127214 0127210 177777 MOV #-1,(R0O) ;SET ALL PCSSIBLE BITS
(1) 012720 000005 RESET ;D0 BUS INIT
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(1) 012722 011004 MOV (RO) R4 :DiD REGISTER CLEAR?
(1) 012726 001401 BEQ 9% JIF YES GET OUT
(1) 012726 104002 ERROR 2 REGISTER DID NOT CLEAR!
(1) 012730 9s:
3053 JARRRANARARANARACTANNCAOAR TEST 5 tnantnnenttsatattattesantsnsnsy
QR tTHIS TEST VERIFIES THAT
(1 tBITS "RDONE, TRDY, BIT9, BITS,
(1) tAND SILOAL" ARE READ ONLY AND THAT TRDY IS
{}; *ZERO UNTIL A LINE IS SELECTED AND MSENAB IS SET.
(3) L TEST S
(6) IR AR RN A AR E AR AR AANRAANRAACATARARARRRAARRONAARORAR
(5) 012730 000004 TSTS:  SCOPE
(3) 012732 012737 000005 00124€ MOV #5,8TSTNM ;LOAD THE NUMBFR OF THIS TEST
(3) 012740 012737 013032 001362 MOV #TST6 NEXT POINT TO THE START OF THE NEXT TEST
(1) 012746 013700 002010 MOV DZVCSR,RO :SET ADDRESS TO RO
(1) 012752 104413 DEVICE.CLR DO A DEVICE CLEAR
(1) 012754 005005 CLR RS SET EXPECIED TO 0
(1) 012756 012710 121600 MOV #RDONE+TRDY+BIT9+BIT8+SILOAL , (RO)
1) ;WRITE THE BITS
(1) 012762 011004 MOV (RO) .R4 :READ BACK THE BITS
(1) 012764 001401 BEQ 2$ :BR IF NONE ARE SET.
(1) 012766 104002 ERROR 2 ;*BITS WERE SET.
(1) 012770 G12705 100040 2$: MOV #TRDY+MSENAB RS SET EXPECTED BIT
(1) 012774 052777 000017 167022 BIS #17,aDZVT(R SET TCR BITS FOR ALL LINES
(1) 013002 052710 000040 8IS #MSENAB (RO) SET SCAN ENABLE
(1) 013006 005002 CLR R2 SET COUNFER TO ZERO
(1) 013010 011004 3s: MOV (RO) R4 READ THE REGISTER
(1) 013012 042704 001400 BIC #BIT§'BIT8 R4 HASK 0Ul LINE NO.
(1) 013016 020504 CMP RS R4 :BIT SET?
(1) 013020 001404 BEQ ;:BR ]F YES
(1) 013022 104414 DELAY JSTALL TIME
(1) 013024 005202 INC R2 ;UPDATE COUNTER
(1) 013026 001370 BNE 3s :BR IF COUNTER NOT DONE.
(1) 013030 104502 ERROR 2 :«TRDY NOT SET!
(1) 013032 43:
3054 JARRARRRAARANRAANAAARARAL TEST 6 AXXNXANAR KRAXKKXARNRNRASRARANAS
3055 *THIS TEST VERIFIES THAT:
3056 tTIE SILOEN_RIE ,MSENAB,AND MAINT ARE THE
3057 *ONLY R/W BITS.IN THE DZVCSR AND THAT
3058 *SETTING ‘DCLR'* IN THE CSR WILL CLEAR THESE BITS.
3060 Jin TEST 6
(5) IR RARERA R AR AN TR A RN NN RN AR RN ARAACARNRANRRRRRER AR AN
(4) 013032 000004 TST6:  SCOPE
(2) 013034 012737 000006 001246 MOV #6,3TSTNM :LOAD THE NUMBER OF THIS TEST
(2) 013042 012737 013162 001362 MOV #TST? NEXT POINT TO THE START OF THE NEXT TEST
3061 013050 104413 DEVICE.CLR JSET DCLR IN CSR
3062 013052 013700 002010 MOV DZVCSR,RO SET UP FOR ERROR MESSAGE
3063 013056 012710 177757 MOV #‘C(DCLR) (RO) TRY TO SET ALL BITS EXCEPT DCLR
3064 013062 012705 050150 MOV #TIE'SILOEN'RIE'MSENAB'HAINT RS ;MAKE EXPECTED
3065 013066 011004 MOV ACTUAL
3066 013070 020405 CMP Rt. R5 cnp EXPECTED VS ACTUAL
3067 013072 (01401 BEQ 18’ ;YES
3068 013074 104002 ERROR 2 *NO
3069 013076 105010 1$: CLRB (RO) *CLEAR LOW BYTE OF (SR
3070 013100 105005 CLRB RS CLEAR LOW BYVE OF EXPECTED DATA
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3071 013102 011004 MOV (RO) R4 ;READ (SR
3072 013104 020405 CMP Rk.Rs :DOES CSR COMPARE WITH EXPECTED?
3073 013106 001401 8EQ 33 JBRANCH ]F YES
3074 013110 104002 ERROR 2 JIF NOT PRINT ERROR
3075 013112 012710 177757 3$: MOV #°C<DCLR>,(RO) ;SET ALL CSR BITS POSSIBLE
3076 013116 105077 166670 CLRB aHDZVCSR :CLEAR HIGH BYTE OF (SR
3077 013122 012705 000150 MOV #RIE!HSENAB!HAIN?.RS :SET EXPECTED IN RS
3078 013126 011004 MOV (RO) R4 ;READ CSR REGISTER
3079 013130 020405 CMP R4 RS :DOES ACTUAL=EXPECTED
3080 013132 001401 8EQ 4$ JIF YES CONTINUE
3081 013134 104002 ERROR 2 :]JF NO PRINT ERROR
3082 013136 012710 177757 48: MOV #~C<DCLR>,(RO) ;SET ALL POSSIBLE CSR BITS
%083 013142 005005 CLR RS :SET RS TO EXPECTED RESULTS
3084 013146 052710 000020 BIS #DCLR, (RO) :DEVICE MASTER RESET
3085 013150 000240 NOP
3086 013152 011004 MOV (RO) R4 sACTUAL
087 013154 020405 CMP R4 ,RS <CMP ACTUAL VS EXPECTED
3088 013156 001401 BEQ 2% :YES
3089 013160 104002 ERROR 2 s*NO
3090 013162 2$:
2091 IRRRERRAARRNAREAAAANRANRS TEST 7 Aatasttttttat sttt AR ananvtadnnes
(1) :*THIS TEST PERFORMS RESET TESTING AND
1) :«TESTING OF READ ONLY REGISTER D2VRBUF
g%; TES%*QND TESTING OF WRITE ONLY REGISTER DZVLPR
.:*
(6) E;ttttittttttttttttttttttttttﬁttltttttttttttttttttttttt*ttttttttt
(5) 013162 000004 TST7: SCOPE
(3) 013164 012737 000007 001246 MOV #7 ,$TSTNM ;LOAD THE NUMBER OF THIS TEST
(3) 013172 012737 013246 001362 MOV #TST10,NEXT :POINT TO THE START OF THE NEXT TEST
(1) 013200 104413 DEVICE.CLR ;CLEAR DIV
(1) 013202 013700 002014 MOV DZYRBUF ,RO JSET UP FOR ERROR MESSAGE
(1) 013206 011005 MOV (RO) ,RS ;COPY PRESENT CONTENTS
(1) 013210 042705 106000 8l1( #DVALID!'BITI1!8IT10,RS ;CLEAR ILLEGAL BITS
(1) 013214 012777 177777 166576 MOV #-1,3DZVLPR :TRY TO WRITE ALL 1°'S
(1) 013222 011004 MOV (R05 R& ;ACTUAL
(1) 0132246 020405 CMpP R4.R5 :CMP ACTUAL VS EXPECTED
(1) 013226 001401 BEQ 1$ ;1F YES,GO CONTINUE PROCESSING
(1) 013230 104002 ERROR 2 ;*ERROR= BIT PATTERN NOT CORRECT
(1) 013232 005077 166562 1$: CLR aDZVLPR ;TRY TO WRITE ALL ZEROES
(1) 013236 011004 MOV (RO) R4 sREAD REGISTER
(1) 013240 020405 CMP R4,RS *CMP ACTUAL VS. EXPECTED
(1) 013242 001401 BEQ 2% JBRANCH IF EQUAL
(1) 013246 104002 ERROR 2 JVALUES DID NOT COMPARE
(1) 013246 2$:
3092 SRANRRARAARAAAAAEACARRRNS TEST 10 Ao aata sttt sttt tt ettt tvtds
(1) :*TH]S TEST PERFORMS RESET TES1iNG AND
(1) s*TESTING OF READ ONLY REGISTER D’VMSR
g}; TESi'?go TESTING OF WRITE ONLY REGIS 'ER DZVTDR
o:*
(6) E;tttttttttttttttt*tttti'ttttttttttttttttttttttttttitttttttttttt!
(5) 013246 000004 TST10: SCOPE
(3) 013250 012737 000010 001246 MOV #10,8TSTNM :LOAD THE NUMBER OF THIS TEST
(3) 013256 012737 013332 001362 MOV #TST1T NEXT sPOINT 10 THE START OF THE NEXT TEST
(1) 013264 104413 DEVICE.CLR :CLEAR DZV11
(1) 013266 013700 002030 MOV DZVMSR,RO :SET UP FOR ERROR MESSAGE
(1) 013272 011005 MoV (RO).RS ;COPY PRESENT CONTENTS
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(1) 013274 042705 170360 BIC #170360,RS ;CLEAR ILLEGAL BITS
(1) 013300 112777 177777 MOVB  #-1,aD2VIDR ‘TRY TO WRITE ALL 1°S
(1) 013306 011004 MOV (ROS R4 *ACTUAL
(13 013310 020405 CMP R&.RS SCMP ACTUAL VS EXPECTED
(1) 013312 001407 BEQ 18 “IF YES.GO CONTINUE PROCESSING
(1) 013314 104002 ERROR 2 **ERROR- B8IT PATTERN NOT CORRECT
(1) 013316 005077 166512 1$: CLR aDZVIDR :TRY TO WRITE ALL ZEROES
(1) 913322 011004 MOV (RO) R4 SREAD REGISTER
(1) 013324 020605 CMP R4 RS “CMP ACTUAL VS. EXPECTED
(1) 013326 001601 BEQ 28 *BRANCH [F EQUAL
(1) 013330 104002 ERROR 2 ‘VALUES DJD NOT COMPARE
3535 013332 28:
309[, ;ttttttttttﬁtﬁttt*ttttttﬁ TEST 11 (223232323323 23313132332232332323343.
3095 T«VERIFY THAT SETTING 'DTR'* FOR A LINE WILL
3096 1«BRING UP ''CO’* AND 'RING'’ FOR:
3097 1«THE SAME LINE IF IN EXTERNAL MODE
3098 “«THE STAGGERED LINE IF IN STAGGERED MODE.
3099 *«LINES ARE STAGGERED AS FOLLOWS:
3100 S«LINEO WITH LINEY; LINE2 WITH LINE3.
3101 *xTHIS TEST IS ONLY RUN IF AN H325,0R H329
g}gz “«]S CONNECTED ON THE DZV UNDER TEST.
3105 ;v TEST 1
(S) :;ttttt*ttttit*ttttt'ttti'tttﬁttl.ﬁt*ttttttittt‘ (23222322322 X22324323 34
(4) 013332 000004 1ST11:  SCOPE
(2) 013334 012737 000011 001246 MOV #11,$TSTNM :LOAD THE NUMBER OF THIS TEST
(2) 013342 012737 013526 001362 MOV #TST12,NEXT "POINT TO THE START OF THE NEXT TEST
3106 013350 005737 001372 TST MODE STEST TO SEE IF TESTING WITH
3107 013356 001001 BNE 8s : CONNECTOR
3108 013356 104400 ADVANCE *IF NO, GO TO NEXT TEST
3109 013360 012737 013450 001364 8S: MOV #108.,L0CK *SET FOR TIGHT SCOPE LOOP
3110 013366 1046413 DEVICE.CLR *SET DCLR IN CSR TO ZERO DEVICE
3111 013370 013700 002030 MOV DZVMSR,RO *SET REGISTER
3112 013374 005003 CLR R3 “ZERO LINE NUMBER
3113 013376 012702 000001 MOV #1,R2 *SET POINTER
3114 013402 130237 001366 1$: BITB  R2.LINE STEST THIS LINE?
3115 013406 001003 BNE 3$ SYES
3116 013410 005203 28: INC R3 SLINE #
3117 013412 104420 SHIFT SGET NEXT LINE
3118 013414 000772 BR 18 STEST NEXT LINE
3119 013416 010204 38: MOV R2,R4 *SAVE BINARY BIT FOR LINE #
3120 013420 105737 001372 TSTB  MODE "RUNNING IN EXTERNAL MODE?
3121 013424 100406 BM] 5% *IF YES SKIP STAGGERED SETUP
3122 013426 032703 000001 BIT #BITO,R3 ‘IF EVEN L'NE
3123 013432 001402 BEQ 43 1GC GET ODD PARTNER
3124 013434 006204 ASR R4 *OTHERWISE GET EVEN COMPANION
3125 013436 000401 BR 5% 16O SETUP EXPECTED RESULTS
3126 013440 006304 48: ASL R4 "+ IND ODD PARTNER
3127 013442 010405 58: MOV R4 RS *LOAD RS FOR EXPECTED
3128 013444 000305 SWAB RS *PLACE IN UPPER BYTE
3129 013446 150405 BISB  R&4,RS “SET FOR RING BITS
3130 013450 150277 166352 108: BISB  R2.aHDIVTCR *SET DTR BIT
3131 013454 104414 DELAY *DELAY FOR CABLE LAG
3132 013456 011004 ) MOV (RO) ,R4 ‘MOVE RESULTS OF MSR REGISTER TO R4
3133 013460 020504 CMP RS5.R& *RESULTS=EXPECTED?
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31346 013462 001601 BEQ 63 :sJF YES CONTINUE
3135 013466 104002 ERROR 2 IF NOT PRINT ERROR RESULTS
3136 013466 104401 6%: SCOP1 ;IS SW09 SET?
3137 013470 012737 013476 001364 MOV #118,L0CK SET UP FOR NEXT TIGHT SCOPE
3138 013476 140277 166324 118: BI(8 R2.,8HDZVTCR CLEAR DTR BIT FOR LINE UNDER TEST
3139 013502 104414 DELAY DELAY FOR CABLE LAG
3140 013504 011004 MOV (RO) R4 LOAD MSR REGISTER INTO R4
3141 013506 0(1402 BEQ ’$ IF CO AND RING CLEARED CONTINUE
3142 013510 005005 (LR RS OTHERUISE SET EXPECTED FOR ERROR
3143 013512 104002 ERROR 2 PRINTOUT
3144 013514 104401 7%: SCOP1 ;1S SW09 SET?
3145 013516 012737 013450 001364 MOV #108,L0CK RESET TIGHT SCOPE LOOP
%}29 013524 000731 B8R 2$ 'GET NEXT LINE
3148 JRRARRARRAANAAANERAANAANS TEST 12 avansananantsatttrddrttttdtdne
QP :* THIS TEST VERIFIES THAT TRDY IS SET WHEN A LINE
1) :* IS READY TO BE LOADED, AND THAT THE LIME SPECI-
(1) :* FIED IN BITS 8-9 OF DZVCSR CORRE SPOND
(1) :* TO THE LINE SELECTED IN DZVT(R
(3) s TEST 12
(6) SRR ARAARANANRARRARRA R TR AR AN AAARTATEAANAA AR RAANANRRRN
(5) 013526 000004 TST12: SCOPE .
(3 013530 012737 000012 001246 MOV M, STSTNM :LOAD THE NUMBER OF THIS TEST
(3) 013536 012737 013660 001362 MOV #TST13, NEXT POINT TO THE START OF'THE NEXT TEST
1) 013544 104413 DEVICE.CLR :JSSUE A 'DEVICE CLEAR'' (RESET)
1) 013546 012737 013602 001364 MOV #28,L0CK SET UP FOR TIGHT SCOPE LOOP
1) 013554 005037 001374 CLR SAVLIN INITIALIZE FOR ERROR PRINTOUT
1) 013560 013700 002010 MOV DZVCSR,RO SET POINTER
1) 013564 012705 100040 MOV ﬁHSENAB'TRDV RS START THE EXPECTED LINE NUMBER AT 0
1) 013570 012702 000001 MOV #1,R2 USING R2 AS A BIT POINTER, POINT TO LINE O
1) 013574 130¢3/7 001366 1$: BIT8 RZ,LINE ;IS THIS LINE SELECTED?
1) 013600 001421 BEQ 6% :IF NO, SKIP THE STARTUP
1) 013602 050277 166216 2%: 8IS R2,aDZVTCR SET THE GO BIT FOR THIS LINE
1) 013606 052710 000040 BIS #MSENAB, (R0O) START THE SCANNER
1) 013612 005004 CLR R4 :SET FOR DELAY
1) 013614 005710 3$: TST (RO) ;TX READY?
1) 013616 100404 BMI 43 :BR JF YES
1) 013620 104414 DELAY ;sDELAY
1) 013622 005204 INC R4 - COUNTER
1) 013624 001373 BNE 3 :BR IF <>0!
1) 013626 104003 ERROR 3 :=TX NOT READY!
1* 013630 011004 4$: MOV (RO) R4 GET THE LIME POINTED TO B8Y THE SCANNER
1) 013632 020405 CMP R4, RS IS THE LINE NUMBER WHAT IT SHOULD BE?
1) 013634 001401 B8EQ 58" IF YES,GO WORK ON THE NEXT LINE
1) 013636 104002 ERROR 2 tLINE NUMBER DID NOT MATCH T(R BIT
1) 013640 104401 5%: SCOP1 IS SW09 SET?
1) 0136642 104413 DEVICE.CLR SET DCLR IN CSR;SETUP FOR NEXT LINE
1) 013644 062705 000400 6$: ADD #400,R5 POINT TO THE NEXT EXPECTED LINE
1) 013650 104420 SHIFT POINT TO THE NEXT LINE.ARE ALL LINES TESTED?
1) 013652 005237 001374 INC SAVLIN ADJUST FOR ERROR PRINTOUT
1) 013656 000746 BR 1% :IF NOT, GO DO THE NEXT LINE
49 tttttttttttttttttttttttt TEST f} RARRARNARARRRRR R ARARRAAAREARS
50 tTEST TO TRANSMIT ONE CHAR AND
51 tRECEIVE ONE _CHAR ON ONE LINE
52 tAT A TIME. THE CHAR ]S °'7252'' AND
53 *ALL SELECTED LINES WILL BE T/RNED ON .
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3154 :oTHIS 1S THE FIRST TIME ANY
3155 teDATA IS CHECKED IN THE RECEIYER.
3156 teUSING SWITCH NINE WITH THIS TEST CREATES A TIGHT SCOPE LOOP
3157 ‘«WH]CH TRANSMITS A STEADY STREAM OF CHARACTERS.
3159 s:v TEST 13
(S) ; M tttttttttttttt*ttttttt'tttﬁttttttﬁttttktttttttttttttttttttttttt
(4) 013660 000004 7S113:  SCOPE
(2) 013662 012737 000013 001246 MOV #13,$TSTNM ;LOAD THE NUMBER OF THIS TEST
(2) 013670 012737 014150 001362 MOV ATST14,NEXT *POINT TO THE START OF THE NEXT TEST
(1) 013676 012737 014132 001364 MOV #168,L0CK “USE THIS ADDRESS IF A TIGHT SCOPE LOOP IS SELECTED
3160 013704 106417 DCLASM *SET DCLR IN CSR AND SET MAINT MODE
3161 013706 104421 LPRSET *LOAD LPR REGISTER FOR ALL LINES
3162 013710 005037 001374 CLR SAVLIN *INIT. FOR ERROR PRINTOUT
3163 013714 105037 001425 CLRB  DONFLG “INIT FOR TCR BIT HANDLER
3164 013720 012702 000007 MOV #1 R2 *LINE POINTER
3165 013726 012701 000252 MOV #2852 .R1 "SAVE CHARACTER TO BE TRANSMITTED
3166 013730 052777 000040 166052 BIS #MSENAB,3DZVCSR :START SCANNER
3167 013736 030237 001366 3$: BIT R2,LINE SVALID LINE ?
3168 013742 001467 BEQ 15§ *NO SET UP NEXT LINE
3169 013744 C10277 166056 MOV R2,3DIVTCR ‘SET TCR BIT
3170 013750 005005 5% : CLR RS *SET RS FOR A DELAY LOOP
3171 013752 105777 166032 TSTB  @aDZVCSR :1S REC DONE = 0 ?
3172 013756 100001 BPL 63 “IF YES, ALLOW TIME FOR TRDY TO SET
3173 013760 104020 ERROR 20 *«REC DONE SHOULD = 0
3174 013762 005777 166022 68: 15T aDZVCSR *TRDY SET?
3175 013766 100404 BM] 78 *IF YES BRANCH
3176 013770 104414 DELAY *1F NO THEN WAIT FOR IV
3177 013772 005205 INC RS ‘DELAY LOOP
3178 013774 001372 BNE 6$ *BRANCH BACK AND TEST AGAIN
3179 013776 104003 ERROR 3 ‘«TRDY FAILED TO SET!
3180 014000 105737 001425 78: TSTB  DONFLG ‘HAVE WE ALREADY SENT CHARAC.
3181 014004 001041 RNE 138 *IF YES GO CLEAR TCR BIT
3182 014006 105237 001425 INCB  DONFLG *1F NOT INDICATE HAVING BEFN HERE
3183 0 4012 110177 166016 MOVB  R1,aDZVTDR ‘LOAD CHARACTER
3184 014016 013705 001374 MOV SAVLIN,RS *MAKE EXPECTED LINE #
3185 014022 005737 001372 ST MODE YIS THIS TEST IN STACGERED MODE?
g}; 014026 100006 BPL 108 *IF NOT, SKIP STAGGEFED SETUP
g;; :WE MUST NOW INVERT THE LAST BI1 OF THE LINE NUMBER
(1) 014030 006205 ASR RS :GET THE LAST BIT INTO THE CARRY BIT
(1) 014032 103402 BCS 8s SIF IT IS SET, GO CLEAR IT
(1) 014036 000261 SEC “IF IT 1S CLEAR SET IT HERE
(1) 014036 000401 B8R 98 *SKIP THE CLEARING
(1) 014040 000241 8s: cLe *CLEAR THE CARRY BIT (INVERSION OF LINE PARITY)
(1) 0140452 006105 98 : ROL RS ‘GET THE NEW BIT BACK INTO RS
3186 014044 000305 10$: SWAB RS *MOVE THE LINE NUMSER TO THE UPPER BYTE
3187 014046 150105 AISB  R1,RS *ADD CHARACTER
3188 014050 052705 100000 BIS #DVALID,RS *ADD DATA VALID
2189 014054 005003 . CLR R3
3190 014056 105777 165726 118:  TSTB  aDZVCSR ;1S RDONE SET?
3191 014062 100404 BM] 128 *IF YES GO GET CHAR.
3192 014066 104414 DELAY *I" NOT THEN WAIT
3193 014066 005203 INC R3 *DELAY LOOP
3194 014070 001372 BNE 11$ "DELAY DONE?
3195 014072 104004 ERROR & *«RDONE FAILED TO SET!
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3196 014074 017704 165714 12%: MOV @DZVRBUF ,Ré ;LOAD THE VALUE ACTUALLY RECEIVED
3197 014100 020405 (MP R4 RS :COMPARE ACTUAL VS EXPECTED. ARE THEY THE SAME?
3198 016102 001722 BEQ 5¢ :JF YES, GO DO THE NEXT LINE
3199 016106 1046006 ERROR 6 :«*NO DATA/CONTENTS DID NOT COMPARE
3200 014106 000720 B8R 5% :G0 BACK AND WAIT TO CLEAR TCR BIT
3201 014110 104401 13%: SCOP1 sCHECK TO SEE IF SWITCH NINE 1S SET
3202 014112 105037 001425 CLRB DONFLG :SET UP FOR NEXT LINE
3203 014116 005077 165702 CLR aDZVT(R :CLEAR PREVIOUS T(CR BIT
3204 014122 005237 001376 15$: INC SAVLIN <SET LINE INDICATOR FOR “EXT LINE
3205 014126 104420 SHIFT ;CALCULATE NEXT LINE
%%89 014130 000702 BR 3s :GET GET STARTED
%%83 :TIGHT SCOPE LOOP FOR THIS TEST. LOOP TRANSMITS CHARACTERS ONLY
3210 014132 005777 165652 1€%: TST aDZVCSR :1S TRANSMITTER READY?

3211 014136 100375 B8PL 16% JIF NOT, WAIT FOR IT
3212 014140 110177 165670 MOvVB R1,aDZVTDR :LOAD THE CHARACTER
3213 014146 104601 SCOP1 ;LOOP AGIN IF SW09=1
gg}g 014146 000760 BR 13% :OTHERWISE, GO PICK UP THE TEST NORMALLY
3216 IRANRRARARANRARACARNRRANN TEST 14 AAaaananantatsatastagtatatatttdd
3217 :*THIS TEST VERIFIES THAT EACH RECEIVING LINE CAN BE
3218 :«DISABLED 8y SETTING RCVON ‘BIT12 IN THE LPR REGISTER)
3219 :%TO ZERO FOR EACH LINE.
3220 :*THIS TEST ALSO VERIFIES THAT THE SILO CAN BE
3221 :*EMPTIED BY ISSUING A DEVICE MASTER CLEAR.
3223 ;i TEST 14
(S) IR RAARRRR AN A RN AR NARAAARAAARACARR R AR RRAC AR
(4) 014150 000004 ST14: SCOPE
(2) 014152 012737 000014 001246 MOV #14,$TSTNM :LOAD THE NUMBER OF THIS TEST
(2) 014160 012737 014472 001362 MOV #TST15 NEXT ;POINT TO THE START OF THE NEXT TEST
3224 014166 105037 001425 CLRB DONFLG JCLEAR TEST CONTROL FLAG
3225 014172 005037 001374 CLR SAVLIN sCLEAR LINE INDICATOR
3226 014176 1046417 DCLASM sJSSUE A DEVICE MASTER CLEAR
3227 :AND SET MAINT BIT IF NECESSARY
3228 014200 013701 001370 MOV PAR,R1 :SAVE DEFAULT PARAMETERS
3229 014204 042737 010000 001370 8lC #RCVON,PAR :DISABLE RECEIVER IN DEFAULT PAR.
3230 014212 104421 1008: LPRSET :LOAD PARAMETERS IN LPR RECGISTER
3231 014214 010137 001370 MOV R1_PAR JRESTORE DEFAULT PARAMETERS
3232 014220 012701 000252 MOV #252,R1 SLOAD A CHARAC. INTO R1
3233 014226 013702 001366 MOV LINE ,R2 :COPY AN IMAGE OF THE ACTIVE LINES
3234 014230 010277 165570 MOV R2,aDZVTCR :SET TCR BJTS FOR ALL ACTIVE LINES
3235 014234 052777 000040 165546 8IS #MSENAB.aDZVCSR ;SET MASTER SCAN ENABLE
3236 014242 005005 18: CLR RS JINIT DELAY COUNTER
3237 014246 005777 165540 2s: TST aDZVCSR ;1S TRANS READY SET?
3238 014250 100404 BMI £l :BRANCH IF YES
3239 014252 104414 DELAY :WAIT FOR TRDY TO SET
3240 01425646 005205 INC RS :INCREMENT DELAY COUNTER
3241 014256 001372 BNE 2% JRETURN TO CHECK TRDY
3242 014260 104003 ERROR 3 :TRDY FAILED TO SET!
3243 014262 117705 165524 3s: MOvVB aHDZVCSR,RS :MOVE LINE NO. TO RS
3244 014266 012703 000001 MOV #1,R3 JINIT TCR POINTER
3245 014272 042705 177774 BIC #*C<3>,RS JISOLATE LINE NO.
3246 014276 001403 BEQ 318 ;IF LINE O BRANCH
3247 014300 106303 30s: ASLB R3 :SHIFT R3 POINTER TO NEXT LINE
3248 014302 005305 DEC RS :DECREMENT LINE NO.
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3249 014306 001375 BNE 308 :WHEN R5=0, R3 POINTS YO LINE TCR
3250 014306 030302 318: BIT R3.R2 HAS CHARACTER BEEN SEN:"
3251 014310 001007 BNE (3 1 BRANCH IF NO
3252 014312 1640377 165506 BI(B R3,aDZVTCR :1F YES THEN CLEAR TCR BIT
3253 014316 001351 BNE 1% IF ALL CHARAC. SENT DRO® (HrIGH
3254 014320 105737 001425 TST8B DONFLG IF NO MORE ACTIVE IS THiS SELIND
3255 TIHE HERE?
3256 014326 001037 BNE 108 IF YES SKIP TO SECOND PART JF T1:S7
3257 014326 000404 B8R 5% IF FIRST TIME HERE GO ZERO TCR B'TS
3258 014330 110177 165500 4(8: MOV8 R1.,aDZVTDR LOAD CHAR. INTO BUFFER
3259 014334 040302 8IC R2 INDICATE CHARAC. SENT ON THIS LINE
3260 014336 000741 BR 18 GO BACK AND WAIT FOR TRDY TO SET
3261 014340 005077 165460 5¢%: CLR aDZVTCR CLEAR OUT TCR BITS
3262 014344 005005 (LR R5 INIT DELAY COUNTER
3263 014346 105777 165436 6$: TST8 aDZVCSR IS RECEIV. DONE SET?
3264 (014352 100002 B8PL 73 IF NOT THEN WAIT TO SEE IF IT WILL
3265 014354 104020 ERROR 20 REC DONE SHOULD NOT SET!
3266 014356 0006403 8R 8s GO FIND WHICH LINE RECEIVED
3267 014360 1046414 7%: DELAY STALL FOR RECEIVER
3268 01464362 005205 INC R5 :INCREMENT DELAY COUNTER
3269 014364 001370 BNE (3 IF NOT DONE GO RETEST REC DONE
3270 014366 017704 165422 8$: MOV aDZVRBUF R4 READ REC. BUFFER
3271 014372 100007 BPL 93 'IS DVALID SET?
3272 014376 000304 SWAB R¢ JIF YES GET LINE NO.
3273 014376 042704 177774 B8IC #4C<3>,Ré ISOLATE LINE NO.
3276 014402 010637 001374 MOV R4,SAVLIN SET UP LINE NO. FOR ERROR REPORT
3275 014406 104017 ERROR 17 DVALID SHOULD NOT BE SET
3276 016410 000766 BR 8s GO CHECK FOR ANY OTHER CHAR. IN SILO
3277 014412 105237 001425 9% : INCB DONFLG :INDICATE THAT FIRST PART OF TEST IS DONE
3278 014416 013701 001370 MOV PAR,R1 SAVE DEFAULT LINE PARAM,
3279 014422 000673 BR 1008 NOU 60 RELOAD LPR REGISTER 10
3280 :TURN RECEIVERS ON
3281 014424 005005 10$: CLR RS ZERO DELAY COUNTER
3262 016426 1064414 11$: DELAY UAIT FOR ALL CHARAC. TO BE RECEIVED
3283 (014430 005205 INC RS INCREASE DELAY COUNT
3284 014432 001375 BNE 118 CONT DELAY IF NOT FINISHED
3285 014434 104413 DEVICE.CLR ISSUE A MASTER CLEAR
3286 014456 000240 NOP
3287 014440 000240 NOP
3288 014442 105777 165342 1ST8 aDZVCSR JNOW IS RECEIV. DGNE SET?
3289 014446 100003 8PL 12% BRANCH IF NO
3290 014450 005037 001374 (LR SAVLIN :CLEAR LINE NO FOR ERROR REPORT
3291 014454 1064020 ERROR 20 REC DONE SHOULD NOT BE SET!
3292 014456 017704 165332 12%: MOV aDZVRBUF R4 READ REC. BUFFER
3293 014462 100003 BPL 138 ;IS DVALID SET? IT SHOULDN'T BE
3294 014464 005037 001374 CLR SAVLIN DEVICE CLR DID NOT ZERO SILO
5295 014470 104017 ERROR 17 PRINT OUT THE ERROR.(LINE NO. IS IRRELEVANT)
gggg 014472 13%:
3298 IRNRRRARANANRA AN RCTRRANAAL TEST 15 AN aantaaaattaatatadetetrattens
3299 * THIS TEST PROVES THAT THE TRANSMITTER TRANSMITS
3300 *CHARACTERS (FLAG MODE)AND THE RECEIVER RECEIVES (FLAG MODE)
3301 t(ONE LINE AT A TIME BASED UPON VALID LINES)
3302 “«THIS IS THE FIRST TIME THAT ALL DATA IS CHECKED
3304 s TEST 15

(S) JIAARAARRR AR AANRARN AR AR RN SR ANRAANREARAR A CTRPANRANRNRRNRARRE AR
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DZV11 DEVICE DIAGNOSTICS.

TST15:

3%:

48

5%:
6%:

7%:

8$:
9%:
108:

11$:

128:

13%:

K 6

COPYRIGHT 1977,1981

VTDR

SCOPE

MOV #15,$TSTNM
MOV #T5T16,NEXT
MOV #58,L0CK
DCLASM

LPRSET

CLR SAVLIN

BUF SET

CLRB  DONFLG

MOV #1.R2

BIS MMSENAB.ADZVCSR
BIT R2,LINE
BEQ 15§

MOV R2,aDZVTCR
MoV JAVLIN,RO
ASL RO

TST8  aDZVCSR
BPL 5%

ERROR 20

CLR RS

ST aDZVCSR
BM] 78

DELAY

INC RS

BNE 68

ERROR 3

TSTB  DONFLG

BNE 148

MOVB  TDO(RO),aDZ
MOV SAVLIN,RS
TST MODE

BPL 108

:WE MUST NOW INVERT THE
ASR RS

BCS 83

SEC

BR 98

cLC

ROL RS

SWAB RS

BISB  TDO(RO),RS
BIS #DVALID RS
CLR R3

TST8  aDZVCSR
BM] 128

DELAY

INC R3

BNE 118

ERROR &

MOV abZVRBUF ,Ré4
CMP R4 RS

BEQ 13$

ERROR 6

SCOP1

DIGITAL EQUIP. CORP,

;LOAD THE NUMBER OF THIS TEST

:POINT TO THE START OF THE NEXT TEST
SUSE THIS ADDRESS IF A TIGHT SCOPE LOOP IS SELECTED
:SET DCLR AND SET MNTFLG

:LOAD LPR REGISTER FOR ALL LINES
:INIT FOR FIRST LINE

;ZERQ BUFFER AREA

:ZERO TCR BIT HANDLER FLAG

:LINE POINTER

:START SCANNER

:VALID LINE ?

:ND SET UP NEXT LINE

;SET TCR BIT

:ADJUST BUFFER POINTER

;OFFSET

;1S REC DONE = 0 ?

:IF YES, ALLOW TIME FOR TRDY TO SET
;*REC DONE SHOULD = 0

:USE RS AS TIMER WAITING FOR TRDY TO SET
;1S THE TRANSMITTER READY?

:IF SO, GO TRANSMIT A CHARACTER
:WAIT A LITTLE BIT

:UP THE LOCAL COUNTER.TIME EXCEEDED?
sIF NOT, GO _TRY AGAIN

;«TRDY FAILED TO SET!

SALL CHARAC. TRANS.?

;IF YES GO ZERO TCR BIT

sLOAD CHARACTER

:MAKE EXPECTED LINE #

;1S THIS TEST IN STAGGERED MODE?

:IF NOT, SKIP STAGGERED SETUP

LAST BIT OF THE LINE NUMBER

:GET THE LAST BIT INTO THE CARRY BIT

;IF 1T IS SET, GO CLEAR IT

$IF IT IS CLEAR SET IT HERE

;SKIP THE CLEARIM,

sCLEAR THE CARR: BIT (INVERSION OF LINE PARITY)
$GET THE NEW BIT BACK INTO RS

:MOVE THE LINE NUMBER TO THE UPPER BYTE

;ADD CHARA(TER

;ADD DATA VALID

sREC DONE?

;IF YES GO CHECK CHAR.

:1F NOT WAIT FOR REC.

:DELAY LOOP TIMER

:DELAY FINISHED?

:*RDONE FAILED TO SET!

:LOAD THE VALUE ACTUALLY RECEIVED

: COMPARE ACTUAL VS EXPECTED. ARE THEY THE SAME?
;IF YES, GO DO THE NEXT LINE

:«NO DATA/CONTENTS DID NOT COMPARE
:CHECK TO SEE IF SWITCH NINE IS SET

SEQ 0075

|
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5367 014726 105260 001426 INCB TDO(RO) :INCREMENT BINARY PATTERN FOR THIS LINE
,348 014732 001315 BNE 43 GO 'ROUND AGAIN FOR NEXT CHARACTER
33649 014734 105237 001425 INCB DONFLG INDlCATE ALL CHAR. SENT
3350 014740 000712 BR 43 BRANCH TO CLEAR T(CR BIT
3351 014742 005077 165056 14$: CLR aDZVT(R ;CLEAR TCR REGISTER
3352 014746 105037 001425 CLRB DONFLG INIT FOR NEXT LINE
3353 014752 005237 001374 15%: INC SAVLIN S INC EXPECTED LINE
3354 014756 104420 SHIFT SHIFT THE LINE POINTER. ARE WE ALL DONE?
g%gg 014760 000672 BR 3s :1JF NO, GO AROUND AGAIN FOR NEXT LINE

57
%gsg IRRRRRRCARAAANCACATANRARE TEST 16 wannsannssannavtdtnnatttddtttas
3359 tTHIS TEST WILL PROVE THAT:
3360 .* 1) THE TRANSMITTER 'BREAK BIT'' WORKS
3361 :% 2) THE RECEIVER CAN FLAG ''FRAMING ERRORS'’
3362 :% 3) THE RECEIVER CAN FLAG °‘'PARITY ERRORS''
3363 s*ONLY ONE LINE AT A TIME WILL BE EXERCISED.
3365 L TEST 16
(5) IIANANRAAANRARARE AR AN AR RN EAAARANRARRRARANNRANINAAAAARRCRAATAAAS
(4) 014762 000004 TST16: SCOPE
(2) 014764 012757 006016 001246 MOV #16,8TSTNM ;LOAD THE NUMBER OF THIS TEST
(2) 014772 012737 015164 001362 MOV #TSTT? NEXT POINT TO THE START OF THE NEXT TEST
3366 015000 012737 015110 001364 MOV #SS.LOCK ;SET FOR LOOP
3367 015006 005037 001374 CLR SAVLIN INIT LINE INDIC. FOR ERROR PRINTOUT
3368 015012 012702 000001 MOV #1,R2 :LINE POINTER
3369 015016 030237 001366 18: 8IT R2,.LINE VALID LINE?
3370 015022 001454 BEQ 9% :IF NOT SET FOR NEXT LINE
3371 015024 104417 DCLASM SET DCLR IN CSR AND SET MNTFLG
3372 015026 013701 001370 MOV PAR ,R1 PICK UP PARAMETERS
3373 015032 052737 000300 001370 BIS #ODDPAR!PARITY, PAR :FORCE ODD PARITY
3374 015040 104421 LPRSE?Y LOAD LPR REGISTER
3375 015042 010137 001370 MOV R1,P RESET PAR TO ORIGINAL VALUE
3376 015046 052777 000040 164734 BIS #HSENAB aDZVCSR ;START SCANNER
3377 015054 013705 001374 MOV SAVLIN,RS MAKE EXPECTED DATA
3378 015060 005737 001372 TST MODE ;1S THIS TEST IN STAGGERED MODE?
2}; 015064 100006 B8PL 43 IF NOT, SKIP STAGGERED SETUP
i}; :WE MUST NOW INVERT THE LAST BIT OF THE LINE NUMBER
(1) 015066 006205 ASR RS :GET THE LAST BIT INTO THE CARRY BIT
(1) 015070 103402 B8(S 23 IF IT IS SET, GO CLEAR IT
(1) 015072 000261 SEC IF IT IS CLEAR SET IT HERE
(1) 015074 000401 BR 3 SKIP THE CLEARING
(1) 015076 000241 2%: CLC CLEAR THE CARRY BIT (INVERSION OF LINE PARITY)
(1) 015100 006105 3s: ROL RS GET THE NEW BIT BACK INTO RS
3379 015102 000305 4%: SWAB RS PUT LINE NUMBER IN UPPER BYTE
3380 015104 052705 130000 BIS #DVALID!PARER!FRMERR,RS ;ADD EXPECTED
3381 015110 005003 58: CLR R3 INIT DELAY ACCUMULATOR
3382 015112 110277 164720 MOVB RZ,aHDZVTDR -SET BREAK BIT
3383 015116 105777 164666 6$: 1S718 aDZVCSR JRECEIVER DONE?
3384 015122 100404 B8MI 7% BRANCH IF YES
2385 015124 104414 DELAY UAIT FOR REC DONE TO SET
3386 015126 005203 INC R3 s INC DELAY LOOP
3387 015130 001372 BNE 6$ DELAY FINISHED?
3388 015132 104004 ERROR 4 tRDONE FAILED TO SET!
3389 015134 017706 164654 78: MOV aDZVRBUF R4 ACTUAL
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3390 015140 020405 CMp R4 ,R5 sCMP ACTUAL VS EXPECTED. DO THEY MATCH?
3391 015142 001401 BEQ 8s ¢IF YES, GO CLEAN U
3392 015144 104006 ERROR 6 :*DATA/CONTENTS FAILED TO COMPARE
3393 015146 105077 164664 8s: CLRB aHDZVTDR ;CLEAR BREAK BITS
3394 015152 104401 SCOP1 ;LOOP?
3395 015154 005237 001374 9s: INC SAVLIN ;INC LINE #
3396 015160 104420 SHIFT :SET R2 TO NEXT LINE
3397 015162 000715 BR 1$ :60 BACK_AND TEST NEXT LINE

tttitttttﬁtttt*ttttttttt TEST 17 St aataaaaanaadtattaattnaawdey

(1) i« THIS TEST VERIFIES THAT THE DEVICE DOES NOT INTERRUPT

1) :+WHILE THE PROCESSOR STATUS DOES NOT ALLOW INTERRUPTS

(1) ;#BUT WILL INTERRUPT IF THE PROCESSOR STATUS

(1) :*ALLOWS INTERRUPTS.

(3) ;ie TEST 17

(6) I ANE NN AN AR EN AR R AR RARRE AR ARNRNRERRANANARRRRANANAS
(5) 015164 000004 TST17: SCOPE

(3) 015166 012737 000017 001246 MOV #17,8TSTNM ;LOAD THE NUMBER OF THIS TEST

(3) 015174 012737 015560 001362 MOV #TST20 ,NEXT :POINT TO THE START OF THE NEXT TEST
(1) 015202 104417 DCLASM sSET DCLR IN CSR AND SET MAINT BIT
(1) :IF NECESSARY (INTERNAL MODE)

(1) 015204 104421 LPRSET :SET UP LPR REGISTER

(1) 015206 005037 001374 CLR SAVLIN :INIT LINE INDIC. FOR ERROR

(1) 015212 105037 001425 CLRB DONFLG ;INIT TCR BIT HANDLER FLAG

(1) 015216 113777 001366 164600 Movs LINE,3DZVTCR ;SET ALL VALID TCR BITS

(1) 015224 106427 000200 MTPS #MASK :SET CPU STATUS TO DZv11 PRIO,

(1) 015230 012777 000200 164604 Mov #MASK ,@DZVRIS  ;SET RECEIVER STATUS

2}; 8}2522 012777 000200 164602 1s Mov #MASK ,aDZVTIS  ;SET TRANSMITTER STATUS

(2) 0152644 012777 015332 164572 MoV #6$,aDZVTIV sSET UP THE TRANSMITTER INTERRUPT VECTOR
(2) 015252 012777 015356 164560 MOV #7%,8DZVRIV ;SET UP _THE RECEIVER INTERRUPT VECTOR
(2) 015260 012777 000200 164554 MoV NMASK,,@DZVRIS  ;SET THE INTERRUPT VECTOR STATUS

(2) 015266 012777 000200 164552 MoV #MASK.@DZVTIS  :SET TRANSMITTER INTERRUPT PRIORITY
(2) 015274 052777 060040 164506 8IS ATIE!MSENAB,aDZVCSR ;ENABLE THE DEVICE

(1) 015302 005005 CLR R5 ;INIT DELAY COUNTER

(1) 015306 005777 164500 48: TST aDZVCSR ;TRDY SET?

(1) 015310 100003 BPL 5% ¢IF NOT GO DO DELAY

(1) 015312 000240 NOP ;WAIT FOR INTERRUPT

(1) 015314 000240 NOP

(1) 015316 000420 BR 8$ ;GO CLEAR TIE BIT

(1) 015320 104414 58: DELAY ;DELAY ROUTINE CALL

(1) 015322 005205 INC R5 s INC DELAY COUNTER

(1) 015324 001367 BNE 43 :DELAY FINISHED?

(1) 015326 104003 ERROR 3 ;*TRDY NOT SET!

(1) 015330 000413 B8R 8$ ;GO CLEAR TIE

(1) 015332 022626 6$: POP2SP REHOVE THE INTERRUPT FROM THE STACK
(1) 015334 242777 040000 164446 BI(C #TIE,aDZVCSR sDON'T LET ANY MORE INTERRUPTS OCCUR
(1) 01 105737 001425 IS8 DONFLG :PROCESSOR ALLOWING INTER?

(1) 01 001013 BNE 108 :IF YES NO ERROR

(1) 01 104010 ERROR 10 :1IF NOT PRINT ERROR

(1) 01 000413 BR 9 SRETURN TO THE NORMAL FLOW

(1) 0 104012 78: ERROR 12 s*RECEIVER SHOULD NOT INTERRUPT

(1) 01 022626 POP2SP :POP FOR FAKE "TI

(1) 01 042777 040000 164422 8S$: BIC #TIE,aDZVCSR tRESET TRANSMITTER INTERRUPT ENABLE
(1) 01 1057_7 001425 1ST8 DONFLG s INTERRUPYS ENABLED?

(1) 0 001403 BEQ 9s ;1F NOT GET OUT

(1 01 104007 ERROR 7 :IF YES TRANS FAILED TO INTER.
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f}; 8}2263 106427 000 ) ;gs: MTPS #CLEAR sALLOW INTERRUPTS
(2) 015402 012777 015506 164434 MOV #118,802VT1V JSET UP THE TRANSMITTER INTERRUPT VECTOR
(2) 0156410 012777 015512 164422 MOV #123 aDZVRIV .aET UP THE RECEIVER INTERRUPT VECTOR
(2) 0154316 012777 000200 164416 MOV #HASK eDZVRIS JSET THE INTERRUPT VECTOR STATUS
(2) 015424 012777 000200 164414 MOV #HASK.ODZVTIS SET TRANSMITTER INTERRUPT PRIORITY
(2) 015432 052777 000140 164350 BIS #RIE!HSENAB,BDZVCSR JENABLE THE DEVICE
(1) 015440 113777 001426 164366 MOVB T00,8DZVTDR JLOAD BUFFER WITH ANY CHAR.
(1) 015446 005005 CLR RS JINIT DELAY ACCUMULATOR
(1) 015450 105777 164334 13s: TST8 aDZVCSR JREC. DONE?
(1) 015454 100003 BPL 149 ;IF NOT DELAY
(1) 015456 000240 NOP sWAIT FOR INTERRUPT
(1) 015460 000240 NOP
(1) 015462 000404 BR 18%
(1) 01564664 106414 148: DELAY ;DELAY FOR INTERRUPT
(1) 015466 005205 INC RS s INCREMENT DELAY COUNTER
(1) 015470 001367 BNE 13% sDELAY FINISHED?
(1) 015472 1040C4 ERROR & J*NO RX DONE! (NOT SET)
(1) 015474 105737 001425 18%: TSTB DONFLG JPROCESSOR ALLOWING INTERRUPTS?
(1) 015500 0014611 BEQ 15% JIF NOT DON'T PRINT ERROR
(1) 015502 104011 ERROR 1 JRECEIVER FAILED TO INTERRUPY
(1) 015504 000407 BR 15% JCONTINUE TEST
(1) 015506 104010 11$: ERROR 10 sTRANSMITTER SHOULD NOT INTER.
(1) 015510 000404 BR 16% ;CONT TEST
(1) 015512 105737 001425 128: TST8 DONFLG PROCESSOR ALLOUING INTERRUPTS?
(1) 015516 001001 BNE 16$ :1F YES DOn'T PRINT ERROR
(1) 015520 104012 ERROR 12 tRECEIVER SHOULD NOT INTERRUPT
(1) 015522 122626 16%: POP2SP :POP FOR FAKE RTI
(1) 015524 042777 040100 164256 15%: 8IC #RIE!TIE,aDZVCSR JCLEAR INTERRUPTS
(1) 015532 105737 001425 TST8 DONFLG ;SECOND TIME THROUGH?
(1) 015536 001005 BNE 17% JIF YES LEAVE TEST
(1) 015540 105237 0021425 INCB DONFLG sIF NO INDICATE SECOND TEST PASS
(1) 015544 106427 00000 MTPS #CLEAR JALLOW INTERRUPTS
(1) 015550 000635 BR 18 JRESTART TEST
(1) 015552 106427 000200 17%: MTPS #MASK ;DON'T ALLOW INTERRUPTS
3;3& 015556 104413 DEVICE.CLR ;CLEAR DEVICE, LEAVE TEST
3400 JERRAARRANRNANCAANRRRRNAN TEST 20 Rrntnaraa e At s AR AN ARSI AAN
3401 :*THIS TEST VERIFIES THAT THE RECEIVER WILL
3402 :*INTERRUPT BEFORE THE TRANSMITTER EVEN
3403 tTHOUGH THE TRANSMITTER WAS ENABLED
3404 :*FJRST. SET PS TO HIGH (MASK INTERRUPTS);
3405 *GFT RDONE AND TRDY TO SET;
3406 tSET TX IE AND RX IE;
3407 *CLEAR PS AND EXPECT RX TO INTERRUPT FIRST
3409 ;2 TEST 20
(5) JIRNRAPRARR AR RN N R RN AN RARARRRARRARNAARAARANERAAAANRRRAARARAR
(4) 015560 000004 TST20: SCOPE
(2) 015562 012737 000020 001246 MOV #20,3TSTNM JLOAD THE NUMBER OF THIS TEST
(1) 015570 012737 004170 001362 MOV #SEOP NEXT JPOINT TO THE END-OF~PASS HANDLER
3410 015576 1064417 DCLASM SSET DCLR IN CSR AND MNTFLG
3411 015600 104421 LPRSET JLOAD PAR REGISTER FOR ALL LINES
3412 015602 005037 001374 CLR SAVLIN +INIT. ERROR LINE INDIC.
3613 015606 012777 016016 164224 MOV #88 ,8DZVRIV .'ETUP INTERRUPT STUFF
36146 015614 012777 000200 164220 MOV #MASK aDIVRIS ;
3415 015622 012777 016104 164214 MoV 28, D2VTIV :
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316 5630 012777 000200 164210 MOV MMASK ,@DZVTIS

3417 015636 052777 000060 1664144 BIS #MSENAB,aDZVCSR

34,18 015644 012702 000001 MOV #1,R2 ;LINE FOINTER

34,19 015650 030237 001366 38: BIT R2LINE SVALID LINE ?

34,20 015654 001515 BEC 14§ *IF NOT GO TO NEXT LINE

3421 015656 106427 000200 48: MTPS  #MASK

3422 015662 110277 164136 MOVB  R2,aD2VTCR :SET TCR B'T

3423 015666 005777 164122 ST aDZVRBUF SVALID DATA:

3424 015672 100001 BPL L +4 “IT BETTER NOT BE SET

3,25 015674 104017 ERROR 17 ‘DATA VALID SHUULD NOT BE SET

3426 015676 105777 164106 c$: TSTB  aDZVCSR *RECEIVER DONE ?

34,27 015702 100001 8PL . +4

3,28 015704 104020 ERROR 20 :RECEIVER DONE BIT SHOULD NOT BE SET

34,29 015706 005005 CLR RS

3430 015”10 005004 CLR R4

3431 015712 005777 164072 99¢:  TST abDZVCSR :WAIT FOR TRDY

3432 (15716 100404 8M] 1008 ‘BR IF READY

3,33 015720 104414 DELAY *STALL TIME

3434 015722 005204 INC R4 ;

3435 015724 001372 BNE 99%

5436 015726 104003 ERROR 3 :TRDY FAILED TO SET

3,37 015730 105077 164100 1008: CLRB  aD2VTDR “SEND A ZERO CHARACTER

24,38 015734 005004 CLR R4

34639 015736 105777 164046 68 : TSTB  aDZVCSR :1S RDONE SET?

340 015742 100404 BM] 7

3641 015744 104414 DELAY

3642 015746 005204 INC R4

3443 015750 00372 B E 6$

344 015752 104004 ERROR & : *RDONE FAILED TO ser'

3445 015754 005777 164030 78: ST aDZVCSR TRANS DONE BIT = 1 ?

3446 015760 10040° BM] L+ YES

3447 015762 10400: ERROR 3 “«NO  TRANS DONE FAILED TO SET

3448 sNOW THAT BOTH TRANSMITTER AND RECEIVER DONE BIT =1

3449 ‘SET INTERRUPT ENABLES

3450 015764 052777 040000 164016 BIS #TIE.,aDZVCSR

3451 015772 052777 000100 164010 BIS #RIE.aDZVCSR

3452 016000 106427 000000 MTPS  #CLEAR :ALLOW THE INTERRUPTS

3453 016004 000240 NOP

3454 016006 000240 NOP

3455 016010 104007 ERROR 7 :«TRANSMITTER FAILED TO INTERRUPT

3456 016012 104011 ER]OR " *RECEIVER FAILED TO INTERRUPT

%ﬁ?; 016014 000435 BR 148 SGET OUT

3459 :RECEIVER INTERRUPT ROUTINE

3,60 016016 017704 163772 8s: MOV abZVRBUF ,Ré4 s ACTUAL

3,61 016022 010403 MOV R4 ,R3

3462 016024 000303 SWAB  R3

3,63 016026 042703 177770 BIC w~c<7>,ns :STRIP JUNK

3464 016032 005737 001372 ST MODE ‘1S THIS TEST IN STAGGERED MODE?
g}; 016036 100006 8PL 11$ *IF NOT. SKIP STAGGERED SETUP
f}; ;WE MUST NOW INVERT THE LAST BIT OF THE LINE NUMBER
(1) 016040 006203 ASR R3 :GET THE LAST BIT INTO THE CARRY BIT
(1) 016042 103402 BCS 9% “IF IT IS SET. GO CLEAR IT
(1) 016044 000261 SEC “IF IT IS CLEAR SET IT HERE
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D2v11 DEVICE DIAGNOSTICS. COPYRIGHT 1977,1981 DIGITAL EQUIP. CORP.

—b b )

$:
0$:
1$:

BR 108 :SKIP THE CLEARING
cLC ;CLEAR THE CARRY BIT (INVERSION OF LINE PARITY)
ROL R3 :GET THE NEW BIT BACK INTO R3
CMP R3,SAVLIN IS THIS A VALID LINE
BEQ . b YES
ERROR 15 *INVALID LINE
BlC #40<377> R4 ;STRIP JUNK
CMPB RS,R4 :DATA COMPARE ?
BEQ .t sYES
ERROR 5 :*DATA DOES NOT COMPARE
BIC R2,aDZVT(R :CLEAR TCR BIT
BR 138 :G0 GET OUT OF INTERRUPT MODE
:TRANSMITTER INTERRUPT SVC ROUTINE
ERROR 11 ;THE RECEIVER INTERRUPT FAILED
:TO OVERRIDE THE TRANSMITTER
POP2SP :REMOVE THE INTERRUPT VECTOR FROM THE STACK
INC SAVLIN :ADJUST FOR NEXT LINE

SHIFT ;GET THE NEXT POINTER. IF DONE, ADVANCE
JMP 33 ;OTHERWISE GO DO THE NEXT LINE

SEQ 0080
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34,82 ;ERROR TABLE
34,83 016122 000000 .ERRTAB: 0 ;ERROR 0
3484 016124 000000 0
3485 016126 000000 0
34,87 016130 016270 EM) ; ERROR
3488 016132 017106 DH]
389 016134 017226 DT
3691 016136 016343 EM2 ;ERROR 2
3,92 016140 017132 DH?
393 016142 017240 pT2
3495 016144 016371 EM3  :ERROR 3
396 016146 017165 DH3
3497 016150 01725% DT3
3,99 016152 016430 EM4 :ERROR 4
3500 016154 017165 DH3
3501 016156 017256 DT3
3503 016160 016457 EMS :ERROR 5
3504 016162 017177 DH&
3505 016764 017264 DT4
3507 016166 016506 EM6  ;ERROR 6
3508 016170 017177 DH4
3509 016172 017264 DT4
3511 016174 016545 EM?  ;ERROR 7
3512 016176 017165 DH3
3513 016200 017258 DT3
3515 016202 016606 EMi0  ;ERROR 10
3516 016204 017165 DH3
3517 016206 01725 DT3
3519 016210 016650 EMI1  ;ERROR 11
3520 016212 017165 DH3
3521 016214 01725 DT3
3523 016216 016706 EM12  ;ERROR 12
3524 016220 017165 DH3
325 0le2ee 01725 DT3
3527 016224 000000 0
3528 016226 000000 0
3329 016230 000000 0
3531 016232 000000 0
3532 016234 000000 0
3533 016236 000000 0
3535 016240 016745 EM15  ;ERROR 15
3536 016242 000000 0
3537 016244 000000 0
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3538
3539 016246 000000 0
3540 016250 000000 0
%gz% 016252 030000 0
3543 016254 017007 EM17 ;ERROR 17
3544 016256 017165 DH3
%gzg 016260 017256 D13
3547 016262 017045 EM20
3548 016264 017165 DH3
3549 016266 017256 DT3
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CVDZAC.P11  10-AUG-81 10:55 DZV11 DEVICE DIAGNOSTICS.  COPYRIGHT 1977.1981 DIGITAL EQUIP. CORP, SEQ 0083
3551 :ERROR MESSAGES
3555 016270 047200 020117 052502 EM1: "ASCIZ <200>/NO BUS REPLY RESPONSE FROM DZV11 REGISTER/
3556 016343 200 062522 044507 EM2: "ASCIZ <200>?REGISTER R/W FAJLURE?
3557 016371 260 051124 047101 EM3: "ASCIZ <200>/TRANSMIT READY (TRDY) NOT SET/
3558 016430 051200 041505 044505 EM&: "ASCIZ <200>/RECEIVER CONE NOT SET/
3559 016457 200 040504 040524 EMS: "ASCIZ <200>/DATA COMP/RISON ERROR/
3560 016506 042200 053132 030461 EM6: "ASCIZ <200>/DZV11 *xECEIVER BUFFER* ERROR/
3561 016545 200 051126 047101 EM7: "ASCIZ <200>/TRANSMITTER FAILED TO INTERRUPT/
3562 016606 052600 042516 050130 EM10:  .ASCIZ <200>/UNEXPECTED TRANSMITTER INTERRUPT/
3563 016650 051200 041505 044505 EM11:  .ASCIZ <200>/RECEIVER FAILED TO INTERRUPT/
3564 016706 052600 062516 050130 EM12:  .ASCIZ <200>/UNEXPECTED RECEIVER INTERRUPT/
3565 016745 200 041501 044524 EM1S:  .ASCIZ <200>/ACTION DETECTED ON INVALID LINE./
3566 017007 200 040506 040524 EM17:  .ASCIZ <200>/DATA VALID SHOULD NOT BE SET/
gggg 017045 200 062522 042503 EM20:  .ASCIZ <200>/RECEIVER DONE SHOULD NOT BE SET/
3569 017106 052200 040522 020120 DH1: LASCIZ <200>/TRAP PC DZV11 REG/
3570 017132 042600 050130 041505 DH2: "ASCIZ <200>/EXPECTED FOUND REGISTER/
3571 017165 200 044514 042516 DH3: "ASCIZ <200>/LINE NO./
gg;g 017177 200 054105 042520 DH&: "ASCIZ <200>/EXPECTED FOUND LINE/
3574 .EVEN
3578 :DATA TABLES FOR ERROR MESSAGES
3579 017226 000002 pT1: 2
3580 017230 006 003 .BYTE 6.3
3581 017232 001330 $REGT
3582 017234 006 001 .BYTE 6.1
gggz 017236 001326 $REGO
3585 017240 000003 pT2: 3
3586 017242 006 004 BYTE 6,4
3587 017244 001340 $REGS
3588 017246 006 001 .BYTE 6,1
3589 017250 001336 $REGG
3590 017252 006 001 BYTE 6,1
ggg; 017254 001326 $REGO
3593 017256 000001 pT3: 1
3594 017260 003 001 .BYTE 3.1
gggg 017262 001374 SAVLIN
3597 017264 000003 DT4: 3
3598 017266 006 004 BYTE 6,4
3599 017270 071340 $REGS
3600 017272 006 001 BYTE 6.1
3601 017274 001336 $REG4
3602 017276 003 001 .BYTE 3.1
gggz 017300 001374 SAVLIN
%g;% :TABLE OF DELAY TIMES FOR INDIVIDUAL BAUD RATES
3614 ’
3615 017302 002450 DLYTBL: 2450 :TIME FOR 50 BAUD
3616 017304 001560 1560 ‘TIME FOR 75 BAUD
3617 017306 001120 1120 ‘TIME FOR 110 BAUD
3618 017310 000750 750 ‘TIME FOR 134 BAUD
3619 017312 000660 660 “TIME FOR 150 BAUD
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3620 017314 000330 330 ;TIME FOR 300 BAUD
3621 017316 000150 150 ;TIME FOR 600 BAUD
3622 017320 000060 60 ;TIME FOR 1200 BAUD
3623 017322 000040 40 ;TIME FOR 1800 BAUD
3624 017324 000030 30 ;TIME FOR 2000 BAUD
3625 017326 000020 20 ;TIME FOR 2400 BAUD
3626 017330 000010 10 ;TIME FOR 3600 BAUD
3627 017332 000001 1 :TIME FOR 4800 BAUD
3628 017334 000001 1 ;TIME FOR 7200 RAUD
3629 017336 000001 1 ;TIME FOR 9600 3AUD
3630 017340 0000C1 1 ;TIME OF DELAY FOR 19200 BAUD

3632 ;DELAYS WERE COMPUTED TO ALLOW MAXIMUM TIME AT EACH BAUD RATE
3623 ;FOR ALL TESTS TO FUNCTION CORRECTLY ON A LSIT1. .




H 7
CVDZA~C MACY11 30G(1063) 10-AUG-81 11:08 PAGE 28

CVDZAC.P11 10-AUG~=81 10:55 FALCON (KXT=11) UPGRADE ROUTINES. : :GPA SEQ 0085
§g§2 _SBTTL FALCON (KXT=11) UPGRADE ROUTINES. : :GPA
3637 * THE FOLLOWING ROUTINES HAVE BEEN ADDED TO ALLOW DIAGNOSTIC(S)

3638 " TO RUN ON A FALCON (KXT=11) BASED SYSTEM.

3639 * 70 DETERMINE WHETHER WE'RE A FALCON OR NOT, WE'LL SI2E THE 1ST 3/4 OF
3640 * THE 1/0 PAGE (28K TO 31K). FALCON HAS 2KW LOCAL RAM AT 28K(+4) TO 30K
3641 * AND A MACRO-ODT AT 30Kk TO 31K. CONSEQUENTLY, ALL 1/0 DEVICES MUST
362 " BE PLACED BETWEEN 174000 AND 177776. ADDITIONALLY, WE'LL STRAP THE
3643 * EMT AND TRAP SERVICE LEVEL TO PRI6, AND SET THE HALT VECTOR SO THAT
ggzg * WE CAN STOP THE SUCKER !!

3646 1 TO MINIMITE THE IMPACT OF THESE CHANGES ON FINAL PROGRAM SIZE, THE
3647 * BULK OF THIS CODE IS PLACED IN THE FLOATING VECTOR SPACE (400-776).
3648 * IF THE CPU AT HAND IS A FALCON (KXT11), IT STAYS THERE (NO HARM DONE).
gggg . OTHERWISE, THE AREA 1S RESTORED TO ITS ORIGINAL '‘TRAP-CATCHER'' STATE.
3651 017342 005227 177777 FALCON: INC #-1 ; ONCE-ONLY !!! : :GPA
3652 017346 001002 BNE 18 +:GPA
3653 017350 004737 000400 CALL  KXTZHK : EXECUTE TALCON CHECK *:GPA
3654 017356 005727 18: TsT (PL)+ : TEST FALCON FLAG... : ;GPA
3655 017356 000000 KXTFLAG: 0 :...NZ = FALCON... ::GPA
%2?9 017360 000267 RETURN S._.AND RETURN TO CALLE ... : GPA
3658 017362 $SVPC= . ; :GPA
3659 (00400 .= 400 : RESTORE FROM 374:376 AT END  ::GPA
3660 000400 005037 017356 KXTCHK: CLR KXTFLAG : ASSUME NOT FALCON. +:GPA
3661 00U 404 013746 000004 MOV a#é,-(SP) : SAVE ERROR VECTOR. 22 GPA
3662 00010 012737 000504 000004 MOV N2S.ané P SET A TRAP CATCHER. * :GPA
3663 000416 012700 160010 MOV #160010,R0 * FALCON RAM STARTS AT 2BK+4. ::GPA
3664 000422 005720 1%: ST (RO)+ ; ::GPA
3665 000424 000240 240 3 :GPA
3666 000426 020027 174000 CMP RO, #174000 : SIZE TO 31K. 2 :GPA
3667 000432 103773 BLO 1$ 3 :GPA
3668 000434 010037 017356 MOV RO, KXTFLAG ; MUST BE FALCON, SET THE FLAG ;.GPA
3669 000440 012700 000040 MOV #40,R0 * GET PRI1 BIT... : :GPA
3670 000444 040037 000006 8IC RO, a¥6 :...AND LOWER BUS-ERROR... 2 :GPA
3671 000450 040037 000016 8I( RO, 8416 .. .BPT... : :GPA
3672 0004564 040037 000022 8IC RO, 22 IRONN 11} S 2 :GPA
3673 000460 040037 000032 BIC RO, @32 T EMT... 2 :GPA
3674 000464 040037 000036 BIC RO a#36 t...AND TRAP SERVICE TO PRI6  ::GPA
3675 000470 012737 170000 000140 MOV #170000,a#140 : ENABLE ‘BREAK'' HALT, s 2GPA
3676 000476 012637 000004 MOV (SP)+,ak4 * RESTORE ERROR VECTOR... : 3 GPA
gg;g 600502 000207 RETURN t...AND RETURN. 2 :GPA
3679 000504 012716 000512 28: MOV #33, (SP) TRAP =~ NOT A FALCON... ; ;GPA
3680 000510 000002 RTI :...CONTINUE. © 1iGPA
3681 000512 012637 000004 3$: MOV (SP)+, 3N *"RESET ERROR VECTOR :GPA
3682 060516 012700 000402 MOV #5402 ,R0 * SET-UP TO RESTORE FLOATING... ::GPA
3683 000522 013701 000376 MOV a#376,R1 L.LLVECTOPS (400 - 776). ::GPA
3684 000526 010602 MOV SP,R2 *"SAVE STACK POINTER IN R2 2 :GPA
3685 000530 012704 000570 MOV #68 R

3686 000534 014446 48: MOV ~(R4) ,-(SP) . PUSM THE RESTORE CO'E... : :GPA
3687 000536 020427 000546 CMP RG, 458 t...C.ATO THE STACK. s :GPA
3688 000542 101374 BHI 43 : :GPA
3689 000544 010607 MOV SP.PC : AND EXECUTE IT. : S GPA
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* THIS CODE IS RELOCATED TO AND EXECUTED IN THE STACK AR7A.

§s. MOV RO,=2(R0) : RESTORE .+2...
MOV R1. (RO) .. HALT (OR [OT).

cMP (ROY+, (RO)+

(MP RO.#776

BLOS 5% : LOOP °TIL DONE

MOV R2.SP : THEN RESTORE SP...

RE TURN :...AND RETURN TO CALLER

6$:

: IF FALCON, THIS AREA 1S FREE FOR ANY PROGRAM UNIQUE
; CHANGES OR DATA STRUCTURES.
; BE SURE THAT IT DOESN'T GET SCREWED UP !!

1 INIT SBASE AND SVECTY AND TWEAK THE '‘SGETPAR'' CALLING
: SEQUENCE TO ACCEPT THE VALID FALCON RANGE.
;

ALCINI: CMP SBASE #ABASE ; IS SBASE VIRGIN ??
BNE ; SKIP NEAT IF NOT
MOV 3174040 $BASE . YES, SET ENGINEERING DEFAULT
1%: CMP SVECT1,#AVECT1 : IS SVECT1 VIRGIN ??
BNE 2% ;s SKIP NEXT IF NOT
MOV #370,SVECT s YES, SET ENGINEERING DEFAULT
2s: MOV #38 GETCSR+2 : SUBSTITUE CSR TEXT...

MOV #174000,GETCSR+6
MOV #177770.GETCSR+10 ;...AND VALID RANGE.
MOV #48,GETVEC+2  :; SUBSTITUTE VECTOR TEXT...

CLR GETVEC+6
MOV #370,GETVEC+10 ;...AND VALID RANGE.
RETURN ; RETURN TO CALLER.
3s: LASCIZ <200>'1ST CSR ADDRESS (174000:177770) °
48: LASCIZ <200>'1ST VECTOR ADDRESS (000:370) )
.EVEN
$FREE= <1000-.>/2 ; FREE WORDS LEFT.
.=$SVPC

CORMAX :
.END

::GPA
;s GPA
;:GPA
: :GPA
; :GPA
s :GPA
; :GPA
: :GPA

,,GPA
;s GPA

J:GPA
::GPA
: :GPA
::GPA
::GPA
;s GPA
s :GPA

SEQ 0086
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ABASE = 160010 AUTO.S 011606 DCLR = 000020 D2v(C3 001540 HDZVTC 002026
ACOW1 = 000017 AVECT1= 000300 DDISP = 177570 pD2v(4 001552 HDZVID 002036
ACDW2 = 000000 AVECT2= 000000 DELAY = 106414 DZVCS 001564 HILIM 006032
ACPUOP= 000000 BINWRD 006312 DEVADR 006034 DZvCé 001576 HT = 000011
ACTIVE 001420 BITO = 000001 CEVICE= 104413 p2ve7 001610 INBUF 010446
ADDWO = 017470 81700 = 000001 DH1 017106 DZVLEV 011116 INIFLG 001422
ADDW1 = 017470 81701 = 000002 DHZ 017132 DZVLPR 002020 INSTER= 104404
ADDW10= 017470 81702 = 000004 DH3 017162 DZVMSR 002030 INSTR = 104403
ADDW11= 017470 81703 = 000010 DH4 017177 DZVNUM 001414 INSTR2 005632
ADDW12= 017470 BI104 = 000020 DISPLA 007306 DZVRBU 002014 10TVEC= 000020
ADDW13= 017470 81705 = 000040 DISPRE 000174 DZVRIS 002042 KXTCHK 000400
ADDW14= 017470 81706 = 000100 DLYCNT 006406 DZVRIV 002040 KXTFLA 017356
ADDW15= 017470 BIT07 = 000200 DLYTBL 017302 DIVTICR 002024 LF = 000012
ADDW2 = 017470 BIT08 = 000400 DONFLG 001425 DZVIDR 002034 LIMITS 005760
ADDW3 = 017470 BIT09 = 001000 DSWR = 177570 DZVTIS 002046 LINE 001366
ADDW4 = 017470 BIT1 = 000002 DTRO = 000400 DZVTIV 002044 LINEO 001504
ADDWS = 017470 81710 = 002000 PTR1 = 001000 DZV.EN 001740 LINET 001516
ADDW6 = 017470 BIT11 = 004000 DTR2 = 002000 DZv.MA 001500 LINETO 001624
ADDW? = 017470 BIT12 = 010000 DTR3 = 004000 EIGHT = 000030 LINE11 001636
ADDW8 = 017470 BIT13 = 020000 DT1 017226 EIGHTS= 000070 LINE12 001650
ADDW9 = 017470 BIT14 = 040000 DT2 017240 EMTVEC= 000030 LINE13 001662
ADEVCT= 000000 BIT15 = 100000 D73 017¢56 EM1 016270 LINE14 001674
ADEVM = 000001 BIT2 = 000004 DT4 017264 EMI0 016606 LINETS 001706
ADRCNT 006037 BIT3 = 000010 DVALID= 100000 EMI 016650 LINE16 001720
ADVANC= 104400 BIT4 = 000020 DZCRO 001500 EM12 016706 LINE17 001732
AENV = 000000 BITS = 000040 DZCR1 001512 EM15 016745 LINE2 001530
AENVM = 000000 BIT6 = 000100 DZCR10 001620 EM17 017007 LINES 001542
AFATAL= 000000 BIT7 = 000200 DZC(R11 001632 EM2 016343 LINE4 001554
AMADR1= 000000 BIT8 = 000400 DZCR12 001644 EM20 017045 LINES 001566
AMADRZ= 000000 BIT9 = 001000 DZCR13 001656 EM3 016371 LINE6 001600
AMADR3= 000000 BPTVEC= 000014 DZCR14 001670 EMé 016430 LINET 001612
AMADR4= 000000 BRKO = 000400 DZCR15 001702 EM5 016457 LOBITS 006036
AMAMS1= 000000 BRK1 = 001000 DICR16 001714 EM6 016506 LOCK 001364
AMAMS?2= 000000 BRK2 = 002000 DICR17 001726 EM? 016545 LOLIM 006030
AMAMS 3= 000000 BRK3 = 004000 DZICR2 001524 ERRMSG 006760 LPRSET= 104421
AMAMSS= 000000 BRW 004644 DZCR3 001536 ERRVEC= 000004 LPO = 000000
AMSGAD= 000000 BUFSET= 104422 DICR4 001550 ERTABO 007134 LP1 = 000001
AMSGLG= 000000 CHRCNT 006310 DZCRS 001562 EVEPAR= 000000 LPZ = 000002
AMSGTY= 000000 CLEAR = 000000 DZCR6 001574 EXITER 007064 LP3 = 000003
AMTYP1= 000000 CNVRT = 104412 DZCR7? 001606 FALCIN 000570 MAINT = 000010
AMTYP2= 000000 CONVRT= 104411 DZVACT 001406 FALCON 017342 MANTO 001510
AMTYP3= 000000 CORMAX 017362 DZVCSR 002010 FIVE = 000000 MANT1 001522
AMTYP4= 000000 co0 = 000400 DZvCO 001502 FIVES = 000040 MANT10 001630
APASS = 000000 col = 001000 DZVC1 001514 FRMERR= 020000 MANTI1 001642
APRIOR= 000000 co2 = 002000 DZVC10 001622 GETCSR= 002402 MANT1Z2 001654
APTCSU= Qu0040 co3 = 004000 DZvC1l 001634 GETSWR= 007176 MANT13 001666
APTENV= 000001 CR = 000015 DZVC12 001646 GETVEC= 002426 MANT14 001700
APTS1Z= 000200 CRLF = 000200 DZVC13 001660 HALTS 007010 MANT1S5 001712
APTSPO= 000100 CSRMAP (011414 DZVC14 001672 HDRFLG 001423 MANT16 001724
ASWREG= 000000 CYCLE 010552 DZVC15 001704 HDZVCS 002012 MANT17 001736
ATESTN= 000000 DATABP 007004 D2VC16 001716 HDZVLP 002022 MANT2 001534
AUNIT = 000000 DATAHD 006772 p2vC17 001730 HDZVMS 002032 MANTS 001546
AUSWR = 000000 DCLASM= 104417 p2ve2 001526 HDZVRB 002016 MANT4 001560
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MANTS 001572 PIRQVE= 000240 SIXS = 000050 TCRZ = 000004 72400 002074
MANTS 001604 POPRO = 012600 SPACNT 006311 TCR3 = 000010 1300 002062
MANT? 001616 POP1SP= 005726 STACK = 001120 D0 001426 13600 002076
MASK = 000200 POP2SP= 022626 STKLMT= 177774 D1 001430 74800 002100
MASTEK 010063 PRO = 000000 STOP 001446 D2 001432 750 002050
MBADLN 010176 PR1 = 000040 Sv05 006046 D3 001434 7600 002064
MCSRX 010013 PR = 000100 SWR 001304 TEIGHT 002106 17200 002102
MDATA 010510 PR3 = 000140 SWREG 000176 TFIVE 002114 175 002052
MEPASS 007631 PRG = 000200 sw0 = 000001 TIE = 040000 19600 00210%
MERRPC 010143 PRS = 000240 SwW00 = 000001 TKVEC = 000060 VECMAP 011722
MERRX 010040 PR6 = 000300 sWw01 = 000002 TLAST = 015560 WRDCNT 006306
MERRZ 007671 PR7 = 000340 SWw02 = 000004 TLO = 000000 WIBS.F 006762
MERR3 007740 PS = 177776 swo3 = 000010 TL1 = 000400 X8Xx 006552
MLOCK 007764 PSW = 177776 SWw04 = 000020 TL2 = 001000 XCSR 006354
MNEW 010066 PUSHRO= 010046 SW05 = 000040 L3 = 001400 XERR 04376
MNTFLG 001424 PUSH1S= 005746 sSwo6 = 000100 TMTBL 002050 XHEAD 010150
MODE 001372 PUSH25= 0264646 SW07 = 000200 TPVEC = 000064 XMTCNT 001400
MPASSX 010027 PWRVEC= 000024 SW08 = 000400 TRAPVE= 000034 XMTLIN 001376
MPFAIL 007566 RCVON = 010000 sSw09 = 001000 TRDY = 100000 XPASS 004370
MR 007655 RDONE = 000200 sWw1 = 900002 TRTVEC= 000014 XSTATQ@ 010240
MSENAB= 000040 REGIST 001402 sWw10 = 002000 TRO 001436 XTSTN 007142
MTITLE 001000 RESREG 007006 SW1l = 004000 TR1 001440 XVEC 004362
MISTN 010051 RESTAR 011112 sWw12 = 010000 TR2 001442 XX = 160210
MVECX 010021 RESVEC= 000010 SW13 = 020000 TR3 001444 Yy = 000500
NEXT 001362 RESOS = 104410 SWi4 = 040000 TSEVEN 002110 12 = 000020
ODDPAR= 000200 RIE = 000100 SWw15 = 100000 TSIX 002112 SAPTHD 001446
ONESTO= 000000 RINGO = 000001 SWw2 = 000004 TST1 01211¢ SATYC 005272
OVRRUN= 040000 RING1 = 000002 sw3 = 000010 TST10 013246 $ATY1 005246
PAR 001370 RINGZ = 000004 swé = 000029 TST11 013332 SATY3 005254
PARAM = 104405 RING3 = 000010 SWS = 000040 TST12 013526 $ATYS 005264
PARAMI 005700 RLO = 000000 swé = 000100 TST13 013660 $AUTOB 001300
PARER = 010000 RLYT = 000400 sSwZ? = 000200 TST14 014150 SBASE 001174
PARERR 005754 RLZ = 001000 sw8 = 000400 TST1S 014472 $BDADR 001266
PARITY= 000100 RL3 = 001400 Sw9 = 001000 TST16 014762 $BDDAT 001272
PARMD = 104415 RUN 001412 s110 = 001000 IST17 015164 $COW1 001200
PARO 001506 R6 =X000006 $1200 = 003400 1812 012302 $COW2 001202
PAR1 001520 R? =X000007 $134 = 001400 15720  0155€u SCHARC 005242
PAR10 001626 SAVACT 001410 $150 = 002000 1573 012346 SCMTAG 001244
PAR11 001640 SAVLIN 001374 $1800 = 004000 1ST4 012524 $CM1 = 000006
PAR12 001652 SAVNO 001416 $19200= 007400 1575 012730 $CMZ = 000014
PAR13 001664 SAVNUM 001415 $2000 = 004400 TST6 013032 s$CM3 = 000006
PAR14 001676 SAVP( 001404 52400 = 005000 1ST7 013162 $Cm4 = 000005
PAR15 001710 SAV05 = 104407 $300 = 002400 TTST 004416 $CPUOP 001146
PAR16 001722 SCOP1 = 104401 $3600 = 005400 TWOSTO0= 000040 $CRLF 001357
PAR17 001734 SERV.G 007150 $4800 = 006000 TYPDAT 006774 $DDWO 001204
PARZ 001532 SETAPT 011260 S50 = 000000 TYPE = 104402 $DDW1 001206
PAR3 001544 SETFLG= 104406 S600 = 003000 TYPMSG 006664 $DDW10 001230
PAR& 001556 SEVEN = 000020 $7200 = 006400 7110 002054 $DDW11 001232
PARS 001570 SEVENS= 000060 $75 = 000400 71200 002066 $00W12 001234
PARS 001602 SHIFT = 104420 $9600 = 007000 T134 002056 $DOW13 001236
PAR?7 001614 SILOAL= 020000 T8ITVE= 000014 7150 002060 $DDW14 001240
PAWCH = 104416 SILOEN= 010000 TCRO = 000001 71800 002070 $ODOW15 001242
PIRQ = 177772 SIX = 000010 TCk1 = 000002 72000 002072 $DDW2 001210
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CVDZAC,CVDZAC=CVDZAC
RUN-TIME: 21 14 .6 SECONDS
RUN-TIME RATIO: 191/37=5.1

CORE USED:

37K

10~AUG-81
10-AUG-81 10:55

$FREE =
$GDADR
$SGDDAT
$GET42
$HD =
$HIBTS
S$ICNT
$ILLUP
$INTAG
$ITEMB
SLF
SLFLG
SLPADR
SLPERR
SMADR1

(73 PAGES)

AT r iy S P

(olelelelelolelelolo]
VIV WW = NN NN OOV N NN N OO OO WSSO W

elelelelelalelalalelelolalelslelelslelelelelel=l=d

elalalelelelelelelelalolelele
V= ONRSHOOHNOINOOONNONNISN=OO =000 =00 NN

REL

GBL

11:08 PAGE 9-2
SYMBOL TABLE

V=N o O

elolelelele)

004352

000000

$TESTN
$TIMES
$7k8
$TKS
$TMP(
$TMP1
$STMP2
$TMP3
$TMP4
$IN =
$1P8
$TPFLG
$TPS
$TSTM
S$TSTNM
$TYPE
STYPEC
$TYPEX
SUNIT
SUNITM
$SUSWR
SVECT]
SVECT2
$XOFF
$XON
$XTSTR
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000000
017362
006410

.BEGIN
.BUF SE
. CNVRT
.CONVR
.DCLAS
.DELAY
.DEVIC
+ERRTA
<INSTE
.INSTR
< INST1
.LPRSE
MSG

. PARAM
. PARMD
«PAWCH
.RESO5
.SCOPE
.SCOP1
SETFL
.SHIFT
. START
. TRPSR
.TRPTA
. $X

004074
006500
006136
006132
006356
006370
006336
016122
005620
005514
005534
006440
005536
005640
011256
010372
006100
006040
004404
004650
010252
006422
002116
006314
001742
004674
001446

SEQ 0089




